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R, ¥fifas® fmer (Physics)
Test Specification Chart 2078

Grade : 12 Subject : Physics Theory (Phy. 102)
Competency level
Remembering Understanding Applying Higher Ability
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Mechanics 22 13
Heat and
Thermodynamics 12 /
3 | Wave and Optics 26 | 2 2 |2 |10 |5 |5 |1 |5 1.8 (3|1 |2 |10 |1 |8 |1 |1 (3 |15 (1 |8 15
Electricity and Magnetism | 35 21
5 | Modern Physics 33 19
Total Marks 128 12 18 21 24 75
Item format plan
S.N. Type of item | Score per Total item Total score Time
item
1 | Multiple Choice‘Questions 1 11 11 25 minutes
2 | Short Question Answer 5 8 40 | 155 minutes
3 | Long Question Answer 8 3 24
Grand Total 22 75 3 hours
Remarks:

e Item format in composite should be met as per the specification grid.
Designated weightage in the.combined cell should be met, but £3 marks variation will be allowed within a unit/content area. But no unit can be nil.

L]
e Inthe case of SAQ and LAQ;these should ensure that 1 mark will be assigned per element expected as correct response.
e  The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and 30% higher ability level, but £5

percent variation-will'be allowed in overall question set.
e  SAQ and LAQ/can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

ke




e Insuch case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be approximately to-the required distribution. In
case of SAQ there will be 2 "OR" questions and in case of LAQ there will be 2 "OR" question.



Model Question
School Leaving Certificate Examination

2078
Grade: XII Subject: Physics Subject Code: 102
Full marks: 75 (11 marks Obj+ 64 marks Sub) Time: 3 Hours
Group A: Multiple Choice Questions (11x1 = 11) Time 25 Minutes

Tick the correct answer.

1. Which of the following is a correct formula for calculating radius of gyration of a rotating object?

A) k?=1/m B) k=1/m C) k=m/l D) k = (I/m)?

2. A horizontal stream of air is blown under one of the pans of a beam
balance as shown in the figure. What will be the effect of this on the
pan?

Alr
A) goes up. B) goes down C) remains unaffected D) rotates

3. What will be the height of a capillary on the surface of the Moon if it is ‘h’ on Earth?
A)h B) h/6 C) 6h D) zero

4. What is the coefficient of performance of an ideal refrigerator working between ice point and room temperature
(27°C)?

A)0 B) 0.1 C)1 D) 10
5. A thermodynamic system is.taken from A to B via C and then returned to A via D as shown in the p-V diagram.

A

P2

P1

, %
The area of which segment of the graph rep’%esents the total v%ork done by the system?

A) P;ACBP;P; B) ACBB’A’A C) ACBDA D) ADBB’A’A
6. Which one of the following directly affects the quality of sound?

A) shape of the source  B) frequency C) intensity D) wave form

%



7. A diffraction pattern is obtained using a beam of red light. What will be the effect on the diffraction pattern if
the red light is replaced with white light?

A) All bright fringes become white.

B) All bright fringes, except the central one, become white.

C) All bright fringes become colourful.
D) All bright fringes, except the central one, become colourful.

8. In which one of the following diagrams the currents are related by the equation 11 - 12 =13-14?

9. A coil having N turns and cross-section area A carries current.l. Which physical quantity does the product NIA

represent?
A) magnetic flux of the coil B) magnetic flux density of the coil
C) magnetic moment of the coil D) magnetic susceptibility of the coil

10. What happens to the neutral temperature if the cold junction of a thermocouple is decreased?

A) increases B) decreases

C) remains the same D) approaches inversion temperature

11. What is the point where the‘seismic waves start called?

A) epicentre B) hypocentre C) metacentre D) seismic centre



Model Question

School Leaving Certificate Examination
2078
Grade: XII Subject: Physics Subject Code: 102
Full marks: 75 (11 marks Obj+ 64 marks Sub) Time: 3 Hours

Attempt all the questions.
Group B: Short Answer Questions (8x5 = 40)

1. (i) Define ‘surface tension’. [1]

(ii) Establish a relation between surface tension and surface energy of a liquid. [2]

(iii) Two spherical rain drops of equal size are falling vertically through air with a certain terminal velocity. If
these two drops were to coalesce to form a single drop and fall with a new terminal velocity, explain how the
terminal velocity of the new drop compares to the original terminal velocity. [2]

2. Angular speed of a rotating body is inversely proportional to its moment.of inertia.
(1) Define ‘moment of inertia’. [1]
(i) Explain why angular velocity of the Earth increases when it comes closer to the Sun in its orbit.
[2]
(iii) If the Earth were to shrink suddenly, what would happened-to the length of the day? Give reason.
[2]
OR
(i) State Bernoulli principle. [1]
(i1) Derive Bernoulli’s equation. [2]
(iii) You can squirt water from a garden hose‘a considerably greater distance by partially covering the opening
with your thumb. Explain how this works. [2]
3. (i) Define ‘harmonics’ in music. [1]

(ii) Calculate the frequency of a monotenous sound produced by a 30 cm long flute open at both ends and being
played in the first harmonic. [Velocity of sound in air= 330 ms™] [2]

(iii) The flute mentioned in question (ii) was being played by a passenger on a stationary bus. The bus then
moves uniformly. Explain what change in the pitch of the flute sound, if any, a person sitting on a bench at
the bus park will feel when the bus starts moving. [2]

4. (i) State the second law of-thermodynamics. [1]

(ii) A refrigeratortransfers heat from a cold body to hot body. Does this not violate the second law of
thermodynamics? Give reason.  [2]

(iii) Inthe given figure, a heat engine absorbs Q. amount of heat from a source at
temperature T; and rejects Q. amount of heat to a sink at temperature T, doing
some external work W.

(a) Obtain an expression for the efficiency of this heat engine. [1]

(b) Under what condition does the efficiency of such engine become zero
percentage, if at all? [1]



5. A student wants to measure the magnetic flux density between the poles of two weak bar magnets mounted on a
steel yoke as shown in the figure. The magnitude of the flux density is between
0.02T and 0.04T.

(i) Define Magnetic flux density. [1]

(ii) One way of measuring the magnetic flux density could be the use of a Hall probe.
Suggest one reason why Hall probe is not a suitable instrument to measure the
magnetic flux density for the arrangement shown in the above figure. [1]

(iii) Another method of measuring the magnetic flux density for the arrangement shown in the above figure is
to insert a current-carrying wire between the poles of the magnet. Explain how the magnetic flux.density can
be determined using this method. You are allowed to use any additional apparatus. [3]

6. (a) Law of electromagnetic induction can be expressed mathematically as € = —N ‘Z—‘f .

(b) (i) State what the symbols € and e represent in the equation. [2]
dt

(i) Explain the significance of the negative sign. [1]
(ii) Two identical copper balls are dropped from the same height as

shown in the figure. Ball P passes through a region of uniform Ball P. . Ball Q
horizontal magnetic filed of flux density B. e,
Explain why ball P takes longer than ball Q to reach the ground. P XX X
[2] B i x Ll h
P XX x|

7. Ultraviolet radiation of frequency 1.5 x 10™°Hz is incident on the

surface of an aluminium plate whose work function.is 6.6x10°J.
(i) Show that the maximum speed of the electrons emitted from the surface of the aluminium is 8.6 x 10°ms™2.
[3]
(ii) State and explain what change, if any, occurs.to the'maximum speed of the emitted electrons when the
intensity of the ultraviolet radiation is increased. [2]

8. (i) State Bohr’s postulates of atomic model. [3] 5
(ii) The figure shows Lymen series of energy transmission in hydrogen atom. 54 oy
Calculate the frequency of a photon emitted by an electron jumping from the -0-26 H; T
. =151
second excited state to the ground level. [2] °
-3.40 eVt
OR

-136eV LLLLI




(i) Sketch the symbol of a p-n junction diode and indicate the polarity of its ends. [1]

(i) Copy the outline of a diode bridge rectifier and
complete it by adding diodes in the gaps. [2] 5 )\ 5
3 1
Vin @ _< >; Vout
D, Y Dy
Sn
(if) Explain what will happen if one of the four diodes

is damaged so that it stops conducting totally in any
direction. Sketch a graph to show how the pd across the Load R, would vary with time in‘this situation. [2]

Section C: Long Answer Questions. (3 x 8 = 24)

9. Earthquake sets rocks and buildings in motion. When a rock is subjected-to.compression, a restoring force
develops inside it. This restoring force is given by an equation F= -Ax where x is displacement and A is a
constant.

(i) Prove that this force will make the rock vibrate with simple harmonic maotion. [2]

(ii) Show that the speed of an object undergoing simple harmonic motion is given by the expression v =
+aV(A%-x2) where the symbols carry standard meanings: 2]

(ii) Calculate the maximum speed of a building shaken by S-waves of 21Hz and amplitude 0.05m. [2]

(iv) Explain why tall buildings are more susceptible to damage by S-waves which generally have low
frequency. [2]

10. The figure below shows the variation of emf'and current with time in a typical LRC circuit.

(i) Explain whether the phase constant'is postive or negative. emf, current - [2]
¥
(ii) Sketch a phasor diagram for the given case. [2] /\ ;U”e”t /
(iii) Is the circuit more inductive or capacitive? Explain. [2] "I/" - e W :
(iv) To increse the rate'at which energy is transferred to the resistive
load, should.the.inductance be increased or decreased? Justify

your answer. [2]
OR

A'student sets up a circuit as shown in the figure given below driving cell
to measure the emf of a test cell. |

B

o

test cell

q0



(&) Explain why he is unable to find a balance point and state the change he must make in order to achieve the

balance. [2]

(b) State how he would recognize the balance point. [1]

(c) He obtained the balance point for distance 37.5cm using standard cell of emf 1.50V. And for the test cell,
the balance distance AB was 25.0 cm. Calculate the emf of the test cell. [2]

(d) He could have used an ordinary voltmeter to measure the emf of the test cell directly. The student,
however, argues that the above instrument is more precise than an ordinary voltmeter. Justify his logic. [2]
11. (a) Explain what is meant by quantization of charge. [2]

(b) In a Millikan’s oil drop experiment, an oil drop of weight 1.5 x 10"1*N is held stationary between plates
10mm apart by applying a p.d. of 470V between the plates.

(i) State the condition necessary for the drop to remain stationary. Also, sketch the forces acting on the oil
drop. [2]

(ii) Calculate the charge on the oil-drop. [2]
(iii) Explain what would happen if the above oil drop is suddenly struck-by-a-stray alpha particle. [2]
OR

(a) Derive an expression N= Noe ™ for a radioactive process where the'symbols carry their standard meanings.
[3] -

(b) A student measured the activity of a sample of -E'-I:]-
radioactive rock. Her results are presented in the
graph.

im
(i) Explain why the data are scattered. [1] Em ®
(ii) Determine the half-life of this sample. [2] T

(iii) How will the shape of this curve will change 40 Fln] 120 160 S
if she repeats the experiment with a sample tima s
with a larger decay constant, Give reason to
your answer. [2]
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Appendix

Text Matrix
Area Load MCQ SA LA
Mechanics 13 3 2 0
Heat and thermodynamics 7 2 1 0
Waves and optics 15 2 1 1
Electricity and magnetism 21 3 2 1
Modern physics 19 1 2 1
Section A Question | K U A HA
1 1
2 1
3 1
4 1
5 1
6 1
7 1
8 1
9 1
10 1
11 1
Total 2 5 3 1
Question
No K U A HA
Section B 1 1 2 2
2 1 2 2
2 1 2 2
4 1 2 1 1
5 1 4
6 2 1 2
7 3 2
8 3 2
10 5 10 15
Section C Question | K U A H
9 4 4
10 4 2 2
11 4 2 2
0 8 8 8

Note: This is the test matrix prepared for this set only but for other sets of questions test matrix

may be varied.
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3. Q@rfaty (Accounting)

@Aty [Acc.104] B9
W; 9y HqHT: ] "0
farriteeor arferer
AT § g a1
forerar & Y9 &1 T AW &% faArST
afq & | DA YA | A TR S| G @ | e WA | A ST | SUEET | IIEANR
FTET LLE| ( @" T @@ X LLE] LLE] R
@ X g | AT qE) =
) TEAT TE)
Th Nr Th Nr Th Nr Th Nr , {Th |Nr Th |Nr
q. FYRE F@Iafr| 9. FURS ATHRM % 9%
Q. IR @I B ¥ R Y+3+ R &
3. HUIAB! AQTET R 3 Y
R fairr | ¥, sffeq® @Tar R = Q¥ Yo
[CERUES Y. af<H @rar smgfae |9 R R T |e 1 R 90
%, B fgER R &
VO, I8 YATE [qaRT 1 5 95
3, AN S@at | 5. AN qEiatg AR R Y ¥
Q. WNId HAAYRUM  qIgT|R 9 R
ERliEp] ? e %9
qo. IqTHUT T U q q b q0
BRELESCIEE] q q 3+3
99. =H @A q q ¥
2. @ fewma e |9 R+3 Y
fererar
93, AT faamor q G 9%
¥ F@TrataT 9%, F@rtarAT FFIET (4 q
FF ERIE R 9 Y % 30 90
W R IRATET B Y ¥o
STHAT qo0 &0

Note: Th=Theory; Nr.= Numerical
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e ¢
q. fdT BIaT 99T 9§ ASHHT g BT T AHAEH Tl TehTg qHIET T 99 T9F & B |
3. BIAT WIT ¥ AGHHT & T T AHAEH T THIGHl TAMaed g7 T & J97 B T qrd
F g5 T faked faT afe 51
3. ATHT 999 & AgHHT g B T 3 YIF Ted B ATY b Uk G fasbeq fa Afep @ |
¥, M TEAT TUASHEFN 0 IqeTqHT qagd A, Iof FeqdqT qeHT 0 GfeTeTaqsr Teed M 2
AT TEHT ATALIHAT ATAR T T8 S |

YIS TeHT [auUaehT Yebtd T ATaeaear AR Afd @eT, SeT ¥ AT 99T e S | g dg T
I GIHT YT BT ATATIAT 67 | I TEAT A= (90, Feargar ¥ fasirens
qEHN 99T BT A |

FART TR

TR THR I agedT | IunsH
At Tgier ged 19 19
BT IR ATSH 999 |5 %0
ATHT AT ATSH 999 |3 ¥
STHAT R oy
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artata (Accounting) [Acc.104]

e (Grade): XII
wwg (Time): 3 Hrs. quites (Full Marks): 75

RIS qhaF AR A Hitds ¥ [Gaq" g | FFaRmHAT Ggusr dgaa quiesars I1es |
(The candidates are required to give their answers in their own words as far as practicable./The
figures in the margin indicate full marks.)

T % (Group A)
i wefr< Swens gees (Very Short Answer Questions)
I yevew &a TR (Attempt All Questions) (11 x1=11)

1. qraitae FeeeR w4 35 fasmar seterd | (Write any two features of public-company.)

2. Ftgea gsir v & avgqs ¢ (What do you mean by authorized capital?)

3. fa<ira faarorert e wreter | (Write the meaning of financial statement.)

4. gfean @mna fafg =@t & &1 7 (What is process costing?)

5. sufvea afewiesr @9 sete | (Write the meaning of allocation of overhead.)

6. et H 3% Faew Ier@ e | (List out any two duties of store-keeper.)

7. gw7 sarereR gomer A9 & & ¢ (What is time rate wage. system?)

8. @At FFEY YUTATRr FA 3z G Iwr@ e -(State any two limitations of computer

system in accounting.)

9. M & %.3,000 @9 WUH FAEEANH gfate daR greE | (Prepare adjustment entry of prepaid
insurance expired Rs. 2,000.)

10. o« fegusr gEATH SMuRAT Aue fafyate d=raq fEamaer e yare fHereea 1 (From the
following information calculate .cash flow from operating activities under indirect
method.)

gz smeerr (Net income):-Rs. 40,000
=t g¥taAr 9ig (Increase.in current assets): Rs. 5,000
= g=ara @+ (Non-operating expenses) Rs. 10,000

11. gfe =T qRATT 9,00,000 THS T AR AR TRHATIT 30,000 THE WC Ay Fe@r oar amsdara | (If
annual requirements is 1,00,000 units and economic order quantity 20,000 units then find
out number of order.)

w1 @ (Group B)
TS ST - y3ew (Short Answer Questions)

I g g I | (Attempt All Questions.) (8x5=40)
12, #7 ©F FFAE 4% ffEaEAEr €900 T €000 fEAr R SR TN | qEAHN MEMER g1 o3 (A
company issued 6,000 shares of Rs 100 each at 5% premium. The money was payable as

follows):
AT (On application) ..o Rs 30
atewiear (Onallotment)............oooiiiiin i, Rs 50
ggw qgr #t=H fe=arr (On first and final call).................. Rs.25

90,000 {FTT FATHT AT ATIGH I T4 | T ATAGHATS THITH SCHT I A(SHIS AT | ATIGAAT
FE AT YT TRH ATSHICHT FANT i | @9 fpeardr s W afenr ¥ g w3 1 (Application
were received for 10,000 shares. Share were allotted on pro rata basis. Excess application

9Y



[Acc.104]
J@rtatr (Accounting)

THAT 9797 0% (Model Question 2078)
Fem (Grade): XII

¥wg (Time): 3 Hrs. quis® (Full Marks): 75
ReTdl FEAEH AR WeEHT Hitdd SO fad uNw | fEAnr fReusr aesd quigsdrE seee |
(The candidates are required to give their answers in their own words as far as practicable. The figures in
the margin indicate full marks.)

g & (Group A)
Ffq i o TeE (Very Short Answer Questions)
IS TREE & e (Attempt All Questions) (I1x1=11)

1. arawifae FeaTE & 33 fadmares aetee | (Write any two features of public company.)

Algepd s A=t % ¥ 7 (What do you mean by authorized capital?)

fa<irar faamurar ot @reter | (Write the meaning of financial statement.)

giepar @ fafa st & &1 2 (What is process costing?)

WUSH F I Faeaes e e | (List out any two duties of store-keeper.)

qHy sATere? yorer ARl @ 8 ¢ (What is time rate wage system?)

2.
3.
4.
5. Sufvera atswigal a4 weterd | (Write the meaning of allocation of overhead.)
6.
7.
8.

AQTTATIHT FFET JUTATHT % 75 AT S e | (State any two limitations of computer system in
accounting.)
9. =™ &1 %.3,000 @ AUH FHTENH Jrafe dar e | (Prepare adjustment entry of prepaid insurance
expired Rs. 2,000.)

oo

10. a1 fegua AT AaRAT ducae fafuere F==eq fgarearas T8 gae ez« | (From the following

information calculate cash flow from operating activities under indirect method.)

gz AR (NEt INCOME): uvtiiieniiiiieeieeenanes Rs. 40,000
= w¥afaHr 9fg (Increase in current assets): ............ Rs. 5,000
¥ g=arad @= (Non-operating expenses): ............... Rs. 10,000

11. afe arfie afewTor 900,000 THE ¥ TR AT IRHT 20,000 THE AU A&7 gge@n gar amsdard | (If annual
requirements are 100,000 units and economic order quantity 20,000 units then find out number
of order.)

g & (Group B)
dfr A eee (Short Answer Questions)
IS TREE &« e | (Attempt All Questions.) (8x5=40)
12. % tF FF 4% ffHaHmT F 900 TF £,000 foFdT FAX ST =T | AR HFTER 298 (A company

issued 6,000 shares of Rs. 100 each at 5% premium. The money was payable as follows):
15



grag=AT (On application) .......oovviviiiiiiiii i, Rs 30
Figwiedr (On allotment).........ocooviiiiiiiiin v, Rs 50

gg® qar At fe=arr (On first and final call).................. Rs.25

90,000 fFAT FXHT AR ATATH YT TAT | T ATATHATS THAITTH AT JIX ATSHIS AT | ATAIAAT TG

AFATAT T THH ATSHISHT FART AT | T feparedt Tepw AT w1t ¥ ured 92t | (Applications were received
for 10,000 shares. Shares were allotted on pro-rata basis. Excess application money were utilized
towards the money due on allotment. All calls were duly made and received)
TR e (Required): s« yfafte (Journal entry for) (1.5+2+1.5=5)

a. ¥ #rae (Share application)

b. =7 arewie (Share allotment)

c. 9g¥ ¥ iwH fe= (Share first and final call)

agar(Or),

o

% Q00 gidfear Hed AUHT %% TeHAT RN bl JATA WO [FATeh! UG AlTH [FEar T6H . 3 =[<h

~

TS fATehT YR THT AT | FFIATT Ih THT TR & 990 R hIT g9 T O Sy 7= 1 (A

shareholder holding 250 shares of Rs.100 each issued at 5 % discount failed to pay final call
money for Rs. 35. His shares were forfeited. The company reissued those forfeited shares @
Rs. 110 as fully paid.)
TR e (Required): s« wyfafte (Journal entry for) (1.5+1.5+1+1=5)

a. st=H fe=ar (Final call)

b. ¥=% swa (Share forfeiture )

C. ¥R 47 T (Share re-issue)

di g=ar=®w (Transfer)

13. A. sram=g &+ {0 ara &A1 fa @ ferares g9t f@ar (Ayaansh Company Ltd. took over the

following assets of Aarab Company Ltd.):

Afg=r (Machinery)................. Rs. 200,000
®if=® (Furniture) ................... Rs. 50,000
HSGTd (StOCK) wvviviniiiiiin Rs. 100,000

FHATA 10% FEHT . 100 THT ¥,000 AT AR AR T A et 19 @eAa w41 | (The company
agreed to pay for issuing 5,000 shares of Rs. 100 each at 10% discount.)
TR e (Required): gw=fa &ft@ 7 a1 sr# s« gfafe (Journal entry for purchase of

assets and issue of share) (1+1=2)

B. tzser & 90 av qfg qo% AfdRad TFHARd STl T T £.9000 FeH 00 fFaT 5% HTT HEfhd T
st =t | (A Company Ltd. issued 200, 8% debentures of Rs 1,000 each at par and redeemable
at 10% premium after 10 years.)

TR TR (Required): Horas S ¥ e sieree (Journal entries for issue and
redemption of debenture) (1+2=3)

14. ©3er & faxiia #rrere! gz fqerar fegus @1 (The following financial transactions of a

16



Company are provided.):

faaorez (Particulars) % (Rs.) faazorez (Particulars) % (Rs.)
faer s (Sales revenue) 500,000 fastra= (Advertising ) 15,000
T #eara (Opening stock) 40,000 wrer g (Rent received) 10,000
givz (Purchase) 300,000 e waarr (Commission paid) 4,000
gr(Insurance) 15,000 gfez frar (Return outward) 12,000
o (Salary) 70,000 gari (Carriage) 8,000
awmerar & (Interest on investment) (100,000 fereer fRat (Return inward) 3,000
otk =rst (Interest on loan) 5,000
aq s (Additional information):
a) sf=w Aserd (Closing stock):................. Rs. 30,000
b) fa =@ a@= (Salary outstanding).......... Rs. 5,000
TR e (Required):

a. =R @@ (Trading account) b. 5wt Frae &@w@r (Profit & Loss account) 2+ 3=5)
15. ©3er AT AgHEtSTd e aE HeEEr [@30@ g 0 (An unadjusted trial balance of a company
is given below.)

faazoras (Particulars) gfqe & (Debit Rs.) Bfez 7. (Credit Rs.)
&z g5t (Share Capital) - 100,000
@rg (Creditors) - 50,000
&% = (Bank loan) - 40,000
ferr (Sales) - 250,000
Afg=r (Machinery) 145,000 -
e Hisara(Cash balance) 60,000 -
a«e (Salary) 35,000 -
st wrer (Prepaid rent) 15,000 -
ge (Discount) - 5,000
gfg (Purchase) 1,90,000 -
st (Total) 445,000 445,000

a9 s (Additional information):
a. M ATeT %, 93,000 @ wfgar | (Prepaid rent of Rs. 12,000 was expired)
b. 10% @1 2 AfEIHAT Heasra wedt wiedn | (Depreciate machinery by 10%)
TR a9 (Required): Frdfqawsr (Work sheet) 5)

16. ARt <@rehr AT f§3 a9 Jredes e |

(Mention the objectives of cost account with its definition.) (2+3)

o~ o

17. A. F=1%d ? fadsied @REia=es M=ar sarse i |

(Differentiate between centralized purchase and decentralized purchase.) 2)

17



B. 51 #feameR querer RER FEmEr fagust @ (The following are the store transactions for the

month of Jestha.)

Jestha 1: 5% #isarad (Opening Stock):.........coooevivivinnn... 200 units @ Rs. 3
Jestha 5: @ft@ (Purchased):...........ooeiviiiiiii v 400 units @ Rs. 2.5
Jestha 10: @t (Purchased):.............cooiviiiiiiiii, 300 units @ Rs. 2

513 wiearat %o fqar (Total sales during the month of Jestha) 750 units
T amsTEE. (Calculate): smafys Hisara wgft i@ FIFO faftame sife disarast anma < 9%
e @rr (Cost of ending inventory and cost of goods sold using FIFO method under
periodic inventory system.) A3)

18. A. ufq =wvar gwiftTes I Y THTS &1 | Ui THg SATATER &, 30 T U Afgaral & w14 7ver 40 & | (The
standard output per hour is 5 units. The wage rate per unit is Rs.30 and total working hour in a
month is 150 hours.)
vt wme e (Calculate): Tag TR Yorrelr AR UF Afgrar o sarar (Total wages for the
month under piece rate system. ) 2)

B) =1 fqaeorew ezt &7 (The following information is provided)

1. fa<ira S@Ter @2 ATHT & ¥4, 000 @A |
(Net profit shown by financial accounting Rs. 45,000)
11. HeIeT™ H&dl ¥, 90,000 & AN W@IAT dGl ATW@ el qreal |
(Depreciation overcharged in cost accounting by Rs. 10,000)
iii. T% Hrsara %.5,000 o O /@THT FH TATEHA @A |
(Undervalued of opening stock in financial accounting Rs. 8,000)
1v. fafqa @ SRRl T ¥ 99,000 Hied ARk
(Interest on investment credited in financial accounting Rs. 11,000)

TR T (Prepare): anra feama frem frazor (Cost reconciliation statement) 3)
19. FFAEIEHT @1 TUTAT T & &1 7 FFHLIRA @l JoTeirerl aeaess! e T4ard | (What is computerized
accounting system? Explain the elements of computerized accounting system.) (2+3=5)
94t (or),
T aqeaRa fasares v Terd | (Describe the features of accounting software.) &)
g T (Group C)
i Jaaend qeeEE (Long Answer Questions)
TS TREEE &« e | (Attempt All Questions.) B x8=24)
20. =ty fa.r 39 FER 2090 FH Feqaq e AR f@guar @ 1 (A trial balance of Api Ltd. as on 315 Asar
2077 is given below):
frazoree (Particulars) efe = frazoree (Particulars) ez <.
(Debit Rs.) (Credit Rs.)
e #vard (Opening stock) 15,000 fasnt smeTAr (Sales revenue) | 465,000
givz (Purchase) 285,000 @R 951 (Share capital) 150,000
e Ok (Audit fee) 12,000 @rgse (Accounts payable) |22,000
garg qur waer< (Printing and | 18,000 =9 (Loan) 180,000

18



stationery)

Jaer @+ (Salaries expenses) 60,000 =gret qar ararer (Interest and | 8,000
dividend)

@t (Goodwill) 10,000 = g1 el (Service 35,000
Revenue)

gada @< (Promotion 9,000

expenses)

=1mst @ (Interest expenses) 12,000

a¥q aa1 w9 (Repair and 8,000

maintenance)

wre qar 39 (Plant and 200,000

equipment)

& Hrsard (Bank balance) 42,000

FrErEEs (Accounts 65,000

receivables)

awmr (Investment) 100,000

areT @9 (Rent expenses) 20,000

o= faat @= (Other selling 4,000

expenses)

st (Total) 860,000 st (Total) 860,000

a9 s&r (Additional information):

i. afer Asara (CloSing StOCK)....vvivivieii e Rs. 20,000

11, =g qa1 IUHoTHT Hedetd wadl (Depreciation on plant and equipment)...10%

111, 3T T (INCOME taX TAte). ... \vtett et ee e e e 20%

iv. s T ater |reT (Rent outstanding ).....ovvvvviniiiiiiiee, Rs. 1,000
TR a9 (Required): (5+3=8)

a. NFRS #aw et qam faarzor (Profit or loss statement based on NFRS)
b. NFRS #7ar fa<ita sra=ar (Statement of Financial Position based on NFRS)
gar (Or),
AT FFIATR! T ae ferEr feguar @1 (The trial Balance of Arya Company Ltd. is given
below)

e gqawr (Trial balance)
30 37 0% (As on 30" Chaitra, 2076)

fraxuree (Particulars) efe = fracoee (Particulars) e <.
(Debit Rs.) (Credit Rs.)
T "t (Opening stock) 40,000 &z gt (Share capital) 150,000
Taa (Salary) 32,000 &% = (Bank loan) 50,000
givz (Purchase) 250,000 fafas @m@g® (Sundry 40,000
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TR 9 (Required):

(4+1+2+1=8)

20

Creditors)
fasmaT (Advertisement) 14,000 faehr (Sales) 390,000
&% "t (Bank balance) 35,000 @fvg frdl (Purchase return) 5,000
fafag smramiEes (Sundry debtors) 50,000 =gret gt (Interest 14,000
received)
awmr (Investment) 50,000 Fwaa (Commission) 2,000
Afg=71 (Machinery) 120,000
=t e (Interest paid) 5,000
gemafi® @+ (Administrative 35,000
expenses)
s =i (Prepaid insurance ) 20,000
st (Total) 651,000 st (Total) 651,000
a9 s&r (Additional information)
a. wfeq® Asard (Closing StocK):.....ovvvviviviveiiinenne, Rs. 55,000
b. A=A HegerE wedt (Depreciation on machinery)....... 10%
c. ¥ drwrems @ «@f@ar (Prepaid insurance expired):.....Rs. 17,000
d. smaer swerear (Provision for income tax):.......... ....... 25%
TR T (Required): (4+4=8)
i. Fg=urar g faazor  (Multi step Income statement)
ii. Tt ar@era (Classified balance sheet)
21. U3 FFEALH T2 TUEN ATHATT A (SR B |
(The balance sheet of a company for two years are given below.)
&% 2074 (Rs.) [2075 (Rs.) [wafass (Assets) 2074 (Rs.) 2075 (Rs.)
(Liabilities)
7 gt (Share 250,000 300,000 #fewer 180,000 300,000
capital) (Machinery)
#uaa (Debenture) 50,000 80,000 =< (Goodwill) 40,000 20,000
@rg (Creditors) 30,000 65,000 smami(Debtors) 70,000 120,000
fe arebr @t 10,000 5,000| =s=Ta (Stock) 30,000 50,000
(Outstanding
expenses)
At AT 40,000 60,000 == Hrsarar (Cash 60,000 20,000
(Retained balance)
earnings)
s= (Total) 380,000 510,000 (Total) 380,000 510,000
a9 s@r (Additional information):
L FTET (Sales tue e Rs.550,000
ii. Tt @t (Cost of goods sold )ivnveviiiii i, Rs. 350,000
iii. FIeT™ Fdl %.30,000 Aeqe F=ara @=
(Operating expenses including depreciation Rs. 30,000)...... Rs. 100,000
iv. =T @F (Interest EXPenSes ). .. v e irierir i iierieeaieanianans Rs 10,000
v. Afge faebr (Sale of machinery)i........ooovviiiiiiiii s Rs 40,000
vi. #fEF @fg (Purchase of Machinery):..............ooovviiiiiiinnne. Rs 185,000
vii. @rater symEr (Dividend paid). ..o Rs 55,000



vy fatrare e yarg frazor (Cash flow statement by using direct method.)

22. Wq Higar! Atwer@ae T ana faearues feguar 1 1 (The following cost information were extracted
from last month records.)

geaet FET (Direct materials): Rs 250,000
geaer sarer (Direct wage): Rs 150,000
@ 3uierd (Factory overhead): Rs 45,000
gerrE# I9ead (Administrative overhead): Rs 44,500

Suiveaee frereaR afewie e (Overheads are allocated as under):

1. FREMT URey qa antas wgrHr (Factory overhead on the basis of prime cost)

1199 guivery #ramn antas g (Administrative overhead on the basis of factory cost)
g7 19 T fFaTaRer art A kAT | (The following costs were estimated for submitting a

tender):
FwrlT @t (Material cost): Rs 100,000
sw arra (Labour cost): Rs 60,000
FRETAT S TehHep 0% AA1hT =6+ | (The factory is expected to earn 20% profit on tender price.)
TR T (Required): (3+5=8)

a. «mrq fqawor (Cost Sheet)
b. fe@ax frawor (Tender sheet)

*****The End****
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¥. waqreer = 3w gomer (Nepalese Legal System) [Nis. 110]

Nepali Legal System, Grade 12, Test Specification Chart, 2078
Plan for Question and distribution of marks covered
Unit | Content Area Teaching | Knowledg | Comprehen | Application | Higher Total Total | Total
Hours e sion ability Question Marks
covered
VS VS VS VS |S VS |S|L
1 | Introduction to Legal 14
System
2 | Types of Major Legal 20
System 2 1 1 3|2 6|21
3 | Introduction to Hindu 12
Jurisprudence
4 | Development of Nepali 22
Legal System
2 1 3|2 6|21
5 | Introduction to Nepali 22
Legal System
6 Influence of major legal 10
systems in Nepali Legal
System
2 1 11 2|2 5120
7 | Legal Education in Nepal 8
8 12
Legal Profession in Nepal 2 1 1 312 5113
120 | 8 1 3 1 2 - 2] 1] 11 |8 22 |75
Notes:

1. The alternative short-and long questions will be asked from appropriate chapters taking in to account the nature, depth and

coverage of the contents.

<3




. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the Chapters to the possible
extent.

. Short question will be of five (5) marks and there will be eight (8) questions from each of the chapters to:the possible extent. All
the questions shall be compulsory. However, two alternative questions will be added to any two questions among the total
questions asked.

. There will be three long questions carrying eight (8) marks. All the questions shall be'compulsory. However, one alternative
question will be added to any one of the three questions.

. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher efficiency
and in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer guestions
(Q.N. 12 to 19) and long answer questions (Q.N. 20 to 22).
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[Nls. 110]

FurereRr =g T Fr qomenr (Nepalese Legal System)

THAT 999 99 095 (Model Question 2078)
e (Grade): XII
THa(Time) : 3 Hrs. quirgs (Full Marks): 75
qetendTer qHae AR wTeEHT Wi IO fAAa @ | REARET fHguer dgwe qulTgders SHEe, |
(The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

e & (Group A)
afq wefr<r saend gees (Very Short Answer Questions)
I yreEH Iuv fager (Attempt All Questions.) (11x1=11)

1. it qorrelreRr A gEHTET Hewd Sei@ TR |
Mention any two importance of Legal System.
2. e AT GOeRt e % &
What is religious legal system?
3. FHT FAT GOMH T FATT HIAT JOMEATERT B GEATET ek TETrie |
Write any two differences between common legal‘system and civil legal system.
4. fem g afearr fager
Define Hindu law.
5. | e GfauTET T FA gEATE (AR A TATIHEE |
List out any two rules laid down by Ram Shah.
6. femg FITTH Y ¢ A IwrE THEA |
Mention any two sources of Hindu Law.
[, SATAF] ATATH] TE F F g 7
What is the hierarchy of courts in Nepal?
8. e =i fAeTa TR & B
What do you mean by Quasi-judicial body?
9. T Roretrert & .gF G wReTEd |
Write any two scopes of legal education.
10. %7 gl E&y 5 =R dfear defEd |
Write-any.two code of conduct of lawyers.
11 . sraamie gR & % g 7
What.are the categories of lawyers?

aqg @ (Group B)
T SaeRd geRes (Short Answer Questions)
I yrveEs I} e | (Attempt All Questions) (8 x5=40)

12. e worreiierr e & % g ¢ T qEr |

What are the essential characteristics of legal system? Shed light on them.
13. a AT gomeiRT agfirear == e |

Briefly discuss the common legal system.
14. fe faforsmere fagrea gesdmn JeEs |
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Write the principles of Hindu Jurisprudence in brief.
Faar (or)
fereegfar TerAT HEar =Afas Tgu FXAT AATEAT I, TETer |
What kind of judicial institutions were in practice during Lichhavi Period? Write it down.
15. @i, quré gt T, 9290 B HEdrEr Afufaer UF G5 gageel 99 $ Bl WA A8 Sodd T G
Suppose you were a member of drafting committee of Muluki Ain, 1910, what provisions
would you recommend to mention there? Write them.
16. F=fere foare @urares! wewd Seor@ T U e qfTeRE AIRT GEIEIRET THAT AR R |
Draft news for a newspaper mentioning the importance of Alternative Dispute Resolution.
17. afs quré =nfaes afafasr aeer frgaa gawdr 99 quEarg & &= qered Ao T afagr e g ¢
What cases would you have right to decide if you are appointed as a member of judicial
committee?
18. T HTAAT RTeAT TEERAT GEAHT = A |
Briefly introduce the legal education of Nepal.
19. afeaarsg fea ammtaes sfafrar afb= 7
Why lawyers are called social engineers?
=gar (or)
TITETHT AT TR UfeTides fasraar aam THar |
Explain the historical development of legal profession.in Nepal.

e W (Group C)
Al SacH® Tees (Long Answer Questions)
Ty yee SR feE )| (Attempt All Questions) (3X8=24)
20. T JUTCATH TR & & B ? [qrilewmed! MdeEd Jaiqene aard T |
What are the various types of Legal system? Elaborate their basic trends.
sraar(or)
FIAA JUTEATR] 94 T Ae<adls ATed] THer |
Explain the meaning and importance of legal system.
21, TITEAT HTA JUEAT faehraare faedear Sahad THed |
Discuss in detail about the development of Nepalese Legal System.
22. TITE FTAA FOMAHT FHAFAT TUTEATH] TATAATS ATATAATCHSE [FIT0 TR |
Critically analyze the influence of common legal system in Nepalese legal system.

%



5. Instructional Pedagogy and Evaluation

Test Specification Chart

Class 12
S. Unit/Area Marks | Remembering | Understanding | Applying Higher No. of Total
N. CH /Knowledge ability questions Marks Marks
VS |S |L |VS |S |L |VS|S|L|VS|S |LVS|S|L]|VS|S |L
1 Instructional objectives, 5 3 2 1 |- - 2 1 |1 |1|-|1 |14- |4/ |5|1|4 |25|8 |37
pedagogy and evaluation
2 Instructional planning 10 |7
3 Managing instruction 15 |9
4 Instructional materials 14 |9
5 Instructional methods 15 |9
6 Conceptualizing evaluation | 10 | 6 3 1 |- 1 1 - 2f1 P22 |- |(2121]7 |[3]2]7 |15]|16 |38
7 Planning instructional 15 |9
evaluation
8 Administration, scoringand | 15 | 9
analyzing the test
9 Concept and preparation of | 11 7
non-testing devices
10 | Continuous Assessment 10 7
system
Total 120 | 75 5 2 - 1 3 1 3 2 |12 11 (11 |8 |3 (11 (40|24 |75
Question and Mark Distribution
SN | Types of questions | Number of questions Marks per question Full Marks Time
1 | Very Short 11 1 11
Questions 180 minutes (3 hrs)
2 | Short Questions 8 5 40
3 | Long Questions 3 8 24
4 | Total 22 75
Remarks:

Item format in composite should be met as per the specification grid.
Weightage in the combined cell should be met, but £3 marks variation will be allowed within the combined cells. But cannot be nil.

SQ and LQ may be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviors. In such case
these will be added to'their respective cognitive behavior. In sum the distribution of cognitive behavior should be approximately to the required

distribution.
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e The distribution of questions based on cognitive domain will be nearby 20% knowledge/remembering, 30% understanding, 30% applying and
20 % higher ability level.
e Incase of short question there will be 2 "OR" questions and in case of long question there will be 1 "OR" question.
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HET R
frerforer ggha T geargmA (Instructional Pedagogy and Evaluation)
q JIes Aad B\ (Attempt all questions.)
AT 3 "7 (Time: 3 hours)
T F : ATEE SAHS T 9 xq=99
Group A: Very short answer type questions
. USSRl AF TRl |
Write the meaning of the term ‘pedagogy’.
2. F Tger ofie Tger fafite 3R SeTE |
Write one specific objective of any one topic.
3. faendiems wemar g diet IUgHE g5 dRawl delerd |
Write appropriate two techniques of questioning students in classroom.
¥ gitatadre faamdier anfn Suaea uger e araly 3 augead uger AfeTe ATHTRT AT TR |
Write one example of an instructional material which is appropriate and one example which
Is not appropriate for students with sight disabilities.
Y. Rreror fafy ¥ Rreror afeatfe= Tt fa=ram s/ete |
Differentiate between teaching method and teaching technique in one point.
<. T FAqeRAT AUH TRaqTdATs ATATCHE SIHT 3G (a7 T [qrdl SAaeReb! Il d@rsirar
T HTATE & v, 7
What is said to the act of assigning numbers to the change that has come in the behavior of
student and to the act of appraising. the progress of the performance of student?
o, JTRYNETHT TRIETITHT TFel TXeTh T 3bl INETh (a7 AGHAT Te[del g7 Tad T AgH a<h? AgH
fepfaHepT JomdTs & A, 7
What is said to the type.of questions where there is variation in assigning marks to the answer
sheet from one examiner-to another and where there is no variation at all in this process of
assigning marks?
o FET & BT YRILTTRT NT SATARH HeATShd Tl SRaw e gealel qad J&7 JETald |
Write any two strong points of conducting internal assessment in the examination process of
Grade V1.
R. UIAH PSS WX Hid g1 IUIH g T fobe ?
How much difficulty level of a question item is appropriate and why?
0, fITTa qeeH AgHA IRATHT IR T Tedel ARFeE Jooid el |
State two measures for improving scoring procedures of subjective test items.
9. THET TEIAFHATIAR & TIAH] T HATGHAHAT A1 [agUH G 7
Which assessment system is emphasized in Nepal according to the integrated curriculum?
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THE €@ : Bl JAAHS T4 & X% = ¥o
Group B: Short answer type questions
qR. fererorerr a7 Tqee e fareror ¥ faeprgfaeT TR SR |

Illustrate the relationship between teaching and learning with clarifying the meaning of teaching.

Q3. FET AP FH [TTIHRT TIAT IS SR | SHT TSHN IET T qTSHT Hel & T ARFNFedd

9%.

.

ARESY
Select a topic/lesson from any subject of Grade I1l. Write specific objectives of the lesson and the
way you introduce the lesson.
41 OR
URTEA®F FHEATEEH] HElT QT el b ITIH g7 7 T el |
Why is grade teaching appropriate for students studying in elementary grades? Clarify.
foramera afedfe qrew Rraor faseer afT Iuged g1 qeellel TEUEER A0 deled ¥ faae
FHETHT TANT T ABT 0 Tl |
List out two local materials available at school surroundings appropriate for teaching learning and
describe the ways of using these materials in the classrgom.
qATgh Teebl & 217 faamdienr qargeior faerardr Sgeger qwadaT ifeTe RTiaer! sTaear Fad
HeATgeh Tdas 7 q0A THad |
What is evaluation? How should evaluation. be done for educational progress of students in the
context of their all-round development? Describe.
4T OR
foramdiert faeprga! AR T&Th HATEHT THH AT HeATSHAH Hedl [aid Iugad A= 7
BIEHHAT Thdied I&E TTHad.|
What type of evaluation devices are appropriate for evaluating the essence of learning of students?
Clarify with logics.

1%, @ex Ufes MaRTH, 2095, FTAR fqendisr Iuaie Fargsd T+ qE Teied |

q9.

9z.

.

Write the ways of assessing the students' achievement based on the letter grading directive 2078.
TF ST [T Semaaaredl FdeR HedTghd THHl AT F7H A9E (e Thal) B JIqNT
FAL BT, . SaeXvdied JETed |

How.do you use a rating scale for assessing disciplinary behavior of a student? Write with example.
[Tl ATNT TXT&T I STTIRU T G, | T (R THP! ATIROMATS ATRATRATHT &R
TH.% & 19 Alhg ? g1 faerd |

The concept of examination for learning sounds good. How can this concept be transformed in
reality? Give suggestions.

TATETHT FTATEa MRUH R HeaTgerd Tafdaat FHSH FRO AAarsTerd | T8 qgiqar
TIRH T Heb g1 THG 7 Iool@ Tl |

Identify causes of not effective implementation of continuous assessment system (CAS) and suggest
ways of improvement in this system.
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THE T : ATHI SAAHE T IX&5 = XY
Group 'C' Long answer type questions

0. 9T AT SATSaT T fau HXTHed FETHT TR RITOreRT ATl =R & & g 7 fadel ganT

1.

T ARPTRl IaTeXvrEled ATedl THald |

What are the three phases of teaching in classroom that are to be considered in preparing lessonplans?
Explain ways of action in classroom in those phases with examples.

TEANICHE (Gl TWHITAe® a1 TRANET & & & qaga 7 [l Fear JART T AT
IR Ed AT THe |

What are the cooperative learning strategies? Explain ways of action for those strategies in teaching with
examples.

3R, TARTEESRT qIfeTerTeh! TSeT IIMERIT QUX THAT TAR THRME T THH IAF ATATHEER Howd T

TR |
Prepare an example of specification chart and explain the importance ofits each dimension.

AqIqr OR

TEAB T THIRePT AMMATIT TIT (T, ST ¥ AP Teb U TAR T | AT TITHT HHAAR
TeThl FHIEAT THEE ¥ & T IR T I U T |

Prepare three multiple choice type items. Review the weaknesses of these multiple type items
and describe the ways of improvement in these type of items
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%. weitas (Psychology) [Psy.120]

Test Specification Chart

Subject: Psychology Class 12
S. | Unit/Area Marks | Remember/ | Understand/ Apply/ Higher No. of Total
N. WH Knowledge | Comprehension | Application | ability questions | Marks
VS |[S |L|[VS |S |L [VS|S |L [VS|{S/L|VS|S |[L|VS|S |L
1 | Humanistic 8 5 1 1 (- |1 - 1 |- 1 (- |- 1)-12 |2 (12 |10 20
psychology
2 | Mental health 12 |8
3 | Status of mental 12 |7
health in Nepal
4 | Psychological issues |18 | 11 2 1 |- 12 1 - 41 |- |1 |(-]1|6 (3 |16 [15|8 |29
5 | Psychological 14 |9
counseling
6 | Verbal and non- 14 |9
verbal
communication
7 | Psychosocial care 18 |11 2 - - |1 1 - - 11 |- |1|-13 |3 1|3 (158 |26
and support
8 | Psychological first 12 |7
aid (PFA)
9 | Intervention pyramid | 12 | 8
for MHPSS in
emergency
Total 120 | 75 5 |2 |- |4 2 11 {3 (1|1 (2]1]11|8 |[3(11(40 24|75
Question and Mark Distribution
SN | Types of questions Number of questions Marks per question Full Marks Time in minutes
1 | Very Short Questions 11 1 11 26
2 | Short Questions 8 5 40 96
3 | Long Questions 3 8 24 58
4 | Total 22 75 180 minutes (3 hrs)

EX




Remarks:

Item format in composite should be met as per the specification grid.

Weightage in the combined cell should be met, but +3 marks variation will be allowed within the‘comhbined cells. But
cannot be nil.

In case of 5 or 8 marks items, these should ensure that 1 mark will be assigned per element expected as correct response.
However, cognitive behaviour intended might not be single behaviour within the item. But-intotal cognitive distribution
should met. £3 marks variation will be allowed within the cognitive levels.

SQ and LQ may be structured (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive
behaviours. In such case these will be added to their respective cognitive behaviour. In'sum the distribution of cognitive
behaviour should be approximately to the required distribution.

The distribution of questions based on cognitive domain will be nearby '20% knowledge/remembering, 30%
understanding, 25% applying and 25% higher ability level.

In case of short question there will be 2 "OR" questions and in case of long question there will be 1 "OR" question.
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wAtes (Psychology) [Psy.120]
e (Grade): XII
¥9g (Time): 3 Hrs. quites (Full Marks): 75

T FHTAFH AR ST At I & o 3 | FpAwrH faguar g quigswars e |
(The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

e & (Group A)
afq wefr< Swrens gees (Very Short Answer Questions)

¥ 9o g« e (Attempt All Questions) (11x1=11)

1. wta® w@reers afenfva 29 | (Define Mental Health.)

2. wIEaraTdr AHtasH 9 3% aad g4 aeterq | (Write any two strengths of humanistic
psychology?)

3. wifEEEs AR gHE #9424 oA ¢ (How do peaple express psychosocial
problems?)

4. werETHINTE THETH B4 g5 W 9w e (ldentify any two causes of psychosocial
problems.)

5. SOLER =t w1 =9 % &r ?(What is the.full form of SOLER?)

6. wmew yadraeurens afenfa EreI(Define self-disclosure.)

7. wAmETATSE W ARt | F wd g 7(How does psychosocial counselling differs
from psychotherapy?)

8. TWFERNIT =R ugfae ®&dl Arias @red yagaAr weq 15 2 (How can traditional healing
practices help in promotion of mental health?)

9. weraTHisE EvaEers afeatia e 1(Define psychosocial care.)

10. srgTefse-ge=meer ® tF Hewd aegerd | (Write one importance of psychosocial care and
support?)

11, wrETEITTE R F @ A fagr e wewer g 2(Why the principle of do no harm is
important in psychosocial counselling.)

T @ (Group B)
T SaeRE qeRes (Short Answer Questions)
T yeveeE g« e | (Attempt All Questions.) (8x5=40)
12, FurersT Atad @R J4are siqed @ T1erd | (Mention the history of mental health

services in Nepal.)

3¥



13.

14.

15.

16.
17.

18.

19.

TATHT FATATAIS S TeATg el Tiead 3hee fod A g, @ oz | (Why Rogerian
approach is popular among Nepalese psychosocial counsellors? Clarify.)
AAETATTSTE FHETH qrAr e guq Ter |(Describe the common characteristics of

psychosocial problems.)

TRl AR HT FAraraTTe el a7 qfe= e | (Identify the scope of psychosocial
counselling in the Nepalese context.)
TATAATS FEL FFLATIH T Aiebwg, 7 =ren T4ena ((How stress can be managed? Explain.)
ATTAFTEAT FAATHT Tgeaard Feanral qer aw auq e ((Describe the key components of
multi-layered supports in an emergency.)

saar(Or),
" a1 wAeT e fatger qum wEE ((Describe the process.of case management.)
PFA %13 fagre Aaaerelia Seaedm w81 3 T+ afdeg, 7 arer g ((How can the action

principles of PFA be used in emergency setting?-Explain.)

aaasre e MHPSS @1 g=qaw friftae y=qa era | (Illustrate the Intervention
pyramid for MHPSS in an emergency.)

saar(Or),
artae @ geared anr |ASC frtae y=qa e 1 (Illustrate the IASC pyramid for

mental health care.)

e 7 (Group C)
I AR Tee (Long Answer Questions)

T e g« e | (Attempt-All Questions.) (3 X 8=24)

20.

21.

22.

HATETHIST S THETH FaramASE wearres farar sarsqe | (Differentiate psychosocial
wellbeing fromithe psychosocial problem.)

‘AT PN HATATHINSF GRTHT J@ATHN FE3UE &7 |7 ST SATeXvaied THTe THerd, |
("Communication skill is the backbone of the psychosocial counselling profession."

Justify with appropriate example.)

HATETHIT S 2THTE T GedRTeHh! [FgTq HeTHeres dqaedrar wa<r gan e » (How the principle of
psychosocial care and support is used in a pandemic situation.)
saar(Or),

ENEY

wArasTE qatae IR (PFA) @18 Araae@Tee saedm T Fad 9w 1 ates 2(How

psychological first aid (PFA) can be used in an emergency?)

EL



o, gfqere (History) [His.122]

q. AfT BT T 9 AGHF EF T T THATH T TehTg GHIET T 99 F97 7B B |

fafirsdreeor afererr
FET IR
FRAEE : R0 (FEies U %) favr: AfeaE TR
I AT qIT AEHHR ez
T 4T/ T RESRL T e TGRT IoA_ETAT STERT 9 qgeT VTR e
?é:? T A 4 9 q q 3|9 9%
fareaepT aHer qegiae R0 q 9 q ] ) R
giaera ¥ famer guaer
Ta1 faed sawn Y 9 9 1] 9 1¥
favaug 94 q q q B R A
FeRiftes aeeT q0 q q T | 9 %
ARSI TSI (e 9 1 ] 9 %
CEIDRIEC R 1% 9 T 1 R 90
ST 1Ro 9 q ¥ 3 R 1 = 28
A

3. BIAT YA/ Y, ATHHT g B T ThAFH o THIGH T g T & J9F e G A1 F g8 Jo7HT fabeq foq afry 51

3%




3. ATHT 999 & FgHHN g B T 3 YT T@d B Ad E U G faskeq faT afer @

¥, STH JEHT qUIEHHT 0 IIAATHT T eI, 3= &7l qgAl 0 IATHT THEH T T q TeHT AAIRAAAAR T T8 S |
LT TEAT (AR Tl T ATAAFATTAR AT BIaT, GaT ¥ ATHT I e B | G TeHT qo GTAbr g9+ @ ATTaraar gae |
I AT AT (AT, HeATgHhA ¥ [asircHs qeahl 997 & G |

® YYAEHT TeblY

T TFR i w=@m ENUERS
AT FET ged 19 19
gIal 9T AT 99+ g %0
ATHI IR ATIT T9H 3 ¥
STHAT R 9
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gfaer@ (History [His.122])

& (Grade): XII
g5 (Time): 3 Hrs. quiigs (Full Marks): 75

TSt TR SR STeE T Hifd SR A g | AR freuar e quitewmeTs

srss | (The candidates are required to give their answers in their own

words as far as practicable. The figures in the margin indicate full marks.)
e % (Group A)

afq wefr<r saaend gres (Very Short Answer Questions)

T yeeew g« e (Attempt All Questions) (11x1=11)

q. T Ieadrer gEATd %A Wevare WUHl (9T 7
Where did Greek civilization begin?
R YTEE AHH AT AGHA favadrs & AnTe fauer @ 7
What contribution did Roman civilization render to the.present world?
3 TEATH gUH B qE ATUR TR AeTRr |
Write down any two pillars of Islam religion?
¥, HRAETE gHH el 9 % & 7 U ATl e e
What is the main essence of confusius religion? Write in a sentence.
Y. WRAHl WA TGUTH Hiee ATHT [T 7
When was the Indian war of Independence-held?
& YUH [F9aggHl qobted BRU & [
What was the immediate cause of First World War?
o 9w favayg ¥ frd favaggfass &9 3% weF Teted |
Mention any two differences between First World War and Second World
War.
c. ST HIHR! TTIAT oo, AUHT (947 7 T (T defe i |
When was League of-Nation established? Write its full date.
. war (NATO) I=g o1fat Sfcarepal §97 & &1 7
Which country is the leader of NATO?
0. @& (SAARC) T9a Hidsirer 391 ag B 7
How many-countries are the members of SAARC?
9. R AR & 8l
What is meant by Arab league?

g @ (Group B)
T SaaeHs geew (Short Answer Questions)
T ye & e | (Attempt All Questions.) (8x5=140)

2. fafar F¥adreT &7 &7 TUT 9&7 ETHN S(ETHT TART T A(heg, ? Ioei@ el |
What positive aspects of Chinese civilization we can use in our life?
Mention it.

3. g gHH HEH ITLY AT |
Write-down the major preachmg of Buddha religion.

9¥%. %T‘f %T‘:l_fﬂ' WQT DS "Tﬁ MENESE! TIET OCHCK'K'OI &ITITUTIIT ch<dl HHIA q_"f (*H?D,"I?
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ALE

Q%

qe.

9z.

.

What impacts can be seen in personality building along with the
implementation of teaching of Hindu religion?

RTRIR] TSAGRTIRT HIRIT & & g 7 THIET TRl |

What are the causes of the French Revolution? Review it.

T FAeaggHT FATAR! HE & AT 2 GEdHHT deterd |

What was the role of Nepal during the Second World War? Write in
brief.

srear(or),
S eblhll~dPl Hexd ddlSTeld |
Discuss the significance of the Russian revolution.
“ITEGERT TARATT 7 AT (97 Tgehl THE RN T 1" TAATE FaTeRvraied
g TR |
"Failure of League of Nation was the chief reason of second world war"
. Prove it with examples.
FFT A ASHHT IV bl ATNT AT TRUHT T 7 Saah AT ez |
For what purpose were the objectives of the UNQ. adapted? Write in
brief.

srear(or),
AR T [hATHATT & & B, ACTard |
What are the major activities of NATO? Write down.
e T ATAHT & & Bk S 7 AT SOHT e84 |
What are the differences between NATO and WARSAW? Write in
points.

e  (Group C)
A STIHS R (Long Answer Questions)

T g g« e | (Attempt AN Questions.) (3 X 8=24)

R0,

1.

KR

HHMAETHAT ¥ ART AR FHIETHE [aoqofl J&dd e |
Present a review, note of Mesopotamoa and Roman civilizations.
QSRR & % &l 7 TSN faeroarel == e |
What/is Renaissance? Highlight the feature of the Renaissance.
T (SAARC) TITIATH! TSI Ieoi T TIHT 9T ¥ AT AT TSR |
Mention the background of the establishment of SAARC and also make a list
of its objectives and organs.
srea(or),
NI I THHT % &1 7 A7 JeAIqare F {67 g% 947 7 FR A TR |
What is industrial revolution? Why was it started from England? Explain the
reasons. (3+2+3)

EN



8. Biology (202)
Specification grid 2078

Grade: 12 Subject: Biology Theory (Bio. 202)
Competency level
Remembering Understanding Applying Higher Ability
o o o o o o o o o o o 0w | o
s S| & || s | 3|8 |8 /S)s| & |3 |£|¢
< > z |3
Z 5 Slel |z |eg |eg |z |g |e-olg |g |¢ 2 2|3
| =2 el =2 e = ] =2 | S| D] = | =] e = e | == =
o o o o o o o o o o o
o o [} o [} o [} o o [} [}
z z p4 z p4 p 4 z z 4 p
1 Plant Anatomy 8
2 Plant Physiology 20
3 Embryology 8
4 | Genetics 21
5 Biotechnology 7
6 | Applied Biology 16 |4 |4 |2 8 |3 1312 |8 1|8 |2 5 13 12 1 1|8 s> 1o 11 1al2 |16
7 | Animal tissue 8
8 Developmental Biology 6
9 Human biology 28
10 | Human Population and Health 6
Disorders
Total Marks 12 19 22 22
Item format plan
S.N. Type of item | Score per Total item Total score Time
item
1 |‘Multiple Choice Questions 1 11 11 25 minutes
2| .Short Question Answer 4 8 32 | 155 minutes
3'|.Long Question Answer 8 4 32
Grand Total 23 75 3 hours
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Remarks:

Item format in composite should be met as per the specification grid.

Designated weightage in the combined cell should be met, but £3 marks variation will be allowed within a unit/content area. But no unit can be nil.

In the case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.

The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding;-30% applying and 30% higher
ability level, but +5 percent variation will be allowed in overall question set.

SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

In such case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior-'should be approximately to the
required distribution.

Each group will consist of 4 SAQs questions with one "OR" question and 2 LAQs with one "OR" question. Botany portion will consist of 5 MCAQs and
zoology portion consists of 6 MCAQs.
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Model Question — 2078
Grade: XIlI Subject: Biology F.M.: 75

Attempt all questions.
Part: | [ Botany]
Group: A
Circle the correct answer from the given alternatives. (5x1=5)
1. There are many types of chromosomal disorders in organisms, among them euploidy.-is. very.
common in the population. Which one of the following conditions is true for euploidy?

a. Addition or deletion of one or more chromosome in diploid chromosome

b. Addition of one or more chromosome in diploid chromosome

c. Deletion of one or more chromosome in diploid chromosome

d. Addition or deletion of one set or more than one set of chromosomes in diploid

chromosome

2. The formation of two male gametes is a peculiar feature in angiosperm. If the first male gamete
is fused to oosphere, in which part does the second male gamete fuse?
a. Synergids b. Egg cell c. Polar nuclei d. Antipodal cell
3. The given vascular bundle is highly specialised by centripetal protoxylem.
What is it called?

a. Exarch b. Endarch c. Mesarch d.Centrach
4. Which of the following plants is used as bio fertilizer?
a.Volvox b. Funaria c. Azolla d. Rhizopus

5. When a plant cell is placed in hypertonic solution, it gets plasmolysed as shown in the diagram.
Which of the following occupies the space between the cell wall and the shrunken protoplast in
such plasmolysed cell?

a. Water b. Hypertonic solution
c. Isotonic solution d. Hypotonic solution
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Group -B Botany
Give short answers to the following questions. [4x 4 =16]
1. The anatomical structure of vascular plant is given. Study the given ,

diagram and answer the following questions. (1+3=4)

(a) Write the main characteristics of the given layer Y.

(b) Draw the given diagram and label the tissues which is responsible
for secondary growth. Elaborate the activities of this tissue up
to the formation of cambial ring.

2. Write the salient features of a monocot embryo in reference to its ]

development pattern with diagrams. (3+1=4) g

3. “Micropropagation is an analytical and conventional bulk breeding technique forrapid cloning
of desirable stock”. Justify the statement by describing it briefly with the‘various stages of
micropropagation technique in plants. (4)

4. What is genetic material? Describe the structure and functions of. RNA. (1+2+1=4)

OR

What are plant growth hormones? Write the physiological functions of auxin. Mention its

shortcoming of hyper use in crops.

A
A
7l

Group —C Botany
Give long answers to the following questions. [2 x8=16]

5. One of the Mendelian inheritances states that *The alleles of different traits can be segregated
during gametogenesis and passed independently’..State and explain the essential pattern of
inheritance verifying the statement with examples showing cross up to second filial generation
with chart and ratio. (1+ 3+2+2= 8)

OR
In Drosophila, an eye colour is X-linked. Explain. If white eye female Drosophila is crossed to
red eye male Drosophila, what result'do.you expect? Analyse briefly with the help of crosses.

6. How are the Glycolysis and Krebs (TCA) cycle linked? Draw a detailed flow chart of the Krebs
cycle? 4+4=8

Part: 11 (Zoology)
Group -A
Circle the carrect-answer from the given alternatives. (6 x1 =6)
1. The parasympathetic nervous system releases a hormone acetylcholine. Which one of the
following is activated by this hormone?
a.Regulate the involuntary response
b. Decrease the rate of heart beat
c. Increase blood pressure
d. Increase myocardial contractility
2.-After the release of mature ovum from the ovary, the Graffian follicle changes into corpus
luteum which is the source of female sex hormones. In the woman, what would be the condition
of corpus luteum in absence of pregnancy?
a. Secretes FSH and LH continuously
b. Secretes oxytocin and relaxin
c. Automatically degenerates after sometime
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d. Remains intact and active
3. Which of the following statement is more appropriate for early an amniocentesis test?
a. It takes place between 15™ and 20" weeks of pregnancy
b. It may cause fetal injury and lethality
c. It helps to detect fetal complications
d. It may cause infertility
4. What are the main processes involved in gastrulation of a frog?
a. Epiboly, involution, cleavage
b. Epiboly, invagination, Involution
c. Involution, epiboly, invagination
d. Involution, invagination, cleavage
5. Blood cells are formed in the bone marrow. What is the process
of formation of blood called?
a. Haemopoiesis
b. Haemolysis
c. Lymphopoiesis
d. Erythroblastosis
6. A person suddenly falls down and becomes unconscious. A doctor checked and said that it is
due to inadequate blood supply to the brain. What would.be the type of disorder?

a. Asthma
b. Syncope
c. Heart attack
d. Oedema
Group-B Zoology
Give short answers to the following questions. 4x 4 =16

1. Compare and contrast areolar tissue and adipose tissue. 2+2=4
2. Describe the process of fertilization of an egg with reference a frog. 4
OR
Describe the various steps applied in poultry farming. 4
3. Study the given diagram-and answer the following questions. 1+3=4
(a) Label A and B:
(b) Write any three differences between A and B.

4. Overpopulation-is a major issue in the development of the nation. Highlight the socio-economic
problems caused by overpopulation and mention how to solve such problems. 2+2=4

Group -C
Give long answers to the following questions. [2 x 8=16]
5. Mention the causative agent, mode of transmission, symptoms and control measures of
tuberculosis in the community.  (1+2+3+ 2 =8)
6. Draw a labelled diagram of the alimentary canal of a human being. Explain the mechanism of

the digestion of foods that a person under takes. What would happen in digestion when the
pancreas is removed? (3+4+1)

OR

1



Draw a labelled drawing of respiratory system of a human being. Why and how oxygen and
carbon dioxide are exchanged rapidly in the lungs? What would happen if a person moves to
high altitude? Write your views on how to solve it. (2 +4+ 1+1 =8)

""Best of luck"

¥Y
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frerr T faT (Edd.204)
HET IR
qqg (%) Group A’

qeTeT TEAEEP! AT Bl IO (GaIdg

Write very short answers of the following questions.

q. " e ¥ Rrenfaeret serarEraers Y 38 JaTHT el |

MWMx1=1

Write the relationship between human development and education in any two points.

3. far faeprarepr Aearsr=asra el dea JeTer |

Mention the sustainable development goal related to education.

3. FHETIF! fahTadr AT THETT R THIT F g5 PRI Foold TR |

Mentions any two causes of community mobilization for community.development.

¥, oTiea fTerr 9=l & &r 7
What is peace education?
Y. Q=T T FaehTeerl ARaravaars s SaTHl defeld |

Write the relationship between peace and development in any two points.

~

% SifeTer ATSTATRT Hexaes g5 SaTHT I THa

Present the importance of educational planning in any two points.
O, AT FTSTAT qHT &H &l 7

What is manpower planning?

<. fSTEITAT SFTT IThT B TR ATET. PRV TETe |
Write any two causes for investing in education.
%, ITUITERTTHT RTETHT NUHL A 35 HeA IJTAE d&lerd |
Write any two educational achievements in Rana Period.
0. THHTZH ITATEATAT Ul frerretrs afesitre e |
Create your own definition of quality education in 215 Century.
Q9. feramrerr farerrar it STIHTRT B TEATET HIEET dERH |

Write any two advantages of private investment in school education.

9HE (&) Group (B)

GECIIEE LIl il Ll T

Write short answers to the following questions.
9. et faeprarept @i TumeieaRaTe Rretrer w&dr i ate Toar 7

¥

T XY =Yoo



What should be done the role of education from local level for sustainable development?
AT

feTr faeprarert @& atfae T Reretrenr sqfAeRT dfe=nd T |

Identify the role of education for achieving the sustainable development goals.
3. Rrerrept faeTerdT qHETISR derdare! dAfqalig T9 Al I T TR |

Present the behavioural ways of promoting the community involvement in education

development.
Q¥ ARTRE ReTerr Hewdars are & F9 TR |

Describe civic education in five points.

. RTEATHT FHAT T FHAAT =D (AdTdTs IUTEd IIE0Hed T&dd THe < |
Present the difference between equity and equality in education-with:suitable examples.
%, TUTEHT TATHT THIIAT @ F T8 grgepl e THerE | &7 §7g THTITH] AT AGATST Afebet
TaRINE IUTT HTS Tl |
Identify any two conflicts occurred in your local ecommunity. Suggest behavioural ways to
resolve those conflicts.
Q. T ATl ATTHAH TRATATH] ATHANT D A GG EATH qiHAHT afe=md THe |
Identify the role of community organizations for maximum mobilizing of the local resources.
9z, fretor faehTeaT TTeas TS HEY FART I Flehes, 7 F I qIXHT TEAT TR |
How do use curriculum in teaching:learning? Present any five ways.
Agqr
qeargshers faamdier faarear wa<r wanT T 9fhg 7 FT 9= qiReR T TR |
How do use assessment in students' learning? Present any five ways.
9%, RTEFAT TR ST BT T B g ARHTAE BT A0 T
Describe any two ways of teachers' professional development.

THE (M)
Group (C)

TAHT TEABHN ATHT I TR | Ix & =R¥

Write long answers of the following questions.
0. [aeTEET AMes, ATHISTE TIT AT (qehree AT T fretfer=re! ARy A T el |

%2,



Explain the interrelationship between education and economic, social and human dimensions

of development.

9. ATEATTF RIBHT (TIHT FTA=AAT FAIT T el ARATIT ATAETF AR TE=TT T SISH< AT

R

=TIl THe |
Identify and explain any four behavioural ways to promote public awareness in public
concerns.

AT
faremerar farerra fafaurdr soa=amas 9 F7 =R ATEEINE qRE Ife=TT T GebTHT SaTe
THETH |

Identify and explain any four behavioural ways to manage diversity-in school education.
faremersr QaR Aot HETT T AifEereTE AR SeTHT yead AR, | e i drsErarg
JATIFRT TTHT FATEIIT T F AAAET ST IEATT TR SEHAAT AT THE |

Present the rationale of making school improvement plan‘inany four points. Explain any three

ways to implement the school improvement plan-effectively.
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qo. e (Geo.206)

fafirsdreeor afererr

fawr s (Geo.206) Igifee FeaTeh e IR
T EPACAES RG] Bl are TN JEAREAN ST ge | ST Hh
9 AR A= £ 9 9 R R
R e T %0 q q q R 9 q q 2| oH 9 3
3 HITE T Y 3 q q q q ¥ | 9 q v
¥ AATETRT ST 30 q q q T 01| 9 3| R Q 9
£l TARTICAE AT ¥o

ST 9¥o L3 R ¥ R q 9 9 9 9 E 9 19 T E 2
e .
o T TIAT TIF q ASHH & T T THATH Ao Uehlg TAIET I 99 W9 T&T S |
o TIAT UIH U HATHHT & T, ThTAH o UHIGH! T g7 T 5 WoH &+ B T F g5 TITAT [Gehed T97 & S |
o O YIH & ATHHN & B T 3 TIH & G T FH T3l TIFHAT {dhed JoF & g |
o S TEHAT IUISHHN R0 YIAMTHT qdEH T, I=AGLAT TEAT R0 TTATAHT THEA T T A TEHT ATALIFATATAR FH & B |
o T TEHT fATART THfT T AFLTFATHTAR AT BIaT, Brel I ATH I9F T8 S | o TeAT T @IAHT JIT @A ATAar 69 | STAREarS=ia faveyo,

HATSHA T (qeATcHbagsiaed & S |

o UHFE Y YANTCHSE AN ¥O UTEEUETH] TATTCHE, 1 T HeAThA T grTel Jgliwdeh GUSHT J97 ARGTHT T |
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e (Geography [Geo.206])
e (Grade): X11

wwa (Time): 3 Hrs. quites (Full Marks): 75
TSI THaTH TR AT HT HifeTsh AR fGa 3 | FharrT [agust sgehel quligsres THISs,
| (The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

T & (Group A)
afq wefr<r saend gees (Very Short Answer Questions)
T yeeew g« e (Attempt All Questions) (11x1=11)

Q. AUTAPT Fe T TR TSR FTTHTAT AT |
Write the sub-divisions of any one geographical region of Nepal.

R TATABT AT TrATIT e GSATT (90T AGTEI |
Mention any two integrated subjects in geography of Nepal.
3 HEEITHT GATIT U aTRAT [Sard |

Define delta in a sentence.

¥ HOT ETATIIHTRT JIOTHT qTg el g5 T (qehl ATH AETEld |

Write the names of any two-vegetation found in tropical climate region.
YA I Al & 81 7 Ueh AT dETary |

What is human geography? Write in a sentence.
% STEEEI qigd TS FF TF THDAT TEEA |

Write any one problem caused by the population growth.

9 I TFHIRH B b FRU Wl GIATS ) HH T e T T ACTE |

Identify any one causes-of-high fertility rate and also suggest a measure to minimize it.

©. TS TEETT T TUHl STA-TERTS TP F T TG AT |
Write any one effects brought by migration in your area.
? TATAHT FATAATART FH T FRO ACTE |
Write any-one cause of deforestation in Nepal.
Q0. FYTeTeR] ETATITHTHT TT9 9T e 334laT aed JT&Teld |

Mention any two factors that affect Nepal's climate.
Q9. FITETHT TATHHATE ATHY T F T AT AT |

Prepare a slogan to attract tourist in Nepal.

T @ (Group B)
< Saaead gees (Short Answer Questions)

4R



oy g« e | (Attempt All Questions.) (8x5=40)

R 9ad R gfRaTe! arHT S HT JTETed |
Explain the mountain formation process in short.
#aat(Or)

fEarer STUEHT ARAATHT ATHT BIEHAHT ATl |
Write briefly about the structures built by glacier.

93.7TETT BTH BISHAT ACTRY |
Write the functions of river in short.
¥ AT TRATT TAHT & &7 ? BITHUAAT TCTerd |
What is climate change? Write in brief.
Q¥ TATSHT &TTHT qTeT FTHfqw TAedfd A& T IIT TATSRI |
Suggest the measures to protect the natural vegetation of your-area.

o oo

Q& TUTERT ETHT qrge SAfereh fafaerdn JRerr T At ars ey |

Present a plan for the protection of Bio-diversity inyour area.

99, TUTSHT STFHT ATATARY FAT AT AP A ATT=IATS @Iaeh AT AU THE |

N

Write a short description about the interrelationship between human and environment in
your area.

9. THTETHT AR ST STARTAR GEhaHT AeTaid |
Describe the trend of utilization of solar resource in Nepal.

=gt (Or)

TITAHT T IURTHN HET SIeahdl defeld |
Write the importance of tourism industry of Nepal in short.

%, TAATTT FETFU oY AT (FraTss | A7 THATATE THTETT T F T 37ar
YT -FATI T |

Unplanned urbanization causes many problems. Suggest any five measures to overcome
the problem.

Tz 7 (Group C)
A SacHs weee (Long Answer Questions)
T ye &= e | (Attempt All Questions.) (3X8=24)

0. q&TIHT FRUT AT T ATET AXEATH I TATSTEIE |

Analyze the causes of soil degradation and also suggest the measures for the conservation
of soil.

gt (Or)

13



qUTE SETETT TLHT &AhT STATITHT T Aedfqieraierl AeaeaFavael ==l T |

Describe the interrelationship between the climate and vegetation of your area.

2. fATorT e IARTHT AT FHR T q<d ATl TR ¥ BTaTaHIe! d8R a1 defeld |

Explain the factors that affect the existence of construction based industries and also

describe the effects of climate.

R TR FETTATA AATAR] AGEATATD] [FAITATS TR IR |

Shed light the distribution of cash crops of Nepal through map.

Y



11. Legal Drafting ([Led. 210]

Test Specification Chart

Legal Drafting( Plan for Question and distribution of marks covered

Un | Content Area Teachin | Knowledge | Comprehension | Application | Higher Total Question | Total Total
it g Hours Ability covered Question | Marks
VS S |LVS S |L|VS S LUVS |[S|HVS [S |L
1 Introduction to Legal | 8
Drafting
1 1 1 1 |- |2 6
2 | Drafting of Court |25
Documents
1 1 1 1 2 1 |1 |4 15
3 | Drafting of Private | 15
Transaction
Documents
1 1
4 | Drafting of | 15
Commercial
Transaction
Documents 1 1 1)1 4 1|16 17
5 Drafting of | 10
Documents in
General Use .
6 Drafting other|/7 ]
documents
1 1 1 2 2 |- |4 12
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Notes:

1. The alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth and
coverage of the contents.

2. Very short question will be of one (1) mark and there will be nine (9) questions from each of the chapters to the possible extent.

3. Short question will be of five (5) marks and there will be five (5) questions from each of the chapters to the possible extent. All
the questions shall be compulsory. However, two alternative questions will be added to any two questions among the total
questions asked.

4. There will be two (2) long questions carrying eight (8) marks. All the questions-shall be compulsory. However, one alternative
question will be added to any one of the two questions.

5. The weightage of the question shall not exceed twenty percent in knowledge level, no less than 20 percent in higher efficiency
and in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question Total marks
Very short answer type 9 9x1=9
Short answer type 5 5x5=25
Long answer type 2 2x8=16

Note: Numbering of the questions should.be arranged from first very short questions (Q.N. 1 to 9), short answer questions (Q.N.
10 to 14) and long answer questions (Q.N. 15 and 16).
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& w=@rar (Legal Drafting [Led. 210])

e (Grade): Xl

wwa(Time) : 2 Hrs. quires (Full Marks): 50
TSt FHEE AT WeEAT Wifae I HATT B | AR RS aewe ieEeTs aes,
| (The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

T & (Group A)
st wefr< Swens geew (Very Short Answer Questions)

¥ yewer 9o} R (Attempt All Questions.) 9x1=9)
1. fa@a we s & 21 7

2.

3.

10.

11.

12.

13.

What is deed (likhat)?

EERERCE A

What is meant by registration of complaints?

AT Tl fob SRT Tiews; 7

Why arrest warrant (thunuwa purji) is issued?

AT FRIERHT TANT & % q5 [geel A7 Jeferd |

Name any two private transaction documents.

TFT FRIERE! [TGTHT GATIT T ATAYAF qT & % g ¢

What are the elements that need to be disclosedin private transaction documents?
SATIEaT fadet 99 qeTE |

Write the meaning of advance payment deed.

FATHIH forad ford amasaes ade 7

Why deed of contract is necessary?

faemfed oo aeer & 21 7

What is recommendation letter?

AT TN  BThR & [aeAta=e! ®yed F@rsderd |

Show the difference between peshi sthagitko nibedan and hajir huneko nibedan.

w1 @ (Group B)
i< Saes yee® (Short Answer Questions)

T gyt 9a} fe e | (Attempt All Questions) (5x5=25)
PTAAT AT AAHT & &7 7 FIAAT HLATGTH! ATTTHATAT (T THER | +3
What is deed? Explain the need of legal draft.
TR ATTATH AAFT & &1 7 FEAT LT AT AEATHT (@87 790 THEr | 3+3
What is meant by power of attorney? In which condition power of attorney is issued?
Explain.
Fite aegehl fa@d vl & & 7 ghe aegehl fa@aad! THAT TaR THaE | 343
What is Dristibandhaki likhat ? Draft a sample of Dristibandhaki likhat.
srran(Or)
AT aegeh! fa@a 9l & 21 7 9RT gegehl fa@del THAT qaR THar | +3

What is bhogbandhaki likhat ? Draft a sample of bhogbandhaki likhat.
ARTREATHT (RIS AT AT ATaead HET & & g 7 AAH] Bt aeAT Ioi@ THalE | R+3
What are documents required to get recommendation of citizenship? State its procedures.

19



14.

15.

16.

FHEAT TAT IAATAATHT bl & &1 7 FHEATT T SAAIAHT  fo=Iehl [eTar @rserd | 3+R
What are summons and italayanama? Show the difference between summons and
italayanama.

#aar(Or)

fFRTaT el & 21 ¢ RRReTs et e fedod &1 & & g 7 +3
What is deed of complaints? What are the things to be considered while drafting deed.of
complaints?

e W (Group C)
M STHs TRee (Long Answer Questions)
o yreeE Iu) faE | (Attempt All Questions) (2 X 8=16)

ARG TAH] AHT Jooid Tald | Fifear FRerg SATIeTeh AN ATaedes I SR [aeeioor THard |
3+Y

State the letter of re-appeal. Evaluate the grounds necessary for.the\issuance of Jhagaddiya

jhikauneko aadesh.

e (or)

AT T faed e & AT faRiid 9 faq saead w1 ¥ dfearer aeAr I= T |

What are the necessary documents and procedures-required to get letter of recommendation

to connect water and electricity? Discuss.

ST fagdet e smavad 9w 7 SATIeaT faEdet GHAT §AR T | 3+Y

Why advance payment deed (Bainapatta) is needed ? Draft a sample of advance payment

deed (Bainapatta).

L8~



3. FETTTE [Soc.212])

HGTTF HATSHA

THT | qETAE BiGH CIES TART Eiektisll STEAT g9 TEATAE
FAR
| e | ufg | ar|r| wrer | uafq | || ger | Afq | Ardr | ger | atq | |rEr | grer |osAtg

9. TATATTSH AFHTAT T ALY q q q 9 2
[IATIRITRT ATATHES

2. it gfvadd T 99T 93 q q q q q 3 S

3. TSI fafgear aon R0 q q q q 93
TehdT

¥, THISTE GET 94 q q R q0

9. TUTTHT THZERTS T 90 9 q q q R |90
FEE

% ferepTaehT AT ¥ q q q q q 3 G

) AAHT UA Ffear 0 9 9 9 9 |

S TSI AEeaT fate 1% q q R [
JATTTF FH0 T T
Eprealiciil

90 9 q ¥ 9q 3 B R R 9q R R 3 [~ 14 9

ST

TR AT BIAT TIF q ASHH &7 T T THIFH T ThTg THET T 99 T T B | . TSN T L ASHH &7 T ¥ THATH Tl THIGH! YA g1 T 5 J9F T B a9 7 39
yoe AT faheq fad Afeh @ | ATHT 97 o AgHFT BT SR T3 WIT e I AT FKA U YITHT facheq fad IR © | A JeWT qugHFT R0 FAATHT TG LI, I=H I TEHT R0 FIATTHT
T T T AT TEHT ATAAHAT ATAR J9F el @A--T TEHT [q0ehT I ¥ AaeaFarar dfq @ier, gier T ard Yo 8 S | T TeH G @Il Y97 @ Afandr g49 | 59
TEHAAT A= [AIAT, TeATEHA T [ASATcHE Teehl-Te+ & B |
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e (Sociology [Soc.212])
Fe&m (Grade): XIlI
w7 (Time): 3 Hrs. qutes (Full Marks): 75
ToreTder WHEETET TR e WA SO A 3 | AR fguer dwer qoresers wrss | (The
candidates are required to give their answers in their own words as far as practicable. The
figures in the margin indicate full marks.)
e % (Group A)
i aefr Savws yees (Very Short Answer Questions)
T 73 g« e (Attempt All Questions) (11x1=11)
. AFATAATH! Teh ATRAAT ARATHT &R |
Define inequality in a sentence.
3. ATHEISE GRadT Teehl & &l 7
What is meant by social change?
3. T afvade SAfHdeRT AR 9 G E g8 TTF IR T
Present any two impacts that could be caused in an-individual with the change of
profession.
¥ IO ATelehT STecvTehl WRUGT AT g7 o, o 7
Remittance can 't be a reliable means of Nepalese economy. Why?
Y. TATEARTEHN o 5 FRU TCTard |
State any two causes of migration.
% HEUAHIU HAH & Bl ?
What is meant by Urbanization?
o, foepTEep] THTSIAMTEAT HTIRIT AETRH |
Write the sociological concept.of development.
o, ASHAAT TAH & & 7
What do you mean by Federalism?
Q. AT WTSRTE e fehe. Ao ey ¢ g5 T feEe |
Why is provincial development challenging in Nepal? Give two proofs.
Q0. Al (Ffean) U, R09% FHlee @ FrAT=EIT TUH &1 ? R Afd TETe- |
When was CIVI| (codified) code, 2074 |mplemented’7 Write full date.
9. FTHTSTHT TEREh] JTATS TS JTF TUEA & B T{TUH B 7
What works have you done to prevent social inequality existing in society?
T
Group B

el S s ayEee (Short answer questions) (8x5=40)

I gy Suv fege (Attempt all questlons)
QR. TITAHT G TSGR T=RT TFed J&qd e |
Present the relation between profession and livelihood in Nepal.
3. ‘| fafaerdr S FHISTH e el | a0, IaTexvdied aar T el |
‘Social diversity is the identity of Nepalese society.” Explain with examples.
raar (or),
GHTRITHUTETE. FHISTHT ST g THET GHTETHT AT AT adTg e |
Make a plan to solve the problems borne by marginalization.
¥, qYTEAT ARER AT ATTH TR & & B 7 AN BTHT Joeid T{erd |

%0



What are the changes seen in the Nepalese family custom? Mention in points.
QY. WTOATTHT FTHTNSTER FEATl TR F1A faariad 95 Arastiie S [l g4 TRl qerg | I8 =sH
ATHT IR e ard |
The works carried out by social institutions in Nepal are commented on and publicly
criticized. Write your opinions in this regard.
9%, TATAHT T TahTaeT AATHER oot T8 g5 A=l a1 IR e |
Prepare a dialogue between two friends mentioning the dimensions of local
development in Nepal.
Q9. Hh! UAP! FH T HAAUVST HEA IS SATHT AT TANT ARG AU &, AeTerd |
In what ways are the section of property and its division mentioned in_civil code
applicable for your life? Write down.
15. FTATSE ATIATTHT TATT AATTH Hewd deield |
Write down the importance of field study in social research.
Q8. qUET FH Tk ATI=ITT Tl EIe, IHT AR FTAGR! TR T -FL IS JETe |
You might have made a research, now write the introduction and-objectives part of
report of the research.

Fgar (or),
TITAHT SATSERTS TArd el (eI THa |
Analyze the trend of migration in Nepal.

e T

AT JAHF Feew (Short answer questions) IXs = ¥

I gy SO feqga (Attempt all questions)

R0, AT FHTSTHT SATHTAATHT ATATHRT [aFITHT Bl e |

Discuss in detail the dimensions.of inequality in Nepalese society.
sraar (or),

ferameer afedTa fog a9t g == THad |

Define marriage and discuss its functions.

2|, HAREATHT FALTAF TAAAS HTHART AT T THETTATS [TebTeT HALTHT ATTHN TR F&q
TS T o TAR_ATTer|
Prepare an-article’ presenting the instances of mainstreaming the marginalized
castes and community in development via reservations of the constitutional
provisions:

R, AITHH] WEJHRTATS HATIT T & HEAT I AR A9, ? AT THR |
What type of strategies should be prepared for the management of urbanization in
Nepal? Explain them.

«1



93. HAEANIE FAT, [Bus.216])

HET R

g9 ASTHAT AT AGHFAR faewor

TehT ENACAES RIEY] Bl ELE] R Eeitil STFT AEHAR
2 TN afr |ger|amr| T (@ gt |@rer|amr| wfw  |@erarr| ufT |@rer| | s
Q1 |[HAITIAHT TeBiT 10 9 q % 1 | 19
R | AT AT ET G

FALYTRUT
3 |drerr qar fAei glear ik q q q q 949 3 0| s |
¥ | HUe® RO
Y ﬁ?la G q q q q q q 3 0| © 9
& A= &
9 | FFIIRT FIEE R0
S | HFTAE TIZATTHY 1% R q Q 3 % 5

fares
R | TEdTie T W@ R® Q Q q q 4l s |y
0 | ATFHIE AT s

AT 20 ? E 3 3 2 2|9 | R 99 | ¥o | ¥ | W

T - q. AT FreT 99T q ASHEBLET T T THAEH G TehTg FAET T 99 TIF 8 B | el I9F ¥ ASHFN g7 G T qhavq T Thrgadl Fiariae
T T © YT @A B WY A g3 AT [qehed G ABT B | ATHT U9 © AGHF B B T 3 WIH Ted B AT FA U YITAHT faebeq faT IR w1 ;9 qeHw
QUITGEReRT R0 FIASTTAT T T, I=F F&7dT TEHT R0 ATITAHT Toa" T ¥ q7F TeHT ATAITFATATIR T T8 T | T JeHT [audepl TebfeT T
ATAYAFATTAR AT GIeT, SIaT ¥ AT I & I | G TEHT ol @Il G @I AT g | Ioof TETaATSAI [aeeqToT, HeATgeh ¥ faotarcas Jaeht
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sraaae sera_ (Business Studies [Bus.216])
e (Grade): X11
&g (Time): 3 Hrs. quites (Full Marks): 75
RIS THAFH AR AT HT Hifersh AR 69 @ | FFaRTaAT fagust g quigserg I1es |
(The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)
e % (Group A)

i aefr Saaws yees (Very Short Answer Questions)
T3 73 g« e (Attempt All Questions) (11x1=11)
. FAITIAATS TR TEr |

Define management?
R AR H g5 ATHT Ieoi THRIE |

State any two pitfalls of planning.
3. M % A & AR,

What do you mean by decision making?
¥, CbMICHdv SENIEN GTTTh GIEiI SEIES ‘Tl_ﬂm |

Draw a functional organization structure.
Y. oERHhl ThR delard |

Write the types of communication.
& qURAL qHT F 2T 7

What is supervision?
9, FHATIHT ATNT IRV b HewdI0l g, 7

Why motivation is important for.employee?
o IR @ SHaEATITH %, 35 [99dT Joid TR |

State any two feature of familybusiness management.
Q. AT SEAT AT HARL & &I 7

What is supply chain management?
Q0. UfTHT SHATATIH FGSAHBF AINT [hd He<aqul &7, 7

Why talent management is important for an organization?
4. FATFEIfIE FAF AU GG TR |

List out the.qualities of business letter.

¥qe @ (Group B)
T SaaeRs yeeee (Short Answer Questions)

a9 7ee® ga e | (Attempt All Questions.) (8x5=40)
R, FALITIAATE T FHATH SIHT ATAT TR |

"Management is an art". Explain.
93. RTATASR! TMAF AALATITH] (G F&TH] AT THar |

Beirfly discuss the Fayol's administrative management theory.
1¥. TIaT ATFANIF TESTAT HATATTH Ha<l (A0 fevge ?

How managers make decision in a business organization?

Faar(or)

%3



SATIATIIE TSISTHT ATSTATR! T TSETHT AT e |
Briefly describe the rationale of planning in a business organization.
4. ST FEF (g AT Teld |
Explain principles of organizing.
&, AT BIH ATLATIHH THPT (9T THRE |
Analyze the role of manager as a leader.
Q. THTEFERT [HIAUHT AaedqF e q0 Tl |
Describe essentials of an effective control.
Fgar(or)
THTIHTT T=ATRHT FATAHIE T AIRT HaRT T T |
Elucidate psychological and semantic barriers of effective communication.
15, AR LTI T & &1 ? TGH qd Fa) T{erd | 2+3
What is quality management? Discuss its components.
9%, TR FeTddh Yahl AT T3 ATgad IF dIdrR ﬂﬂ?ﬁ?‘p
Draft an application letter for the post of marketing assistant.

e T (Group C)
N STcRe TeAe® (Long Answer. Questions)
T g3+ &« e | (Attempt All Questions.) (3X8=24)
0. I HATIFE® AGTAR TATIST T (b ATegsh Gra ¢ AGTAR JATATSA T faeheaieheat
F A AT I TR | 5+3

Why top managers are unwilling to delegate authority? State any three
differences between delegation and'decentralization of authority.
Y. AR IR [FGTIeh! ATATAATHE ATt Tl |
Critically examine the Maslow's.theory of motivation.
R, IHE T FHEL TE TS ATTAAF AT TR IR |
Formulate a business plan.including its major elements.
rerar(or)
&g HARATIT TH & &f.| TUSH! [TaRAT F TGTSTAT §rg (AT gl FRU & g7 qFS
What is conflict management? What do you think, what could be the cause of
conflict in anarganization? 3+5
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14.Chemistry
Test Specification Chart 2078

Grade: 12 Subject: Chemistry Theory (Che, 302)
Competency level
Remembering Understanding Applying Higher Ability
- s | 200 0L0O 200 L0 <O 200 00| 4O 200 nLg <O 2
8 5~
<L -8 % %) %) %) %) %) %) 7 %) %) %) =
z = ERlE s |5 |5 |5 |5 |5 |5 15 |5 |s
(@] © © © © © © [5°1 © © 5+ ©
1912192989219 2(92 958192929292 5
o o o o o o o o o o o
2 2 2 2 2 S 2 2 2 2 2
1 | Physical chemistry 40 22
2 | Inorganic chemistry | 20 12
- - 2 |2 |2 |10 |[51|5 (1|5 |1 |8 {43 (3 (2 |10 |21 {8 |1 |1 |3 |15 |1 |8
3 | Organic chemistry 55 33
4 | Applied chemistry 13 8
Total | 128 12 18 21 24 75
Item format plan
S.N. Type of item | Score per Total item Total score Time
item
1 | Multiple Choice Questions 1 11 11 25 minutes
2 | Short Question Answer 5 8 40 | 155 minutes
3 | Long Question Answer 8 3 24
Grand Total 22 75 3 hours
Remarks:

e Item format in composite should be met as per the specification grid.

o Designated weightage in the.combined cell should be met, but +3 marks variation will be allowed within a unit/content area. But no unit can be nil.

e Inthe case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.

e The distribution of cognitive'domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and 30% higher

ability level, but £5-percent variation will be allowed in overall question set.

SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

e Insuch case these will be added to their respective cognitive behavior. In sum the distribution of cognitive behavior should be approximately to the
required distribution. In case of SAQ there will be 2 "OR" questions and in case of LAQ there will be 2 "OR" question.

%




Model Question
School Leaving Certificate Examination

2078
Grade: XII Subject: Chemistry Subject Code: 302
Full marks: 75 (11 marks Obj+ 64 marks Sub) Time: 3 Hours
Group A: Multiple Choice Questions (11x1 = 11) Time 25 Minutes

Tick the correct answer.

. What is the equivalent weight of H3POs in the reaction; 2NaOH + H3PO3 — Na,HPO3 + 2H,O

A) 2M B) M/1 C) M/2 D) M/3
. The solubility product of chalk is 9.3 x 108, What is its solubility‘in gram per liter?
A)3.04 x 10?1 B) 3.04 x 10 C) 3.04 x 10° D) 3.04 x 10

. What is the concentration of N2Os in the following first order.reaction in which the rate

is 2.4 x 10 mol/L and rate constant is 3.0 x 10°S1?

2N20s5 —— 4NO» + O

A) 0.04 B) 0.8 C) 1.2 D) 1.4
. What happens when the lead storage battery is-discharged?

A) SO is evolved B) PbSOs is consumed

C) Lead is formed D) H2SO4 is consumed

. What is the general electronic configuration of transition metal?

A) (n-1)s?p®d %522 B) (n-1)s?p®ns?np? C) (n-1)s?p®d®nst D)(n-1)s?p®nst
. Which of the following ore is concentrated by forth-flotation process?

A) Hematite B) Siderite C) Galena D) Malachite

. Which of the following products is obtained when nitrobenzene is electrolytically
reduced?

A) P-aminophenol B) azobenzene C) azoxybenzene D)
hydrazobenzene

~Which of the following compounds is pi-bonded organo-metallic compound which has
ethene as one of its component and is the first synthesized organometallic compound?

A) Zeise’s salt B) Ferrocene C) Dibenzene chromium D) Tetraethyl tin

&%



9. What effect does calcium sulphate have on cement?

A) Retards setting action  B) Acts as flux C) Imparts color D) Reduces strength
10. Removal of which of the following leads to higher fiber-fiber bonding strength in

paper? .

A) Softwood B) Hardwood C) Lignin D) Pulp

11. In the figure given below which one is correct?

P
Lead block \A

‘ .

S
Radioactive substance Electrically charged Photographic /\
plates plate

A) Alpha rays deviate towards A, beta rays deviate towards C:and gamma rays direct
towards B.

B) Alpha rays direct towards B, beta rays deviate towards C and gamma rays towards
A.

C) Alpha rays deviate towards C, beta rays direct towards B and gamma rays towards
A.

D Alpha rays deviate towards C, beta.rays deviate towards A and gamma rays direct

towards B.

A



1.

3.

Model Question
School Leaving Certificate Examination

2078
Grade: XII Subject: Chemistry Subject Code: 302
Full marks: 75 (11 marks Obj + 64 marks Sub) Time: 3 Hours

Attempt all the questions.
Group B: Short Answer Questions (8x5 = 40)

Standard solution of Na,COs is used to determine the strength of H.SO4 during Titration.

A) How is the completion of the reaction in this titration detected? Is the solution prepared
from Na>COs primary standard? Why? [1+1]
B) 2.16 g of pure Na,COs is added to 400 ml deci-normal solution of H.SO4. How many
grams of H2SOq is further required to neutralize the resultant solution completely? [3]
OR
A) Derive the relation k =log %03 Iogﬁ . Show that for the first order reaction the time

required for half the change (half life period) is.independent of the initial concentration.
(2+1)

B) A first order reaction is 50% completed in 1.26x10°. How much time would it take for
90% completion? (2)

Study the following data for the-thermodynamic process H.O (I) —— H20 (s) at different

temperatures and at 1 atmospheric pressure.

Condition | Temperature Entropy change in J/Kmol™
Entropy of system Entropy of surrounding

1 -1°C -25.68 +25.72

2 0°C -26.55 +26.88

3 +1°C -27.62 +27.42

Calculate the total entropy of the universe at given condition 3. (1)
Can we predict the spontaneity of the given reaction at 0°C? (1)
Calculate the equilibrium constant for the fusion of ice at 1°C. What is the effect of

temperature for the entropy change of reaction? (2+1)

The figure shows the octahedral distortion of d-block orbital in the presence of ligand.

1
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a.  Why does octahedral distortion occur in the presence of ligand? Explain on the basis of
CFT. (2)

b. On the basis of the given distortion, how can you explain [Cu(H20)6]"" is blue colored
complex. (1)

c. Outof Fe™ and Fe™* which one is more stable? Explain on the basis of distortion seen in
the above figure. (1)

d.  Why do such elements which give such splitting show good. catalytic properties? (1)

4. Xis an ore of a metal M. X on calcination gives black precipitate (W) of metal oxide which
belongs to group 11 of basic radical in qualitative analysis. X on roasting gives the metal (M)
and a gas as major byproduct. The gas when passed through an acidified K2Cr.O7 solution
turns green.

a. ldentify the metal X. 1)

b. Write the reaction involved during calcination of X. (1)
c. Write the action of the gas on acidified KoCr207. (1)

d. Convert metal X into it’s vitriol. (2)

5. The given table shows the compounds and their molecular formula. How can you convert P
to Q, where Q is a compound.in'which two methyl groups are substituted at adjacent carbons?
How is P obtained from T, where T is secondary alcohol? Write the reactions involved in the
conversion of P into R and S? [5x1=5]

Compounds Molecular formula
P Cs3H7Br
Q CeHu4
R CH20
S C2oH4O
T C3HsO
OR

An aromatic compound [A] in which one chlorine atom is substituted at benzene ring. When
the compound [A] is heated with 2, 2, 2-trichloro ethanal in presence of conc. H.SO4 gives an
insecticide [B]. The compound [A] when treated with an acid chloride containing two carbon
atoms in the presence of anhydrous AIClI3 gives [C].

a. ldentifyBand C. (1 +1)

RN



10.

b. Reaction of ag. NaOH on the compound [A] is more difficult than with chloroethane, justify
with a suitable explanation. (2)
¢. How would you obtain compound A from benzene diazonium chloride? (1)
A list of compounds are given as follows:
| p-hydroxyazobenzene, CsHsN2Cl, CsHsNHz, CsHsNO2, CsHe |
From the above list of compounds, prepare a sequence of reaction chain with suitable
conditions and reactions. (1+1+1+1+1)
Write down the isomeric alcohols of C3sHgO and their IUPAC name. How would you-apply
Victor Meyer's test to distinguish these isomers? (2+3)
A) Define condensation polymerization. Write the molecular structures of monomers of
Bakelite. (1+2)
B) Differentiate between OPC and PPC cement. (2

Group C: Long Answer Questions (3 x 8 = 24)
(A) What amount of Zn(OH), will be precipitated out at 25°C,if 100 ml of 0.22gm NaOH is
added to 1 liter of a saturated solution of Zn(OH)>? Precipitate‘is obtained in this reaction ,

why? [Solubility product of Zn(OH); at 25°C is 1.8 x.104] (4+1)
(B) Potassium hydroxide having pH 8 is diluted 1000 times. Calculate the pH of the diluted
base. 3)
OR

(A) Calculate heat of formation of ethyl-alcohol from the given data. 4)

Heat of combustion of ethyl alcohol -330 kcal

Heat of formation of Carbendioxide -94 kcal

Heat of formation of water -68.5 kcal

(B) The standard electrode potential for the following electrode reaction at standard state is
given.

Cus) — Cu*"(ag) +2¢e................. E° Cu™*/Cu= +0.34V

AgT(ag) + & —>AGB) e E® Ag*/Ag=+0.80V

a. Write the cell notation indicating anode and cathode. (1)

b. With 1M solution of ion at 25°C and 1atm. pressure, what will be the cell potential? (1)

c. Calculate the free energy change in the reaction. (1)

d. -.Can we store AgNOz solution in a copper vessel? (1)

(A) A-primary alcohol with molecular wt. 46 is boiled with sodium hydroxide and iodine.
When the same alcohol is heated with ethanoic acid in presence of conc. H2SOa, one of the
derivatives of carboxylic acid is obtained. Write the reactions involved in both conditions.
What would be the product obtained when the same alcohol is heated with conc.H2S04? How
would you distinguish the above alcohol from methanol? [1+1+1+1+1=5]

(B) An aromatic compound known as oil of mirabane is prepared from benzene.

a. What product would you obtain when the compound is electrolyzed in acidic medium?

1)

o)



b. Give the complete reaction for the conversion of the compound into yellow dye. (2)

11.

(A) An organic compound is used in the given figure to preserve museum specimens

and also to prepare urinary antiseptics.

a. Write the reaction when the compound is heated with concentrated sodium
hydroxide. (1)

b. Draw the structure of urinary antiseptic (1)

c. Write the chemical reaction that would occur when the given preservative

is treated with phenol in acidic medium. (2)
d. How would you obtain the preservative from methanol? (1)
(B) A carbonyl compound with molecular formula C3HsO (it does not give silver mirror test) has
treated with a compound Y which gives Z. Z on hydrolysisin.acidic medium gives 2-hydroxy-
2-methyl propanoic acid. Identify the carbonyl compound, Y and Z with proper reactions.
[1+1+1]
OR

(A) Starting from compound P, how do _the reactions proceed ahead to obtain T which gives
benzene where R is aniline? Complete the reaction sequence with suitable conditions. [5x1=5]

T P
S Q
R
(B) Arrange the given compounds according to their ascending order of acidic strength and justify
your order.
CH3€H>COO0H, CsHsCOOH, CICH2CH>COOH [1+1+1]

The End



Appendix

Test Matrix
SN | Chapter Area/TH Weightage MCQ SAQ LAQ
(TH)
1 Volumetric Physical 8 1 1
analysis Chemistry
2 lonic equilibrium 40 10 1
3 Chemical kinetics | (22 Marks) 7
4 Thermodynamics 8 3
5 Electrochemistry 7 (5)
6 Transition metal Inorganic 5
7 Heavy metal 20 15
(12 Marks)
8 Haloalkanes 8
9 Haloarenes CCﬁrga_nlc 3
10 | Alcohols eg‘S'Stry 7 (5)
11 | Phenols (33 Marks) 4 1
12 Ethers 2
13 | Aldehydes and 10 1
ketones
14 | Carboxylic acids 9 1
15 Nitro compounds 3 1
16 | Amino 7 1 3
compounds
17 Organometallic 2 1
compounds
18 | Chemistry in Applied 4 3)
service to Chemistry
mankind 13
19 | Cement (8 Marks) 4 @)
20 Paper-and-pulp 3
21 Nuclear chemistry 2
Total 128 (75 128 11 40 24
Marks)

Note: This is the test matrix prepared for this set only but for other sets of questions test

matrix may be varied.
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geeer (Economics [Eco.304])
e (Grade): XII
wwg (Time): 3 Hrs. guites (Full Marks): 75

TSt TR TR ST AifE IR G B | AR frguar s e e s |
(The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

T & (Group A)
afq wefr<r saend gres (Very Short Answer Questions)
s yeeE g« TR (Attempt All Questions) (11x1=11)

1. fafurd srdegaearet & qEaTar faddr deTEe |

(Write any two features of mixed economy.)
2. af% & TIAT HHH[ FA AT 5, ¥000 T el A . 3300 WU kel AR Gl LI |

(If total revenue of a firm is Rs. 4000 and total cost is Rs. 3300 then find the total profit.)
3. TTHTE AT AR F Bl

(What is government revenue?)
4, =R F=qe ¥ qEI ATl E gealel Ma=IdT Jeerd |

(Write any two differences between balance of trade and balance of payments.)
5. Aa faehra GerIehHT & qe4lal AERAT qFd9 el |

(Write any two basic components of Human Development Index.)
6. faea =R ASITET FHHI F B 7

(What is World Trade Organization?)
7. qUTHT FATAHT (TITUHT F g5 el JTART AEAeTd |

(Write any two productive uses of remittance in Nepalese economy.)
. fair faehTarerT 99 3ieT AETHEY TR ATNT IS &THT FIEIHE el d&d & 2l ?

(Which one of the 17 goals of sustainable development is not directly relevant to Nepal?)
9. TeATEFTEF! TR TR |

(Define statistics.)
10 . wrafas Teagsdars o adr favarfaar i 7

(Why primary data is considered more reliable?)

11. fesusr Tog®s qeq% 9% 9C 7X’ & /T 991 AR |

(Find the value of ‘X if the mean of given data is 16.)

g v (Incomein Rs.): 10, 12, X, 18, 26

e @ (Group B)
< Saes yeew (Short Answer Questions)

T 79 g9 e (Attempt All Questions.) (8x5=40)
12. =19 [qaTs SHF & &7 7 THEH wIearH Agren Ted | 1+4
(What is division of labour? Explain its advantages.)
graar (Or),

FHTSTATE] AITH AAH & & 7 TG f99ar e T | 1+4
(What is socialist economy? Explain its features.)
13. =t qrE fagT @ THEE |
(Explain the Classical Theory of Interest.)
14. fegusr drferepre! AT qererr Jedel a7 o | 3+2
(Answer the following questions based on the given table.)

2



fogr nifvar a<qer T T . &« arg (Total | =y ama e s
(Units of good sold) | (Pricein Rs.) revenue) (Marginal (Average
revenue) revenue)
1 10
2 8
3 6
4 4
I. fegwerr arfasr w1 e | (Complete the given table.)

V

ii. o1 wfeuer arfesprare dgd ¥ drET o9 e =T TR
(Draw average and marginal revenue curves from the completed table.)

15. Sraa T FHT AnTAfeEeRT TR TR ATARAT [T A | |

(Analyze the relationship between average cost and marginal cost:based on a diagram.)
16. F=rT gt H AT BT AU TR |

(Describe any five functions of Central Bank)
17 FITHT SGET ARISIRIGT FRI d@rsiar Tl |

(Evaluate the causes of increasing unemployment in-Nepal.)

18. ST AT (AT GfFATATs FAFHERT aAST EH FA I, ATATGA Alheg, ? ATHAT 7T T THEI |
What measures do you suggest to make plan formulation effective in Nepal? Give your
opinion.

19. feguar qETgFae TR [a=ad 9qr @ Atqenel el T | 4+1
(Find the standard deviation from the given data and interpret the result.)

et % (Wages Rs.) g ggen (No. of Labor)
15 4
22 5
26 3
32 6
35 2
sgar (Or)

fagus TATEFATE TEAF i AFSF TAT AMSHard ¥ Alqerehl et e | 4+1
(Find Paasche's Price Index Number from the given data and interpret the result)

TEIFN THR fa= (B.S.) 2070 fa= (B.S.) 2077
(Types of qfUTE Hed %, W | FEAHl qATT o6 qfqUHTE Hed 5. T FEIHT TCATIT 6T
Goads) (Per unit price (Quantity of goods | (Per unit price in (Quantity of
in Rs.) in Kg.) Rs.) goods in Kg.)

A 8 12 15 15

B 9 22 12 19

C 12 11 18 19

D 5 20 10 25

wqg 7 (Group C)

9%



T SacHd TeeE (Long Answer Questions)

I yev &« e | (Attempt All Questions.) (3 X 8=24)

oo

20. quf giqeTgt aoRAT AT A AT A [afagRT SAeTd e H FHE Fediad $ed ¥ ICITEd HE<) AR g 7
TR TR |
(How equilibrium price and output are determined in the short-run by a firm using MR-MC
approach under perfect competition? Explain.)
21, TR FGTFART AN AIHNT A [obd AT G ? HRO (&84 |
(Why government borrowing is important for Nepal's economy? Give reasons.)
22, SAIAH ATIR AT FHH TH qUed & & ¥h1d [adgrg ! ATe THerd |
(What measures do you suggest to reduce trade deficits of Nepal? Explain.)
Faar (Or),
“FarepTEIE FMHT AT TR AR T BIEETHF gad |7 T TR |
(“Foreign employment is not always beneficial for the developing country.” Justify.)

)



16. Marketing [Mar.308]

Specification Grid

Subject: Marketing [Mar.308]) Grade: XII
S.No | Content/Domain Knowledge Comprehensive Application Higher Ability. Total Questions Marks | Weight
Units | Area age
Very | Short | Long | Very | Short | Long | Very | Short | Long | Very |Short, |'Long | Very | Short | Long
short short short short short
1 An Overview of 1 1 - - 1 2
Marketing
2 Product 1 1 1 1 1 1 3 2 1 21 20
3 Pricing 12
4 Distribution 1 1 1 1 1 1 2 3 1 25 22
5 Promotion 20
6 Emerging issues in | 2 1 1 1 1 3 2 1 21 20
modern marketing
7 Business ethic and 12
social
responsibility
8 Developing 1 1 1 2 1 - 7 12
Salesmanship Skill
Total 6 2 3 3 1 2 2 1 2 6 5 2 100 120
Notes:

1. The alternative short and long questions'will be asked from appropriate chapters taking in to account the nature, depth and

coverage of the contents.
2. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to the possible

extent.

3. Short question will be of five (5) marks and there will be eight (8) questions from each of the chapters to the possible extent. All
the questions shall be.compulsory. However, two alternative questions will be added to any two questions among the total
questions asked.

4. There will be three.long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative

question will be added to any one of the three questions.

T~




5. The weightage of the question shall not exceed twenty percent in knowledge level, no less that 20 percent in higher efficiency
and in other level question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question | Total marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions (Q.N. 1 to 11), short answer guestions
(Q.N. 12 to 19) and long answer questions (Q.N. 20 to 22).
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Ferae (Marketing [Mar.308])
& (Grade): XII
¥9g (Time): 3 Hrs. qutes (Full Marks): 75

TS TG AR qTeEHT Hiferd I faqae g | fopamrar faguar srgeer quigsrars sa1ss |
(The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

T & (Group A)
afq wefr< Swens gees (Very Short Answer Questions)
o yrvew e« e (Attempt All Questions) (11x1=11)

1. FeReTEAHT A TETEE |
Write the meaning of marketing.
2. ITAET IEIH YR Joei@ TR |
Point out the types of consumer goods.
3. AfeTa FreeH FT TF IaTERW faAR |
Give any two examples of individual brand.
4. 97 Mg 99 deterd |
Write the meaning of pricing.
5. MR Gg T & e ! I«d THerd |
What do you know about trade discount? State.
6. faaT TagaehT AT AIATET H 33 THAfG fataewr Iarev faaem |
Give any two examples of method of sales-promotion.
7. ST TSR TR F & 7
What is industrial marketing?
8. Te¥TT AGMF T AHYT TSIHBIUHT (ard &l | b ?
Internet is modern and famous method of marketing. Why?
9. TR HAfqHATH T F THAETS, 7 ACTE |
What do you know about the marketing ethics? Write.
10. FSRITE TSGR HAATSUHT F T3 ATHISIS IAVENIA Seord THerd |
State any two social responsibilities adopted by marketing organization.
11. fasa 4T Tser = &) w7
Salesmanship-is-a profession. How?

Tz @ (Group B)
el STHd weee (Short Answer Questions)
T wgeE e« e | (Attempt All Questions.) (8x5=40)

12. qo7 gRUETE TH91@ 917 J<ae! IeTeX Hied ATl THerd |
Describe factors affecting price determination with example.
13. @z1 faeT 9 & 217 a9 fq9uar auE THa |
What is retailing? Explain its features.
14, Io+rEar axqas! fafa=T dreae gi=n Iaeu™ted aud e |
Discuss the various channel structure of consumer product with examples.

O



HIar (or)A

TSR AfAH FAbl &% &1 7 ASAGIAH] ATHTISTh IARNAEAR] FATH TAal |

What is marketing ethics? Explain the social responsibility of marketing towards nation.
15. fasriia quer 9= & Jivheg 7 faeme aeRET aq9@! faeran Sers e |

What do you mean by department store? Differentiate it from super market.
16. fasmaer 99 T FeEan qud TR |

Describe meaning and importance of advertising.
17, FOTerHT Ao SRR AT AAT H&al B, 7 faa=dr e |

What is the present status of network marketing in Nepal? Evaluate.

Fqa(0r),

STHIEIT JTq TSRATEAF] AEcaa ATl THR |

Explain the importance of marketing towards customers.
18. fagawer faw giwmaes IJwd T |

State the development process of salesmanship.
19. %< faddr gaae AEedsd O FATH THer |

Explain the essential qualities of successful salesperson.

e 7w (Group C)
M STcHS TRew (Long Answer Questions)

T g g« e | (Attempt All Questions.) (83X 8=24)

20. ATHFIU THHT FRUIH ATEAT TR E | FATSATH T dSHTH] Tl GeaTI e |
Describe reasons for not branding. Differentiate brand name and trademark.

HA(0r),
FARYMEA FHHR] ATIRT T TcAb! AT TR |
Explain the concept and components of marketing mix.

21. yad= AF F B ATF AT FRIAATS AR STARN AT ®IAT gy | a9 AAgens gt THEE |
What is promotion? Advertisement is one of the most useful component of sales promotion
in modern business. Prove this statement.

22. F TSR THF & & 7 ANAER] GraHT BT TARLEAHT FFATIATHT ATCHT [FIST07 THRE |

What is agricultural marketing? Analyze the prospects of the agricultural marketing in the
context of Nepal.

=9



17. Civil and criminal law and Justice, [Ccl.320])

Grade: 12
Test Specification Chart
Plan for Question and distribution of marks covered
Unit | Content Area Teachin | Knowledge | Comprehension | Application | Higher Total-Question | Total Total
g Hours ability covered Question | Marks
VS|S|L |[VS|S |L VS|S |L|VS]|S VS|S |L
1 Introduction to Civil
Law and Criminal
Law 6
2 Introduction to
Property Law 12 1 11 (1] J2 |1 |1 |4 15
3 Introduction to law
of Marriage and
Divorce 12
4 Law Concerning
Adoption 12 1 |1 1 |1 2 |2 4 12
5 Law of Contract 12
Introduction to
criminal Law
6 10 1 1 1 |1 2 1 |1 4 15
Punishment System
7 10
Development of
criminal Justice in
g | Nepal 9 1] |1 1 |1 2 |2 12
Some Major Crimes | 25 1 1 1 14
Major Principles of
10 Criminal Law 6
11 | Victim Justice 6 1 1 1 2 |1 3 7
120 3 |1]- |4 |2 |1 |2 |3 |12 |2|1]11 |8 |3 22 75

&R




Notes:

1. Alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth.and coverage of the

contents.

2. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters.to the possible extent.

3. Short question will be of five (5) marks and there will be ten (8) questions from each of the chapters to the possible extent. All the questions
shall be compulsory. However, two alternative questions will be added to any two questions ameng:the total questions asked.

4. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative question will be

added to any one of the three questions.

5. The weightage of the question shall not exceed 20 percent in knowledge level, no less than 20 percent in higher efficiency and in other level,

question may be asked as per necessity.

Types of Question
Types of Question Numbers of Question Total marks
Very short answer type 11 11x1=11
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged.from first very short questions (Q.N. 1 to 11), short answer questions (Q.N. 12 to 19)

and long answer questions (Q.N. 20 to 22).
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G T HISERT S X = (Civil and Criminal law and Justice [Ccl.320])
& (Grade): XII
FHg (Time): 3 Hrs. quites (Full Marks): 75

ToreTder WHETET TR T WA SO A B | AR fguer dwer qoresers wres | (The
candidates are required to give their answers in their own words as far as practicable. The
figures in the margin indicate full marks.)

e % (Group A)
It Fefra Saws waew (Very Short Answer Questions)

I wee &= e (Attempt All Questions) (11x1=11)
1. 3T FAA D F &I 7
What is Civil Law?
2. IAGFATFE FAA (BT ATALTF G, ?
Why law of Donation is necessary?
3. gHIHATH T3 HAd Il T{ad
State any two duties of adopted daughter.
4, fagare ATl AfERdrs FEdl ATl g, 7 UF ard T defeld |
How do you define the Inheritance rights of widow? Write in a sentence.
5. AIgET FARATET R0 dedald
Write four stages of Crime.
6. ¥FE AT & A 7
What is Manavnayasastra?
7. A AACATH] TRICE TATT 657 7
In which condition corporal punishment is given?
8. T fawga! TR AAH & Bl ?
What is offense against property?
9. AT AI & a7
What is sexual offence?
10. FeFe. I AFTAAT &7 Ear?
Why Ignorance of Law is no excuse?
11.Define Crime Victim
ARTIANS AR Te=ra famqgae |

¥ @ (Group B)
TS Saaes weeee (Short Answer Questions)
T ge g« R | (Attempt All Questions.) (8x5=40)

12, A aTer Gfedr, 0¥ AT @ HHA T FEAFEedl AU HeT qeF (b8 & & g1 ?
What are the major principles of civil law and justice under the Muluki Civil Code,

20747
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Faar(Or),
STHATR AT ATPR F &7 7 AT e |
What are the partition rights of wife? Explain
13. Feafep! FEaT=ROTHFERAT SHARATeTs WISl FIAAA FE GHETET TWEH G 7 Telerd |
How does the prevailing law address the provisions relating to Property
transactions? Write.
14, ForerAT Aigars FFered fa=gg T9 e HAAT wrAfarg HET S | G0 TR |
What are the legal procedures to get divorce by a women in Nepal? Describe

15. 3T AR TP B AR Eo | A qASATS AT TR |
"Actus non facit reum nisi mens sit rea" Illustrate
graar (Or),

BRI GAH! (FgTaATs ATl THard |
Describe the principle of Double Jeopardy.

16. RISTERI =TT JOITATHT ARTIING STET THINI T AT GFAR] AT R0 & & g 7 Sared
THETH |
What are the process of investigation from blame to conviction in Criminal Justice
System? Explain.

17. T TF, R0%0 AT WIXST TR HAHT BISTETE Giedl, 0¥ ST gHTHRT FRU & & g1 7 ACTRIE |
What are the causes to enact the-National Penal Code, 2074 by replacing Muluki
Ain, 2020? Write.

18. AT TPRFT TRBAT [FATHATI TP FTATATEERT [l T TERws, ¢ ool T |
What types of illegal activities declared as the offence of abuse or forgery of
government documents? Illustrate

19. FqTeRT TR FTITA AT TShbT ghells HITAF gehebl SIHT AT THT G | T AALATATE
FI AT T
Rights of Crime victim is declared as a fundamental rights under the existing
Constitution of Nepal. How do you explain this provision?

w98 T (Group C)
N SacRe weAes (Long Answer Questions)

I WA &= TR | (Attempt All Questions.) (3 X 8=24)
20. foamee! HaR, 7 T AT & B AR % & T AHS 7 Aelebl SaTAl Wledl, 0% T SATAHAT
fereeryor TR |
What are the basis of Valid, Void and Voidable Marriage? Analyze under the
provisions of National Civil Code, 2074
21. R T FIR ST ACHT AT TR | A FIRBT TR, AT T ASAATAH Bh GEATITE |

cq



Explain about contract and contract law. Also differentiate between valid, void and
voidable contracts.

srear (Or),

ARTETHT TTAATS FELT AR TS, ¢ ITIHT IETeX Afed Saeh<dT SATeT THal |

How do you categorize the elements of Crime? Briefly explain with appropriate
examples

22. AT AT FHET & BT 7 ASTTF (b 3 GHATIHT FROT GG TUH AT ATRTGATS NATH T
IUT F F g TS | AT TR |

What is modern crime? What are the measures to prevent modern-crime that are
increasing due to the scientific development and technology? Explain.

=



9. g&gfa (Culture [Cul.324])

fefredeor e
gTirdeh HATIHA fooar © HEpid HETT 1 4R
g9 ATSAT AT ASHAR [qara

SENACIES TEIATR e I qETal STHT AZHHR ST
AP

ElE el Bl el BIel
RIAAR! qR=T 10 9 - - 1] - - 1 1 %
EIEEEEE] 9% 9 - - £ - - , 9 } Q
afer@ seaae q0 - - - q - q - - q q %
AT (e - - - - - 9 - | 9 9 %
Tl JRERIT Afeebedm | Q¥ Q - - - | 9 - - - ) - R
TTAT IR ATEIHAT | R0 9 - 9 - - - - - R 1 94
ferea FFqaT AT 1% - - 9 - - - - - 9 R 19

HiEHideH qHIaTr
EEVHERCIRCEIK] 93 9 - - q - - - - q q %
FreR{qe TaaAH! foamr | 93 9 - 9 - - - - - R 9 ©
STHAT %o % 3 3 q R q 19 S 2
T

q. AT SreT 99T 4 ASHF T A T THGEH G TehTg FHET T 99 TIF @A B

o




3. TIET IO Y ASHFT g B T AhIET o gl T g T & FIF W@ T 91 F g5 TAT fahed faT afrT g o

3. ATHT Y99 © AShHT & B T 3 WIF W@ g AT & Uk FeeHT faeeq fad afr g

¥, ST TEHT qUIGHaET 0 TqTTHT FoIgH T, I=o T TeHT R0 YIAMTHT ToaH T T AT TeHT ATTTHATATAR T 8 I |

YT TedT (IR Tehia T AT AFATTAR AT BIaT, BIeT T ATH YT e B | AT TeHT I @Il J9H BT HAardel gael | Soo IeTdArer=id
fereeiooT, HeaTgeha ¥ TasiTcH® dedl 999 & S |

TAH TFREE
IR JhRED e T EUIEE]
AT Fgrere ge 19 19
Bl I ATIT YA z %0
ATHT 3dY AT U 3 ¥
STHAT R 28
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g&gia (Culture [Cul.324])

e (Grade): XII

T (Time): 3 Hrs. quites (Full Marks): 75

TSt TR TR ST AifE IR G B | AR frgua sede ieEeTs e s |

(The candidates are required to give their answers in their own words as far as

practicable. The figures in the margin indicate full marks.)

T & (Group A)
i Tefra Swaes e (Very Short Answer Questions) (11x1=11)
. RIacadTs IRATTT T |
Define 'Archaeology'.
3. 9T Sfqeraar 99 & & ?
What is the meaning of Pre -history?

3. AT I (GHFHT Il RIAdd ArTa@drs qaTs Al 60 Tewg 7 Uk aTaadl deied |
How do you preserve the archaeological inscription found.in your tole and
neighbour? Write in a sentence.

¥ SIAETE T ATHIAPT AT AT TR TANT FE STANIEre, 7

How is the use of coin useful to study the histery and culture?
Y. fA=gfaepTelid Fere gealial [aeudT e |
Write any two characteristics of art of ‘Lichchhivi period.
% FoaasdT I H & BT 7
What is meant by Painting?
9. R STeATehT ATEAHAT T & A 7
What is meant by Shikhara style architecture?
. faed FFIRT &1 AWH & &l ?
What do you mean by ‘world heritage site’?
2. ASURTAH A AETeld |
Give the meaning of Museum.
90, THSHH YR Il AR |
Mention the types of Tourism.
9. AIEHIAE, TUET HATA & A 7
What do you mean by cultural tourism?
w98 @ (Group B)
T SIS yees (Short Answer Questions) (8x5=40)
9., AT &THT ITEUHT RIATAS T ETh TSATTH FUH TH |
Describe in short the archaeological remains found in Lumbini site.
3. FTEHT fAfaer SOTelt er, YEEId ¥ Sfqaraars wEel giaiared Tl @ 7 IeEIdied T
THET |
How has the Brahmi Script reflected Nepalese art, culture and history? Present
it with examples.

et (Or),

AN



Explain the Homo sapiens human life style.
¥, WeAHIATT HETH fa9ar Ieoi@ 5 T Jieb qTehTehl AT THTEREHT THAT TR I |
Prepare a model of news for a daily newspaper mentioning the characteristics
of Malla Period Coins.
QY. AT TR FATSH TRARAT FAhS FAAREh! AraeHT ¥R AHIITRT RERTTT TUTT STeAl AqATST
qure b FRIeE g 7 Jele |
Why do you recommend to adopt traditional Nepalese style of house building
in the midst of discussion in your family regarding new house construction?
Write.
9%, AT TR THEIAAT JAEh] HeTd=d, 003 F &I Yad i@ Tl |
Mention the major provisions of UNESCO Protocol related to Abstract
Heritage sites, 2003.
Q. TUTE FMHT TAST WAT GATAT T TSTehT TTCHITd TFIGTHT & TR T FAGT T bl ATT]
TATSAES, 7 AT J&d TR |
What plan would you make to protect and promote Nepalese cultural heritage
sites if you were appointed minister for tourism in nation? Present the plan.
15, AITAR] TSUETATA &TH] THLT T FHTITHHT UM Jeold TR |
Mention the problems and remedial measures of the museum in Nepal.
9<. WWWWWQW@WWI
List out the positive impacts caused by.tourism in your society.
et (Or),
qrdepell T Cbl%wdlrdﬂidvl EICEICI T ofliald |
Differentiate between metal and wooden craft in five points.

e T (Group C)
e Saes TeHe® (Long Answer Questions) (3X8=24)
0. 9 UTHIOT FTAR! T fd5 a9 T fA99ar avie THE |
Introduce the Neolithic period and explain the chief features of it.
et (Or),
AT JAEA (qprHe! Sqerd qFegH == T |
Shed light'on the history of the tourism development of Nepal.
1. AT TR Icafa ¥ faerE FFegHT FHIETCHS (ol I&qd T el |
Present a review note on Origin and Development of Nepalese Paintings.
3R [RR ARAFHATH TAGT T AU AR T THT @A & o A [AaTe Taar? Jedebeb!
FAT FATSTET |
What role should be played by Nepal government and community itself to
promote Vihara architecture? Make a list of each.

RO



19. English (Eng. 334)

English (Optional)
Grade XII (Eng. 334)

Contents

Types, numbers and description of questions

MCQs | Short answer questions Long answer questions
Introduction  to 3 2
Language  and Definition, explanation, classification and -
Linguistics comparison.
Prose 3 3 1
Summary, narration, comparison, justification of the | Justification, critical appreciation, plot, character
title or meaning, evaluation, compare and contrast, sketch, comparison and contrast, appreciation of the
explanation with reference to the context, character ~ “fictional elements and discussing particular social/
sketch, appreciation of the fictional elements, cultural/political issues with reference to a text.
analyzing the text from a critical perspective and
discussing particular social/ cultural/political issues
with reference to
(Note: Questions should be asked from both fiction
and non-fiction texts.)
Poetry 2 1 1
Question on explaining with referenceto context Justification, critical appreciation, and discussing
Summarizing, giving the central idea / theme, critical | particular social/ cultural/political issues with
appreciation, comparison,_justification, appreciating | reference to a text.
poetic elements, analyzing a text from a critical
perspective and «discussing particular  social/
cultural/political issues with reference to a text
Drama 2 1
Character sketch, Analyzing, comparing and
contrasting, reasoning, writing critical appreciation,
appreciation the dramatic elements, analyzing a text
- from a critical perspective and discussing particular
social/cultural/political issues with reference to a text.
Introduction  to 1 2
critical Defining the given concept or term, describing, -
perspectives comparing and writing short note.
Total number of 11 8 3
questions
Marks 11x1=1 8x5=40 3x8=24
1
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English (Optional)
(Eng. 334)
Model Question for Final Examination
Grade XI11
F.M.: 75
Time: 3 hours
Group A
Choose and copy the best answer.
(11x1=11)
1. What is a dead language?
I. A language no longer used in everyday life.
i A language that no one speaks anymore.
iii. A language that is learnt solely for ceremonial purposes.
Iv. A language that has been lost to history.
2. The Indo European family includes ................ languages.
i English, German, Swedish
ii. Latin, French and Modern languages
iii. Hindi, Urdu. Sanskrit
iv. Welsh, Irish, Latin
3. Mother tongue influence can be effectively minimized in the classroom by ...........
I. using the mother tongue less often
ii. giving examples from the mother tongue
Iii. giving a lot of exposure in the target' language
iv. giving inputs from the targetlanguage in a simple, graded manner
4. How did Sherlock Holmes solve.the case in the story ‘The Three Students’?
i It was a lucky guess:
ii. He saw the culprit copying the test.
iii. He knew the culprit'was tall and an athlete.
iv. He did not solve the case at all.
5. Why does the mother disagree with Aloo in the story ‘Leaving’?
I She doesnot like him.
ii. She hates America.
iii. She is afraid he will not return home.

\V2 She is stubborn.

6. In the final sentence of ‘Once More to the Lake’, the narrator feels .........

i. like dancing. ii. the chill of death.

iii. a storm approaching iv. the clean hair of the waitress.
7.” The Fool calls King Lear a for doing what?

I Searching for the fool ii. giving away his lands.

iii. Hitting Oswald. iv. Leaving his palace.
8. During Spring, the narrator describes himself as .............. :

I magical ii. mischievous

iii. obstinate iv. a man with rough fingers

R



9. What does Larry say he would do to Jeo if they were in the same room in the drama ‘All
My Sons’?
I. Forgive him ii. Hug him
iii. Kill him iv. Punch him
10. What sarcastic expression does Sue use to refer to the Kellers in the drama ‘All My
Sons’?
i The holy family. ii. The United Nations.
iii. The band of thieves. iv. The three little pigs.
11. Who are the subaltern?
i Any person with hegemonic power.
i Any person from elite class.
iii. People relegated to inferior rank or status.
iv. Historians.
Group B
Write short answers to these questions.
(8x5=40)
12. Are British English and American English two different languages? How are they
different? Explain with examples.
13. Compare between different types of translation.
14. What does the story say about ecology and‘human-life? (Devil Deer)
15. What contrast does White make between the sea and a lake, and why does he make this
contrast at the very beginning of the essay? (Once More to the Lake)
16. What arguments does the writers make infavour of lean production? Give their examples
too. (How Lean Production Can Change the World)
17.  Why, what could she have done being what she is?
Was there another Troy for.her to burn?
Explain these lines form the poem ‘No Second Troy’ with reference to context.
18. How is gender perspective different from class perspective in the study of literature?
Explain.
19. Write a short note on any one of:
a. The character perspective
b. Cultural perspective
Group C
Write long answers to these questions.
(3x8=24)
20."What details of Paul's appearance and behavior, as his teachers see him, indicate that he
is abnormal? Justify with examples. (Paul's Case)
21. How did Milton use the development of ongoing events to present problems with a
mystical resolution in Sonnet 8? Explain.
22. How does Miller present Joe Keller as both a tragic hero and a villain in All My Sons?
The End!
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Secondary Education Examination
Specification Grid, 2078

Grade: 12 Subject: Mathematics (Mat. 402)
Content Area Wor Competency level
king
hour Knowledge (16%) Understanding (24%) Application (40%) Higher Ability (20%)
o o o o o o o
S 2 S 2 = S S = S 2 =
= % = % o = % o = % |
£ g g g g g g g g g g 2 2
£ £ £ £ £ -SR-S A - N I~ U - B - £
AR A AR AR A AN AR AR A SN AR AN AR RN AR AN AR-NE- g
s | &l s | &l =0 =0 1O | &l =& 8| & =0 58| = 9 1
s = O I T T T N R T = B B = 0 =T = = R £ o
2 S S S S S S S S S S s e
4 4 4 4 4 4 4 4 4 4 = S
< Z
MCQ: 2
Algebra 44 20 |SAQ:2
LAQ: 1
Trigonometry 12 6 MCQ: 3
. SAQ: 2
Analyt t 20 9
nalytic Geometry LAQ: 1
Vector 12 6
6 MCQ: 1
Statistics & Probability | 12 2022 100sy S ! > ! 812124201 81212 ! > ! 8 Q
SAQ: 1
22 | MCQ:4
Calculus 48 SAQ: 2
LAQ: 1
Computational methods 6 MCQ: !
. 12 SAQ: 1
or Mechanics
MCQ: 11
Total 160 12 18 30 15 75 | SAQ:8
LAQ:3




Question format plan
Number of questions
Marks per
Types of Questions .
S.N. Total f Total
question Knowledge Understanding Application Higher Ability ota nul.nber 0 ota

questions Marks

1. Multiple Choice Question 1 2 5 2 2 11 11

2. Short Answer Question 5 2 1 4 1 8 40

3. Long Answer Question 8 0 1 1 1 3 24

Grand Total 4 7 7 4 22 75

Note:

»  Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure-based questions should be prepared
for blind students.

»  Questions should be prepared by giving the context and one question may have more than one sub-questions.
v Application and higher ability questions can be made by relating the other content areas.
»  Questions should be made by addressing all the sub-areas of content.

v At least one multiple choice question should be asked from each area (Trigonometry, Analytic geometry and Vector).



Secondary Education Examination

Model question-2080
Subject: Mathematics (Mat.402) Grade: XII
Full Marks: 75 Time: 3 Hrs.
Attempt all the questions.
Group A: Multiple Choice Questions (1 x 11 = 11)

Rewrite the correct option in your answer sheet.

1.What is the number of permutations of n different things, taken r at a time while each thing

may be repeated any number of times in any permutation? [K]
a.n! b.n" c.(n—1)! . (nr_l!r)!

2. What is the sum of first 5 odd natural number? [U]
a. 15 b. 25 c. 42 d. 255

3. In atriangle ABC, ZC =30°, b=+/3 and a =1. What type of triangle is ABC? [HA]
a. Right angled b Isosceles
c. Isosceles right-angled d . Scalene

4 What is the value of k so that the length of the tangent from (5,4) to the circle x? + y? +
2ky = 0is 1. [U]
a.-5 b. -4 c.4 d.5

5.Given d@.b = 48, |d| = 15 and |b| = 4, what is the value of |d@ x b| ? [U]
a. 12 h. 36 c. 48 d. 60

6. What is the probabiiity of getting 53 Friday or Saturday in a leap year? [A]
a. % b.% c.% d. %

7.What is the derivation of tanh™1x ? [K]

a—=, X<1 b—, K>1

Co, <1 d == X>1



3x—sinx

8. Which one of the following is equal to lim,_,, —_ ? [U]
a. 3 b. 3
c.15 d.1l
9. Which one of the following represents the equation of tangent to the curve y? = 4x at the
point (1, 2)? [A]
ax+y+1=0 b.x—y+1=0
cCx+y—1=0 dx—y—-1=0
10. The volume of a sphere is increasing at the rate of 25 cm®/sec. At what rate the radius is
increasing at the instant when the total surface area of a sphere is 10 cm®? [HA]
T 4 5
a.— cm/sec b.— cm/sec C. —cm/sec d. 1007 cm/sec
4 T 21
11.The system of equation 2x + 3y =5and x —y = 0 has ... [U]
a. no solution b. infinitely many solution
c. one solution d. finitely many solution
OR

A car moving with a velocity of 15m/s has a uniform acceleration of 2m/s2. If it moves for
2.5sec, find it's final velocity. [U]

a.10 m/s b.15m/s c.20m/s d.24m/s



Group "B" (5 x 8 =40)

12. In the expansion of (x + a)™, n is a positive integer.

a. Write the general term of the expansion. [1K}
b. If ais replaced by (-a), what is the general term of the expansion? [1K]
c. How many terms are there in the expansion of (x + a)™? [1K]
d. Write the expansion of e*. [1K]
e. State the relation between C(n, r), C(n, r-1) and C (n+1,r) forr<n [1K]
13.a. Use De-moivre's theorem to solve x3 = —1. [2A]

b. Solve the following system of equations by using row equivalent method: [3A]

2x—y+z=-1, x—2y+3z=4 and4x+y+2z=4

14.a. In any triangle ABC, prove that: bc cos? g + ca cos? g + ab coszg = s% where s is semi-
perimeter of the triangle. [2U]

2 2
b. The foci of the hyperbola coincide with the foci of the ellipse ;C—S + % =1, find the equation

of the hyperbola if its eccentricity is 2. [3U]

15. a. A man running a race course notes that the sum of his distance from the two flag posts is
always 10 m and the distance between the flag posts is 8m. Illustrate and interpret the
situation with diagram. [BHA]

b) If A,B,C & D are any four points, show that:
AB.CD +BC.AD+CA.BD =0 [2HA]

16. The following table shows hours of time spent by five students of grade 12:

Hours spending on study book (X) 5 7 9 10 11
Hours spending on playing game (Y) 5 4 3 2 1
a. Estimate the hours spending on playing game who spend 6 hours in study books. [3A]
b. Find the coefficient of correlation between X and Y. [2A]

17.a f'(x) and g'(x) are derivatives of the functions f(x) and g(x). Write the relation between

: fx) . frx) : L0
lim,_,, 700 and lim,_,, 9700 when both expressions give 5 form. [1K]
b. Write the derivative of sinh x with respect to x. [1K]

c. What is the expression equal to f dx? [1K]

x?% + a?



d. Write a differential equation of first order and first degree. [1K]

e. Write a difference between derivative and antiderivative? [1K]
18.a) Evaluate: [ Zi’ésx [3A]
b) Solve: sec?x + tanydx + sec?y tanxdy = 0 [2A]
19.a. Solve the following system of equations by Gauss seidel method: [2A]
3x; +x, =5
Xy —3x, =5
b. Using simplex method to maximize z = 5x-3y
subject to the constraints
3x +2y <6 [3A]
x—3y<4
x =20,y =20

OR

a. A bullet of mass 25gm moving 250m/s penetrates into a tree trunk & is then brought to rest
in 0.02 seconds. Find the distance of penetration of the tree-trunk. [3A]

b. Find two like parallel forces acting at a distance of 2.5m apart, which are equivalent to a
given force of 30N. The lines of action of one being at a distance of 50cm from the given
force. [2A]

Group "C"
20.a) In how many ways can the letters of the word 'I| N T E RV A L' be arranged so that: [3U]
i. all vowels are always together?
ii. the relative positions of the vowels and constants are not changed?

iii. the vowels may occupy only the odd positions?

1 1 1 1 1
b.ShOWthatlogeZ—1—E+§—Z+E—g+"'t000 [2U]

c. Prove by the method of induction that

13424435+ n(n+2) = w [3U]

(1, 91)

21.a. In the figure alongside triangle ABC is
inscribed in a parabola y? = 4ax.

(%2.¥o)



i. Express all the coordinates of triangle ABC in terms of x coordir}gtes.
[1A]

ii. Prove that the area of triangle ABC is é |(y1 —y2) (V2 —v3) (3 — y1)|  [2A]
b. In any triangle ABC, a(b cosC — c cos B) = b* —g?> [2A]

- -

c. Prove that the unit vector perpendicular to each of the vectors 20 — J + k & 31 + 4] — k is

—3i+5)+11k . i 155
—F= and the sine of an angle between them is [156 C
[3A]
22.a. lllustrate derivative as a rate measure with suitable example. [2HA]
dx _qAtan(5)-3 .
b. Prove that [ = tan™ [——=—] + constant, where a and b are positive constants.
a+bcosx V7

[3HA]

c. Does xZ—Z = /x2 + y? + y represent a homogeneous differential equation? give reason.
Also show the equation. [BHA]

-The End-



21. Applied Mathematics (Ama. 404)

Test Specification Chart, 2078

Grade: 12 Subject: Applied Mathematics (Ama. 404)

SN | Content Area Wor Competency level Areaw | Number
king | Knowledge Understanding Application Higher Ability ise of
hour Marks | Question

S
< o o4 o o O o (o} o o o
@) (@) O @)
RN - - - - T
Y E (%] Y (%) Y (%) Y (%] Y (%] Y [%2] (Y (%) Y (%] Y (%] Y (%) Y [%2]
o.] X o X o, X o R4 o X o 4 o X o, X o X o 4 o X
o 4 E S | E S | E o E o E o E o E o ; o ; o E o E
z C S| z|2|zZ2|2|z|2|z2|2z|zZ2|2|2y=2|Z2|2|z2|=2|2]2|2] 2
( [ [ [
MCQ: 1

1 | Data Handling 23 14 |SAQ:1

LAQ: 1

MCQ: 1

2 | Measurement 23 14 |SAQ:1

LAQ: 1

MCQ: 1
Consumer _

3 Mathematics 30 19 EﬁQﬁi
. 2|2 )|2|10|5|5 412|571 |8|2|2|4|20{1|8|]2|2|1|5|1] 8 Q:

4 Selecting the best 11 7 MCQ: 2
value/alternative SAQ: 1
Selection and MCQ: 2

5 Arrangements 11 ! SAQ: 1
Probability and MCQ: 2

6 prediction 11 7 SAQ: 1

. . MCQ: 2

7 | Linear modeling 11 7 SAQ: 1

MCQ: 11
Total Marks 120 12 18 30 15 75 SAQ: 8
LAQ: 3
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Question format plan

Number of questions

SN Types of Questions Marks_per . — : _ Total nur_nber Total
question | Knowledge | Understanding | Application | Higher Ability | Of questions | Marks

1 Multlple Choice 1 2 5 9 9 11 11

Question

2. | Short Answer Question 5 2 1 4 1 8 40

3. Long Answer Question 8 0 1 1 1 3 24

Grand Total 4 7 7 4 22 75

Note:

= Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure based questions should
be prepared for blind students.

= Questions should be prepared by giving the context'and one question may have more than one sub-questions.
= Application and higher ability questions can be‘'made by relating the other content areas.

= Questions should be made by addressing all the sub-areas of content.
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Grade: 12
Subject: Applied Mathematics (Ama. 404) Full Marks: 75
Time: 3 hrs.
Attempt all questions.

Group A (1 x11=11)

1. The most appropriate distance between Baglung and Jumla based on the given scale is

CHIN/
s,-...;.f{-W iR
!
agarh !
< @ Nl ;"
@ Tibvikce 1
@Frerdrd Nagar
Pl L @ skt Bong 3
. 1 .h.gku‘a ! c
“= Nepaighng o TtV ! I
;- g - + = e
1 iKATHMAN
= L Buwal® | ehSratgmr bt |
—— i : .
*  Hetaudas
INDIA
]
i?‘"" ‘ > - =
| 4 % somie
Sy € 7913 wee megastesrtd com |
A s2'E fodated on 0N Jen, 2075 a4'E
a. 80km
b. 40 km
c. 60km
d. 110 km

OR

If a teacher wants to make an’equal group of students keeping 50% high achieving students in one
group and the remaining 50% students are low achieving in another group. Which of the following
statistical measure would fit the best?

a. Mean

b. Mode

c...S.D.

d. Median

2. The following graph represents expenditures (in Rs) of a family under different headings:
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7049

009

5009

4004

Expenditure

30400
2000

10440

Faad Edu<ation Tranpotation Ertertzirnment Health
What is the percentage of the expenditure under entertainment-assuming that these

five are only the headings of expenditure?

25
a. 2
21
bh. 8
31
c. 5
2
d. 25

OR,
A person invests 20% of his/her income for entertainment this year which is equivalent to Rs.
20000. And, it is sure that his.annual income increases by 20% each year. Then how much amount
would he/she spend next:year-on entertainment?

a. 24000

b. 40000

c. 20000

d.22000
. A person needs to select 4 types of fruits out of 6 types (apple, banana, orange, grapes, mango, and

pineapple) available to her/him in which pineapple is compulsory. In how many ways can the
person-make up her/his selection?

a.6

b.5

c. 24

d. 10
. A farmer produces and sells her/his own production. She/he sold paddy in Nrs. 2000 per quintals,

corn in Nrs. 1500 per quintals and wheat per Nrs. 1600 per quintals. Which one of the following

q0%



5.

describes the best model for the farmer’s annual revenue? (X, y, z represents the quantity produced
for paddy, corn and wheat respectively)

a. 2000x + 1500y + 1600z

b. 2000 + 1500 + 1600

c. 2000x x 1500y x 1600z

d x+y+z

If two children are born in a family, then the probability of having both sons is

al
b. 7
..
d.1
The value of 0! is
a. 1
b. 0
C. o
d. 10

If events A and B are independent-cases, then

a. P(ANB)=P(A)+P(B)
b. PANB)=0

c. P(AnB)=P(A).P(B)
d. P(A)=P(B)

The objective function in LPP problems is
a. ~The linear function that used for only maximize the function
b. The linear function that used for only minimize the function
¢. The linear function used for optimizing the function
d. The linear function that is formed from the given constraints.

The following is a payoff (in rupees) table for three strategies and two states of nature:

Strategies State of Nature

N1 N2
S1 40 60
Sz 10 -20
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S3 —40 150

Select a strategy using the decision of Maximin criteria

a. S1
b. S
c. S3
d. N

10. X, Y, Z are three partners in a business. They invested Rs. 1200, Rs. 2400 and Rs. 3000

respectively. How much amount will X gets in the case of having a profit of Rs. 990 based on their

investment?

a.
b.
C.
d.

280
180
360
450

11. The pay off table best describes

a.

The benefit obtained from the given combination of decision alternative and state of nature

b. The loss obtained from the given combination of decision alternative and state of nature

The total revenue obtained from the given combination of decision alternative and state of
nature
The cost obtained from the given-combination of decision alternative and state of nature

q0%



Group B (5 x 8 = 40)

12. In order to find the correlation coefficient between the variables X and Y from 12 pair of records, the
following results were found:
X x=30, Zy=30, Zx°=670, X y*= 285, and X xy= 334,
Later, on subsequent verification, it was found that the pairs X=15 and Y= 5 were copied wrong
instead of the correct values X=10 and Y=12. Now, find the corrected value of the correlation
coefficients. [5]

13. A rectangular plot of length 200m and breadth 150m has a crossroad from the middle of the length
and breadth with the width of 7m, on the one side of the crossroad width of 1m should be left for the
drain. How many pieces of land can be made of area 684.5m? each?  [5]

14. The following table presents the rate of income tax according to the government rule. If a person
earns Rs. 7, 50,000 in a year, calculate the following:

Tax Banding Tax rates

Individual FY 2020-21

(a) Band 1 First 400,000 1%*

(b) Band 2 Next 100,000 10%

(c)Band 3 Next 200,000 20%

(d) Band 4 Next 1,300,000 30%

(e) Additional Tax Remaining above 2,000,000 36%**

a. How much income tax shouldthe person pay? [3]

b. Itis offered that 33% of the annual income is not taxable if it is saved in CIT fond. Also,
Maximum Rs. 2,50,000 per annum is also not taxable if it is deducted for the insurance policy.
If a person-is interested to utilize any one policy, which option do you suggest so as to pay the

minimum tax amount? [2]

15. A person.has taken a loan of Rs. 500,000 from a bank with an interest rate of 15% per annum and
invested in a business. It is already fixed that the person gets 40% profit each year from her/his
business and, the loan will be reduced each year by the profit amount. How much loan will be left
after 3 years? [5]

16. An investor on the share market is given the following investment alternatives and percentage rates of

return.

Share related to Market Conditions
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Low Medium High
Hydropower 7% 10% 15%
Banking sector -10% 12% 25%
Insurance company -12% 18% 30%

a. If a person wants to get certain rates of returns in all the market conditions, which of
the above sectors do you suggest for the investor and why? [1]
b. While observing the past 300 days, 150 days have been medium market conditions and
60 days have high market conditions and the remaining days have low market
conditions. Based on these data, state the optimum investment strategy for the
investment. [4]
17. What condition should be added to selecting objects for making it arranging the objects?
A student is required to answer 6 out of 10 questions which are divided into 2 groups each
containing 5 questions and she/he is not permitted to attempt more than 4 from any group. In how

many different ways can she/he make up her/his choice? [1+4]
18. A problem is given to three students A, B, C whose chance of solving it by A is 50%, by B is 75% and
by C is just 25%. Find the probability that the problem is solved. [5]

19. The following table describes the production of wheat (in quintals) corresponding to the amount of

rainfall (in mm) of certain land in the'last few years:

Rainfall 0.8 1 1.4 1.8
Production 25 30 32 38
Now, estimate the-production corresponding to the rainfall 2 mm. [5]

Group C (8 x 3=24)

20. The following table shows the result of the SEE examination of a school in recent 3 years. Answer the

questions given below:

Year Grade A+ | Grade A Grade B+ | B B-
2072 15 25 30 18 25
2073 20 18 35 26 20
2074 18 22 28 20 26

a. Suggest the best year for the school on the basis of the performance. [2]

b. Suggest the worst year for the school on the basis of the performance. [2]

0%




c. Represent the data into a suitable diagram. [4]

21. A cuboid-shaped room is to be decorated by coloring in five faces whereas the bottom face is to be
marbleized. The rate of coloring on the top surface is Rs. 105 per square feet whereas the rate of
coloring for the four walls is Rs. 90 per square feet. And the rate of marbling for the bottom face is
110 per square feet.

a. Create the mathematical model to calculate the total cost of decorating the room in'the
function of length, breadth and height of the room. [6]

b. If the length, breadth and height of the room are 15 feet, 12 feet, 10 feet respectively,
calculate the total cost for decorating the room. [2]

22. The following table describes the total stationery items (basket of goods) brought and rate in different

years:
Items Years
2017 2018 2019
Quantities | Rate Quantities | Rate Quantities | Rate
Pen 12 8 12 10 10 12
Pencil 6 4 4 5 6 5

Calculate the inflation rate from 2017 to 2018 and 2018 to 2019 taking 2017 as the base year
with the help of the Consumer Price Index (CPI) and describe it. [3 + 3 + 2]

The End
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22. Business Mathematics (Bmt. 406)

Test Specification chart, 2078

Grade: 12 Subject: Business Mathematics (Bmt. 406)
SN | Content Area Wor Competency level Area- | Number
king | Knowledge Understanding Application Higher Ability wise of
hour | (16%) (24%) (40%) (20%0) Marks | Questio
ns
04 o o4 o o o o o o o o
O O O @)
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1 | Algebra 21 13 SAQ: 2
MCQ: 2
2 | Calculus 40 25 SAQ: 3
LAQ: 1
. MCQ: 3
3 | Financial Math 17 |22 2 w|s|s|1|s5|1]|8|2|2|al2o[1]|8]2]|2]1]|5]1]8| * |Lag1
Linear .
4 | Programming 10 6 gﬂfg'll
Problem '
5 | Statistics 20 12 MCQ: 2
— SAQ: 2
6 | Probability 12 8 LAQ: 1
MCQ: 11
Total Marks 120 12 18 30 15 75 SAQ: 8
LAQ: 3
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Question format plan

. Marks per Number of questions Total number | Total
S.N. | Types of Questions : : — : - f : Mark
question Knowledge | Understanding | Application | Higher Ability | OF questions arks
1 Multlple Choice 1 5 5 9 9 11 11
Question
2. | Short Answer Question 5 2 1 4 1 8 40
3. Long Answer Question 8 0 1 1 1 3 24
Grand Total 4 7 7 4 22 75
Note:

= Appropriate extra time will be provided for the handicapped students and the alternative questions to the figure based questions should
be prepared for blind students.

= Questions should be prepared by giving the context and one question may have more than one sub-questions.
= Application and higher ability questions can be made by relating the other content areas.

= Questions should be made by addressing all the sub-areas of content.

= At least one multiple choice question should be asked from each area (Statistics and Probability).
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Secondary Education Examination
Model Question - 2078
Grade: 12

Subject: Business Mathematics (Bmt. 406) Full Marks: 75
Time: 3 hrs.

Candidates are required to give their answer in their own words as far as practicable. The figures
in the margin indicate full marks.

Attempt all questions.

Group A (1 x11=11)

Write the correct option in your answer sheet.
1. Two matrices A and B can be multiplied if
(@) No. of columns of A = No. of columns of B
(b) No. of rows of A = No. of rows of B
(c) No. of columns of A = No. of rows of B
(d) No. of rows of A = No. of columns of B.

x 00
2. Ifthe| 2 1 3 | =3, then the value of x is
014
@ 1 (b) 3 ©0 (d) 2

3. LetA= B ﬂ  then Adj.(A) is

5 -3 5 -3 13 5 3
(2) {_2 1} (b) L 1} ©) {2 5} (d) L J

4. The function f(x) = 2x? — 3x is increasing at

1 3 1 3
@ (3.0 () (5, » © (5. ) (d) . )
5. The value of _[01 xe* dx is
@1 (b) O (c) xe* (d)e
6. Ifk—-1,k+8and k+ 26 are in G.P., then the value of k is
(@ 12 (b) 9 (c) 10 (d)8
7. A project would normally be undertaken if its net present value is
(@) Negative (b) Zero
(c) Exactly the same as the NPV of existing projects (d) Positive

8. A machine whose scrap value after 10 years is Rs. 1500, depreciated at the rate of 12% per
annum on the reducing balance, then the original cost is

(@) Rs. 5386 (b) Rs. 1500 (c) Rs. 2500 (d) Rs. 15009
9. Insimplex method, the feasible basic solution must satisfy the

(a) non negative constraint (b) negative constraint

(c) basic constraint (d) common constraint
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10.

11.

12.

In a distribution, the difference of the two quartiles is 20 and their sum is 70 and the
median is 36, then the coefficient of skewness is

(@ 0.1 (b)-0.1 (c) 25 (d) 45

Two events are mutually exclusive if

(@) the sum of their probabilities must be greater than one

(b) if the occurrence of one event excludes the occurrence of other

(c) the sum of their probabilities must be equal to zero

(d) the difference of their probabilities must be equal to one

GroupB (5x8=140)

State the Hawkins-Simon conditions for the viability of the system. The output levels of

machinery, electricity and oil of a small country are 3000, 5000 and 2000 respectively. Each unit of
machinery requires inputs of 0.3 units of electricity and 0.3 units of oil. Electricity requires inputs of
0.1 units of machinery and 0.2 units of oil. Oil requires inputs of 0.2 units of machinery and 0.1
units of electricity. Determine the machinery, electricity and oil available for export.

13.

14.

15.

16.

17.

[1+4]
Solve the following system by using Gauss elimination method:
X—2y+32=2,2x-3y+z=1,3x-y+22=09. [5]
Suppose that the demand equation for a certain commodity isQ=60-0.1P. Is demand elastic or
inelastic at P = 2007 Prove that the relation

1 . . .
MR = AR (1 —a) , Where 7,1s the elasticity of demand, AR and MR are average and marginal

revenue respectively. Use this relation to find AR if MR is 25 and 7, is 2. [L+3+1]

The demand equation for a certain commodity is p = 20 — Q and the total cost function C =
Q? + 8Q + 2, determine the total profit, revenue and cost under profit maximization.
[5]

(@) The population growth rate of Nepal is 1.8% in a year. Model the situation using a
differential equation. What will be the population after t years? If the current population of
Nepal is 30 million, what will the population after 10 years? [2]
(b) A perfectly competitive market has the demand and supply functions

Q4 =170~ 8P and Qs =—10 + 4P.

When the market is out of equilibrium the rate of adjustment of price is a function of

dP o . : .
excess demand such that - 0.5(Qd — Qs )? In the initial time period price Py is 10,

which is not its equilibrium value. Derive a function for P in terms of t, and comment

on the stability of this market. [3]
Solve the following linear programming problem by simplex method to maximize z = 7x +
Sy subjecttox + 2y <6, 4x + 3y <12, X,y > 0. [5]
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18.

(@) Find Karl Pearson's Coefficient of skewness from the following data.[3]
Income 10 12 14 16 20
Frequency 5 8 15 7 5

(b) The mean and variance of binomial distribution are 4 and 4/3 respectively. Find P( 1).

19.

20.

21.

[2]

State Bayes' theorem. A company has rated 75% of its employees as satisfactory and 25%
as un-satisfactory. Personnel records indicate that 80% of the satisfactory workers had
previous work experience, while only 40% of the unsatisfactory workers had any previous
work experience. If a person with previous work experience is hired, what is the
probability that this person will be a satisfactory employee? If a person with no previous
work experience is hired, what is the probability that this person will be a satisfactory

employee? [1+4]
Group C (8x3=24)
(a) Find the area bounded by the x-axis and the curve f (x) = x3 — x? — 2x. [2]
(b) If the marginal revenue function (MR) = 6x2 + 4x + 3, find the total revenue function. Also,
deduce the demand function. [2]

(c) The demand and supply curves of an item are given by the equations Py = 20 — 3Q — Q?
and Ps = Q — 1 respectively. Find the difference between consumer and producer surplus at
equilibrium price. [4]

(@) Divide Rs. 2708 between Ram and Shyam so that Ram's share at the end of 5 years be
equal to Shyam's share at the end of 7 years, C.1. being calculated at 8% p.a.  [4]

(b) A man retires at the age of 60 and gets a pension of Rs. 1,200 per year in half-yearly
installments for the rest of his life. Taking his expectation of life to be 13 years further, that
the interest is at 4% p.a. payable half yearly, what single sum is equivalent to this pension?

[4]

22. The following table shows the relation between price and demand of certain item:

Price (X) 10 (12 | 20 | ? | 24 | 26
Demand (Y) | 16 | 15 | 14 | 12 | 11 | 10

(a) Calculate the correlation coefficient by Karl Pearson's method if arithmetic mean of X is 19.

[4]

(b) How can you find the correlation coefficient by using regression coefficient?
[1]

(c) Find the equation of the line of regression of X on Y. Estimate the value of X when Y = 30.
[3]

**k*k
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23. Library and Information Science (410)

Test Specification Chart 2078

Library and Information Science Grade 12
S Unit/Area WH | Marks | Remembering | Understanding Applying Higher No. of Marks Total
N ability questions Marks
VSQ | SQ | VS | S | L |[VS|S|L|VS|S |L})VSHS|L|VS| S |L
Q [ QO |Q |QIQ[Q|QIQLO |Q|Q[Q Q| Q
1 | Information: Concept, Types 10 6 2 1 2 - 1 - |1 -] - |2|-)4|3]1| 4|15 8 27
and Sources
2 | Application of Information 18 11
and Communication
Technology (ICT) in Libraries
3 | Library Automation 15 10
4 | Library and Information 15 10 1 1 1 - 1p1] 1 |1 3 3|13 |15| 8 26
Services
5 | Reference Services and Tools 15
6 | Library Legislation and 12
Policies
7 | Library Associations 8 1 1 2 11 y-- 141214 10 8 22
8 | Periodical and Non-book 14
Material Management
9 | Library Statistics, Publications | 13 8
and Annual Reports
Total 120 4 |2 |5 12|11 |2]1]1|2]1]11|8]3[11]40]24 75
Question and Mark Distribution
SN | Types of questions Number of Marks per question Full Marks Time
guestions
1 Very Short Questions (VSQ) 11 1 11 3 Hours
2 Short Questions (SQ) 8 5 40
3 Long Questions (LQ) 3 8 24
Total 22 75
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Library and Information Science

Grade: XII

Time: 3 Hrs. Full Marks: 75
The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Group "A"

Answer the following questions in very short. 11x1=11
Name any two types of information sources.

Identify one use of Computer hardware.

Define library automation.

Mention any two modules of library automation software.

What is library orientation?

In what cases one should use dictionaries, maps and biographies.

Why library policies are necessary? Give any two reasons.

When International Federation of Library Associationsand Institutions (IFLA) was
established?

9. Write any two importance of library association.

10. What does periodical mean?

11. Which publication of an organization can cover overall activities?

NGOk wWDdE

Group "B"
Answer the following questions in short. 8x5=40
12. Describe three different types of information with suitable examples.
or
Differentiate-between data and information at any three points.
13. What are the devices used for information and communication technology? Explain in
brief.
14. How will you apply library automation software for circulation work? Elaborate it.
15. Describe in detail the process of delivering current awareness services about new arrivals.
16."How many types of reference services are there? Briefly describe them.
17.What Nepal Library Association (NLA) should do to promote librarianship in Nepal?
or
How Nepal Library Association can advocate to promote librarianship in Nepal?
18. identify the needs and importance of library statistics in our daily life activities.
19. Which are the major sections of a library that provide necessary statistics for compiling
library statistics? Explain in brief.

1%



Group "'C"
Answer the following long questions. (3x8=24)
20. How will you assist users to access international journal's articles from your library?
Elaborate the procedures in detail.
or
Assume that you are working a research institutions library and information center..Your
organization acquires journals and periodicals to support research and innovation..Your
main job is to manage the journals as per the rules of library and information-science in a
scientific way. In this, case, how do you manage the collected journals and periodicals so
that you can provide service in an efficient way? Elaborate.
21. How Library legislation and policies can apply to library management and service
delivery. Elaborate in detail.
22. How to manage collected periodicals in a library? Explain.in detail.
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Test Specification Chart

© Plan for Question and distribution of marks covered
< | Uni | Content Area Teaching | Knowledg | Comprehensio | Applicatio | Higher Total Tota | Total
‘g t Hours e n n efficiency | Question | | Mark
) covered S
v \Y \Y
VS |S|L |VS S |L |VS |S|L|S |S|L|S |S
1 Nutritional Requirements and
c Food Habits 8
2 | 2 | Digestion, Absorption and
s utilization mechanism of Food in
2 Human Body 5
c 3 Meal Planning and cooking of
g food
T 4| Food safety and hygiene 9|1 - - - - |1 |- 1] -|- |1]|-] 1] 2 4 19
Play and its importance in
£ | 1 | childhood 8
] Concept of Growth and
€ | 2 | Development 5
[e) .
5T 3 | Early Childhood Development 6
S 8 | 4 | Adolescence and Family 112 |- |- |2 - |- |1 -l 1]- |11]-] 5|1 7 18
E 1 | Money Management 8
GEJ 2 | Resource management 8
o & | 3 | Interior Decoration 10
E S
2 s 4| Income Generation Activities 2 |1]-]1 1 |- |- 10- - |[-1-1]1 3|3 6 18
o 1 | Costume Development Theories 6
£ S 2 | Fashion and Désign 9
5 T 5 Dyeing, printing and Stain
O 50 3 | Remove 9 - 1)- 12 1 |- - - - - 11 2] 2 5 20

19%




Body Measurement and
4 | Decorative Stitches

Total

120

24. Home Science [Hos.412]),

Notes:
1.

The alternative short and long questions will be asked from appropriate chapters taking in to account the nature, depth and coverage of

the contents.

2. Very short question will be of one (1) mark and there will be eleven (11) questions from each of the chapters to the possible extent.
3. Short question will be of five (5) marks and there will be eight (8) questions.from- each of the chapters to the possible extent. All the
questions shall be compulsory. However, two alternative questions will be added to any two questions among the total questions asked.
4. There will be three long questions carrying eight (8) marks. All the questions shall be compulsory. However, one alternative question will
be added to any one of the three questions.
Types of Question
Types of Question Numbers of Total marks
Question
Very short answer type 11 11x1=11
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be-arranged from first very short questions (Q.N. 1 to 11), short answer questions (Q.N. 12 to

19) and long answer questions (Q.N. 20 to 22).
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Te fasm (Home science [Hos.412])

wem (Grade): XII

wa (Time): 3 Hrs. qutes (Full Marks): 75
T W AR TEHT WieE IR AT B | (FARTAT [43UaT demhe ieHars sS9s |
(The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

T % (Group A)
i aefr Saaws yees (Very Short Answer Questions)

I 7v g« e (Attempt All Questions) (11x1=11)

1. MO qeH & 2 7
What is absorption?
2. STATTHIHAT TG U F 35 B AR |
Write any two influencing factors of child-development.
3. gig ¥ farafa=®r &7 UF HF AT |
Write any one difference between growth and development.
4., areaTtereRte! atg T faeTaHT araraReiE e A T q1E, 7
How do environmental factor influence on growth and development of
child?
5. URTETEF STATTHIRIE B 5 8, Jedd TR |
Mention any two domains of early childhood development.
6. TUTE URTEAF AT AARITAT FTHINAE TTITHT (AebTE T AT FedNT T F 8 H(aT
EESCRIBERE
How do you help-to develop social language in early childhood? Mention
any two processes.
7. w7 fasr wAfafafy I THER |
State income generating activities.
8. favir weirarciierr @Rt Stfaes #et fobe Feeaaol @ 2 & T8 FRV R |
Why organic manures important for sustainable farming? Give any two
reasons.
9. goreh AT ART F T3 ATIRYT TSH AW GTE4 |
Name any two basic colors for making a color chart.
10.a7dqTERIT e gl & T TANT deTerd |
Write any one application of environmental adoption theory.
11977 drare AuTre arit aqrd 6T SR8 B 0 % g8 RO deTRE |
Why proportion is necessary for making beautiful dress? Give any two
reasons.
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a1 @ (Group B)
T IS qee® (Short Answer Questions)
I v & e | (Attempt All Questions.) (8 x5=40)

12.39 TISHN T=aT ¥ ThA AT ToeATeh] @I ATHIATE qUTE Fa] AT THES, ¢ bl T
qfeH Iwoig TR |
How do you maintain food habits of weaning child and school going
children? Suggest any five ways.
13, 5RTIT TRAT @I GRAT T AUl AT AT T GTH T AR TR
FATIT HEL T Flhr, ?
How can food hygiene and personal hygiene be implemented in
household level in maintaining food safety and good-nutritional status?
14." sTeaeTa T e ATFeE @ qite T ar |
"Play is necessary for childhood". Justify.
15,35 (AT =R G TS Tard ¥ Tcdehebl SIEehAT qUH A |
List the steps involved in making budget and describe each briefly.
Faar(Or),
TIRATE STl THRH! U T |
Discribe types of family budget.
16.957 Fsrae &l e ey dXraee!, U THed |
Describe the things tobe considered while decorating flowers.
17 9fanar Fe@l FH, (99, AT T AAgradrs (67 Aecdqo A19d Alael &A1 fageg 7
TN THer |
Why knowledge, skills, abilities and attitude of the family members are
considered as important human resources? Explain.
18.91¢R ATAT®T IYLHT ARHT & & g ?
What ‘are the appropriate ways of body measurement?
19. %@ T fereAta=e® & I ®iF AR |
Write any five differences between fashion and design.
gaar(Or),
Gre? qTATehehl e ATl e |
Explain the components of beautiful dress.

¥ge 7 (Group C)
| Saeas geew (Long Answer Questions)
g+ & TR | (Attempt All Questions.) (3 X 8 = 24)
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20. @Y YFSTHT HT X FRO =T THEE T @HET THST F 58 qARHH AT
T |
Identify any four reasons for cooking foods and explain any two methods
of cooking.
srear(Or),
QT 3T & YiehaT T WA T@EAAT JqEH J1d AT TR |
Explain the process of food contamination and its effects on human
health.
21. qUE qRERHT FE AEATAIN q¥aed faebTe TS, 7 TAHT TR Tl TIPT AHeRT
U TR |
How you develop harmonious relationship within family? Elaborate the
role of all family members.

22. T qUIE & v FANTHT HH g3, IS TAR T AR GETEHT T @ |
T ATATH] TATS I INTATE FA ETSEg / TAH! TFIUT GIhdT [ TR |
Suppose you are working in a garment factory and the cloth you are
about to make are stained. In this situation hew.can you remove stain

from the cloth? Elaborate the practical processes.

qro



22. Environmental Science (414)

Test Specification Chart Class 12
S. Unit/Area WH | Marks | Remember/ Understand/ Apply/ Higher No. of Total
N Knowledge Comprehension Application ability questions Marks
vsa | sa | La | vsa s [La |vsa [sa |La |vsa |sa |Lla.fvsa“fsa | La |vsa |sa |La
1 | Atmospheric 12 | 8 1 1 |- 1 - - 1 - |- - 12 2 |1 |2 108 |20
environment
2 | Hydrospheric 10 |6
Environment
3 | Lithospheric 10 |6
Environment
4 | Biodiversity Assessment | 10 1 - - 1 1 - 1 - 1 1 |- |4 2 |- |4 10 | - 14
5 | Climate Science 12
6 | Solid Waste 14 1 1 |- 1 1 1 |- 1 - |1 - |- |4 3 (1 |3 15|18 |26
Management
7 | Environmental 12 |7
toxicology
8 | Pollution Control 15 | 10
Approaches
9 | Environmental toolsand | 12 | 7 1 - |- 1 - - - - 1 |- 1 |- |2 1 |1 |2 5 |8 |15
technigues
10 | Environmental Policies 13 | 8
Total 120 | 75 4 2 - 4 2 1|1 2 1 2 2 1 11 8 3 11 40 | 24 | 75
Question and Mark Distribution
SN Types of questions Number of questions Marks per question Full Marks Time in minutes
1 Very Short Questions (VSQ) 11 1 11
2 Short Questions (SQ) 8 5 40 180 minutes (3 hrs)
3 Long Questions (LQ) 3 8 24
Total 22 75
Remarks:

Weightage in the combined cell should be met, but £2 marks variation will be allowed within the combined cells. But cannot be nil.
In total cognitive distribution should met. +2 marks variation will be allowed within the cognitive levels.

SQ and LQ can be structured. (have two or more sub-items). SQ and LQ can be distributed to two or more cognitive behaviours.

The distribution of questions based on cognitive domain will be nearly 20% knowledge/remembering, 30% understanding, 25% applying and

25% higher ability level. Higher ability covers analysing, evaluating and creating levels.
In the case of short question there will be 2 "OR" questions and in the case of long question there will be 1 "OR" question.
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Grade: 12 Full Marks: 75
Subject: Environmental Science Time: 3 hours
Candidates are required to give their answers in their own words as far as practicable.
The figures at the right margin indicate the full marks.

Attempt ALL the questions.

A. Very Short Questions 11x1 =11

1. Define lentic environment.

2. Give any one importance of humus on environment.

3. Write any one importance of biodiversity on agricultural sector.

4. Mention any one activity that you can follow to reduce greenhouse gases emission.
5. What is climate change resilience?

6. Write any one implication of vegetation sampling in-biodiversity conservation.

7. Define zero waste management.

8. Mention any two impacts of bio-magnification in ecosystems.

9. "Vermicomposting is more suitable than any other compost as manure”. Justify it

any one point.
10. Define Geo-referencing.
11. Write any one use of topographiC map in environmental studies.
B. Short Questions 8x5=40

12. “Water is life supporting component of an environment”. How unique properties of
water support the above statement?

13. How can we use the-knowledge of hydro-logical cycle in agriculture? Explain the
procedures.

14.Why is sampling sites selection important during biodiversity assessment? Explain
one method used to collect data on biodiversity.

15. How has.global warming affected the world so far? Analyse critically.

OR
Critically analyze the impacts of climate change in Nepal and explain any two of
them in details.

16. Differentiate between bio-accumulation and bio-magnification in the ecosystem
with examples.

17. Let’s suppose that there is a factory nearby your locality that releases toxic effluent
into the river. Suggest how such effluent can be treated so that it does not harm the
biotic ecosystem.

18. Describe the legal approaches for pollution control in Nepal.

OR

REE


https://www.eesi.org/climate-change-FAQ#what-is-climate-change-resilience

Describe the 3R principal of solid waste management.

19. What are the applications of GIS in environment studies?

C. Long Questions 3x8=24

20.Compare the changes in meteorological parameters in the vertical zonation's of
atmosphere and analyse how such variation affects the overall climatic activities.

21. What is integrated solid waste management? Describe the different methods.of solid
waste management in Nepal.

OR

How is solid waste management done in your locality? Explain with reference to
hierarchy of solid waste management.

22.What kind of procedure will you follow if you are appointed as EIA officer in a
national project? Explain such procedures.

13



26. General Law-11 (416)

Class: 12
Test Specification Chart
Plan for Question and distribution of marks covered
Unit | Content Area Teaching | Knowledge Comprehension | Application Higher ability | Total Question | Total | Total
Hours covered Marks
VS S L VS S VS S L VS |S L VS |S L

1 Nature, Theories and Classification 14

of Rights
2 Enforcement of Fundamental 16

Rights in Nepal

1 1 1 1 1 2 2 1 5 20

3 Law Relating to Land and Property 14

in Nepal
4 Law Relating to Intellectual 16

Property 1 1 1 11 |2]2]1] s 20
5 | Laws Relating to Transaction and 12

Secured Transaction
6 | General Introduction to legal Deeds 16

and Drafting of Deeds 1 1 1 1 1 3 14
7 Introduction to Criminal Law and 10

New Forms of Crimes
8 Criminal Investigation and R

Prosecution system in Nepal 2 1 1 1 3 |2 5 13
9 Jurisdiction of Courts and Quasi- 12

Judicial Bodies in Nepal 2 1 1 3 1 0 4 8

1200 7 | 2| o] 4 |3]| 1 1] 1 2| 1|11| 8| 3| 22075
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Notes:
. The alternative short and long questions will be asked from appropriate chapters

taking in to account the nature, depth and coverage of the contents.

. Very short question will be of one (1) mark and there will be eleven (11) questions

from each of the chapters to the possible extent.

Short question will be of five (5) marks and there will be ten (8) questions from
each of the chapters to the possible extent. All the questions shall be compulsory.
However, two alternative questions will be added to any two questions among the
total questions asked.

There will be three long questions carrying eight (8) marks. All the questions-shall
be compulsory. However, one alternative question will be added to any one of the
three questions.

The weightage of the question shall not exceed twenty percent in knowledge level,
no less that 20 percent in higher efficiency and in other level ‘question may be
asked as per necessity.

Types of Question
Types of Question Numbers of Total
Question marks
Very short answer 11 11x1=11
type
Short answer type 8 8x5=40
Long answer type 3 3x8=24

Note: Numbering of the questions should be arranged from first very short questions
(Q.N. 1 to 11), short answer questions (Q.N. 12 to 19) and long

Answer questions (Q.N. 20 to 22).
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1.

2.

" w9 (General Law [Gel.416]
& (Grade): XII
¥9g (Time): 3 Hrs. quites (Full Marks): 75

TRIEATHS THEGFT AR T HT Hifee I faqa @ | framrar fagusr s quigsars
srse | (The candidates are required to give their answers in their own
words as far as practicable. The figures in the margin indicate full marks.)

T % (Group A)
afq agiya Saaes wwaee (Very Short Answer Questions)
I3 yyew g« e (Attempt All Questions) (11x1=11)

fererrerra=l Afgeers aieATira T |

Define the Right of Education.

TATART AU TRIEAT TPT SIS ARTREHT I T2 ATFR Jeeld THerd |

State any two right of senior citizens protected by the-canstitution of Nepal.

3. difge wwafa & & ?

What is intellectual property?

4, faeefra aeafaer & ST IIERV AETRIH |

Write any two examples of cyber properties.

5. zal T % 73 fa@asl 9% I TR |

Write the name of any two deeds to be registered.

6. JTIRTIHT THE T5 d<T AATITEE |

Point out two major elements of crime.

7. FIT S X@TET T T -Tag 2

Who can file First Information Report (FIR)?

8. faeifaar srarere .35 IIMERT ACTE |

Write any two examples of cybercrime.

Q. AT faveT &TaAd H{qsiar S ?

How many Special Courts are there in Nepal?

10. AIFHT B AITATATE ATHAE A=A HAR FaTg, ?

Which court is known as record of court in Nepal?

11 AT fSeT SARTadqe! Teelal SR deied |

Write any two jurisdiction of district court in Nepal.

w1 @ (Group B)
g Saes TeEes (Short Answer Questions)

s 7ve &« e | (Attempt All Questions.) (8 x5 =40)

12, dfqe 99 & &1 ? TFH Thid IJooi@ TRl |

What is right? State its nature.

13. FAT AR ¥ Hifeds Afadrias fa=ar gaereTe™ |

Differentiate between legal rights and fundamental rights.

%



14, 7arg XYZ =i ¥ FIAT GecdtedR g1e7s | XY Z ¥ dreiimes feamed

#obt ABC F¥aeTel TRT TRT SAa=ATHT Il [qaTad T HAl Geale [a el |

If you are the legal consultant of XYZ private company, XYZ
Company's industrial design is used by another ABC private company.
Give legal advice for this issue.

15, T 9fRaR a1 ANTRFHT ATNT STWTHT gga=al el TUH Jraar fFeereor T |
Analyze the provisions regarding Land ceiling for a family or a citizen in
Nepal.

16. FFaT & & ? AeHH ARAST FAAT TFeH IJooid THR |
What is transaction? Point out the four legal provision of transaction.

grear (Or),
FHEATAH! HEAT JTAITH Foel@ Tl |
Write down the legal provision of deed of will.

17. HISERT HAS Her (g i samen THar |
Explain major principle of Criminal law in brief.

18. aTerRT RITERT ATTITSIT JUITEET. ATRAT 7T [GE |
Give your opinion about the criminal prosecution system of Nepal.

19. ForerAT g =Afae AP arerEer HTHw U AR
Explain five function of the quasi- judicial bodies in Nepal.
et (Or),

TR Ao AGTATH] AGTARY SATTIRT FHAT ATATISTE |
Point out the right of extra jurisdiction in Supreme Court of Nepal.
e T (Group C)
AT STHF Teew (LongAnswer Questions)
T gv g« R | (Attempt All Questions.) (3 X 8 =24)

20. FOTAT AR HifeTeh, ATFRPT ST TP ATATTAFIRAT Eeheb] FTATAAT FEL TZTEHT
e
How is the fundamental right to housing implemented for Nepalese
citizen?
sraar (Or)

TOTAR] AT ATATT THINTH AR ATTFIRDT ATLHT SAT@IT THRI | TS ATHT
e STramer a7 Jifas afaerers FE8 TR Tews ?

Explain the right to privacy according to present Nepalese constitution.
How do you use this fundamental right in your daily life?

21. qrastieF FEIadrs {6 AT TETIS 7 AT G ¥ GRFRT GEIaHT & e
g ?
Why are the public properties required to be protected? Is there any
difference between public property and Government Property?

22. SARETATAT ARl & &1 ? AR I T Afresd aradrHT fa=r fa=idr gaarsed |

RV



What do you mean by power of attorney (warisnama)? Differentiate
power of attorney and authorize power of attorney.
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R, femme [Fin.418])

fafirsdrereor aifereer e e IR
9T ST qIT ASHAR faaeor
THE a7/ T LIEX] T Clk: TGRT SoF AT | ST T8 Fe&T ST PR
T | aftr || aeh | ke | e e || e || |t afte | e e o e [ | g
Bl Il Bl Bl Bl BIel
q. afe= g q0 q q q q ] R Rl 90 A
3| fadr faaroes quar gfqasd 5
EASRESR
3 ExIPEEREEN 1R 1] 9 q q q 3 9] 1] 2 4| & 9%
¥, | GSirel Sd 93
£ IS "R 94 q 9 ] 1 R ] 1] X| 4| & 4
& | HUUT T YA HATRA 1R
9. | TR R dEEE 1% 1] 9 9 q q R 9] 1] 10 = <
. | @H YSI T ETe] et 1%
HTEITIH
.| wTwTeT AT ATHATeT fadwer 0 | 9 1] 9 | | 3 R 3| 9o 93
ElEIEY
q0. | F=IEA fawremer 30
ST Ro b | R 3| 3 3| | 9 ) | 9| s| 3| 99| ¥o| ¥ 6y

T ;. AT BT T § AGHH g S, T-FHFGFH G THZ FHET T 99 9T @7 S | BIeT F9F Y ASHF &1 G 7 AHavH UHSH! iariacd g
T & 999 @A S | ATHT YA, & AGHHN g7 &1 T 3 I97 & & |
3. S TEHT JUIMEHHT R0 HAMTH TG LI, I=o I&7cT JTeAl R0 FIATHT Toar TR T FF TeHT ATeTFATTAR T T8 S |

3. @S AEHT (AT TR T ATATFATTAR AT BIaT, DIl T ATHT 97 6 G | T TeHT G @Al I I ATarar g | S=o qerarsieiid
forerooT, HeaTgeh ¥ fasiATcA® dedhl T9 TEar |
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fererer (Finance [Fin.418])
e (Grade): X11
wwa (Time): 3 Hrs. quites (Full Marks): 75
TSt TEHEE TR ST AifE SR G B | AR frgua aewe e e s |
(The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

e & (Group A)

afq wefr<r saend gees (Very Short Answer Questions)
Ty g« e (Attempt All Questions) (11x1=11)

raaiad faaere q=aw % 21 7(What is business finance?)

i giqaeme e @etere | (Write the meaning of annual report.)
= FaTa 39 @rg =ven e (Interpret current ratio 2:1.)

. U3 AHBAM HUEAT (H1§) F1 ®GHT qUTS & ATAITHT AN M6 F=gb gigre ¢ T (b
?(As a short term creditor, at which ratio would you interested to invest ? and
why?)

Y. ST MU Hed g5 Hhreardl =1 qar 9erE |-(List'out two major advantages of

long term debt.)

% EatgE Stew 7 fadia SiteAtaeer w38 faear g@rsaeE 1 (Show any two
differences between business risk and financial risk.)

o IfaeR IRE A gEAter faewar Swr@ e | (Mention any two features of
preferred stock.)

. @ fRar sEtg Wl & a7 (What is payback period?)

?. o w99 weter | (Write the meaning of stock dividend.)

Q0. HTEIE U3l FHESTA AU .90 G FATAL HTOT T | Q00 ATl AT HUH! A bATA
*fq «rarer mrger? (Assume that a company declares Rs. 10 per share cash
dividend. How much cash dividend the investor with 100 shares of the stock
will receive?)

1. et avars STgaa st atedrra e | (Define the exchange rate with an

appropriate example.)

< v 0

aqg @ (Group B)
Fe<r Saed yeew (Short Answer Questions)
T ye &= e | (Attempt All Questions.) (8x5=140)
. %Y deAF @i faxira sE=amEwr fver v e | (Describe the roles of the

financial manager in a firm.)
930
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9%.

ALE

1%

19.

9z.

9%

foirr faaRorert g@ garear &0 & g4 ¢ aren e | (Who are the major users of
financial statements? Explain.)

FE IR AERIAT /90, 30 fa wuar aiftfes yfqera anTd ¥ qoraebdy arftier 3¢ Il s {erd
| (Find out the annual percentage cost and effective annual rate when the credit
terms are 2/10, net 30.) (2+3)
T HFAIH (R goorem and %3 g, qgae Uee Icmed &l and aREfa Ao
ARTT %994 9t fefax 7 o faghl e %300 9fq forax e g | At goara qafag fofewar
¥ FfmEr wia &1 7 (Surya Company has fixed operating cost of Rs.-:3-million a
year. Variable operating cost is Rs. 175 per liter of primer paint produced, and
averaging selling price is Rs. 200 per liter. What is the annual-operating break-
even point in liters and rupees?)

e fafor s @t fast #.4,00,000 WY Heard famEFdT d T 90 WEH ) |
HTETHT /9T qiRerd st R0 fad ¥ g @ waty 94 e @Y " o auar %o 6T g
|

(Jyoti manufacturing has annual sales of Rs.5,00,000 with an inventory
turnover ratio of the 10 times. It hasreceivable collection period of 20 days,
and a payable deferral period of 15 days. Assume 360 days in a year. )

(@) Wrsara gt sty #fa & 2(What'is its inventory conversion period?)

()

(@) e afvore =gt o TR | (Calculate cash conversion cycle of the firm.)
3)

A TR AETH Saavdew & & g =ren e | (What are the motives for

holding cash bya firm? Explain.)

ArATeT qEATIE gEfaq gfwaes @men T | (Explain the dividend payment
procedures in practice.)

=ET ¥ ATy qeard THerg | fadestamar f=ar s@rsTeE | (Define spot rate
and forward rate. Distinguish between them.)

(3+2)

aerar(or)

fey =M U g qHUE AT AT S g | SeraTs JHUE! AT ¥,000 AT HAETAFR
TG | AT I ATHHN faTaR i AT 49,29 T A ITh THIE @ FA AHG, 7

11



(Mr. Neupane is going to China for one week tour. He needs CNY 5,000 for his
tour. How much will cost him if the selling rate of Nepal Rastra bank for CNY
iIs NPR 17.977?)

e T (Group C)
A JIIcHSF JEaes (Long Answer Questions)
T3 yee g« e | (Attempt All Questions.) (3X8=24)

R0, fTA FFAH (FTaRs g1 & ttaaaar 39eed g (The following information.is
available from Dipsan company; Rs. in million):

T (cash) Rs.100

fer weafe(Fixed Assets) Rs. 283.50

et et (Quick Ratio) 2 fem(times)

e fagir s sEfa(Days sales outstanding) 40 fe(days)
fers1(Sales) Rs. 1000

gz 1%1(Net income) Rs.50

=<1 s (Current ratio) 3 um(times)
gleadrn giasw«(Return on equity) 12%

o 3o femHT smativa @(calculationtis based on 360 days)
T TR (Calculate):
() =TT fasht TR (Accounts receivable)
@) =« =tiae (Current liabilities)
@ =« @ear (Current assets)
(=) &= &Ha (Total assets)
(%) FHfqargiawa (Return on assets)
(=) FrEar geEdr (Common equity)
(@) @rerer = (Long term debt)
(37) gg ArhT s aive feqeE | (Define net profit margin ratio.)
24, T feuer Horar o T | (Compute the value of following bond.)  (3+5)

() wivawr st (Maturity period) 10 yrs.
asfea wea (Par value) Rs. 1000
=er (Interest rate) 0%(Zero coupon bond)
yiaweer 2 (Rate of return) 12%

3R



(@) TIAT HTEAA %.9000 HIfhd Hedl HUHI, 0% Afatoege HITH ST AT | STHbT TR
RS B, 9o HuaAR 44 Hia g1as (A firm has issued Rs. 1000 par, 10%
coupon perpetual bonds. If required rate of return to bond holder is 12%,
what should be the value of bond?)

wga1(or)
ERYT TR IR=T e | g@dr fewar = T | (Define common, stock.
Explain its features.)
(3+5)

3. PR ATAET Ui, o RTITSRE FISHTSIAE Y a9 FaT o Ugel FAT a9 a9 T JAH B |
Al FIH AN %.30,00000 T T ¥ AUHT AN AT qGH A% AME JaTe AR &
@ (Koshi Yatayat Pvt. Ltd. is considering to add one new bus to provide service
from Jhapa to Kathmandu daily for 5 years.. New bus costs Rs. 3,000,000.
Annual net cash inflow for five years will be as follows);

a9 (Year) e yare (Cash flow)
(30,00,000)
10,00,000

9,00,000

8,50,000

7,00,000

8,00,000

gl | W| N k| O

(%) P Frarara gifa e fwal safs #fa a1 ?(What is the payback period of Koshi
Yatayatpvt.ltd.?)
(2)
@) PR ararard urfa @ afueaw @ma feat g 4 a9 quAr |91 99 @ke 75 ¢ (Should
Koshi Yatayat purchase the bus if its maximum cost recovery period is 5 years?)
(2)
(W) Flq GTwReH 3 0% & W 4 Ui w1 gg e Hea o e | (If required rate
of return is 10%, calculate the net present value of Koshi Yatayat Pvt.Ltd.)

(4)
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28. Computer Science (428)

Specification grid 2077
Grade: 12 Subject: Computer:Science Theory (Com. 428)

Competency level m
: X
Remegnberln Understanding Applying Higher Ability g
[<B]
g § So|So 20/ o Jo |20/ So| Jo |20 o So %
c% S E 2|l el el e gl e gl glergleeeeleleogeee|2
= A S| 8| S & S B & B & = | S8 Sl S|SB LR LB <
S S |B|=% =% =%=% =|'8=/%=\%=%=%-=%=|2°
© = 13| |8 |8 |8 |8 ~lsv1|3 |38 |8 |3 |3 <
tS ‘s ‘s ‘s tS © ‘s kS ‘s kS kS S
S S S S S S S S S S S b=
Z Z Z Z Z Z Z Z Z Z Z 8
1 | Database Management 12 8
System (DBMS)
2 | Data communication 15 9
and Networking
3 | Web Technology I 12 8
4| Programming In C 12 130315 22 2h0]-|- [2)2]t|s 1|8 2|2 ]1]5 |1 |8 |
5 | Object-oriented 10 6
Programming (OOP)
6 | Software Process 10 5
Model (SPM)
7 | Recent Trends in
9 5
Technology
Total Marks 80 8 12 15 15 50
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Item format plan
S.N. Type of item | Score | Total item | Total score Time
per
item
! Multiple Choice Questions 1 9 ] : 25
minutes
2 | Short Question Answer 5 5 25 95
3 | Long Question Answer 8 2 18 minutes
Grand Total 16 50 2 hours

Remarks:

e Item format in composite should be met as per the specification grid.

o Designated weightage in the combined cell should be met, but £3 marks variation:.will be allowed within a unit/content area. But no unit
can be nil.

e Inthe case of SAQ and LAQ, these should ensure that 1 mark will be assigned per element expected as correct response.

e The distribution of cognitive domain of questions should be nearly 15% knowledge/remembering, 25% understanding, 30% applying and
30% higher ability level, but £5 percent variation will be allowed in‘overall question set.

e SAQ and LAQ can be structured (have two or more sub-items). SAQ and LAQ can be distributed to two or more cognitive behaviors.

e Insuch case these will be added to their respective cognitive.behavior. In sum the distribution of cognitive behavior should be
approximately to the required distribution. In case of SAQ-there will be 2 "OR" questions and in case of LAQ there will be 2 "OR"
guestion.

13%



Model Question
School Leaving Certificate Examination

2078
Grade: Grade XIlI Subject: Computer Science (Th) Subject code: 428
Full Marks: 50 (9 marks Obj + 41 Marks Sub) Time: 2 Hours
Group A: Multiple Choice questions (9 x 1=9) Time: 20 minutes

Tick the correct answer.

1.

Which of the statements are used in DDL?

A) Create, alter and drop B) Create, insert and select

C) Insert, update and delete D) Delete, alter and drop

With SQL, how do you select all the records from a table named “Persons” where the value
of the column “FirstName” ends with an “a”?

A) SELECT * FROM Persons WHERE FirstName="a’

B) SELECT * FROM Persons WHERE FirstName LIKE ‘a%’

C) SELECT * FROM Persons WHERE FirstName LIKE ‘%a’

D) SELECT * FROM Persons WHERE FirstName="%a%’

Which of the following statementsis true about a star network topology?

A) Each device is connected to a switch or hub

B) Each device is connected to each other

C) Each device is connected in a trunk

D) Each device-is connected to a terminal

Which of the foellowing is the correct syntax to display "Stay Safe" in an alert box using

JavaScript?

A) alert-box("Stay Safe™); B) confirm("Stay Safe");
C) msgbox("Stay safe"); D) alert("Stay Safe");
What is the use of <A> tag?

A) To insert an image B) To create a link

C) To create a hyperlink D) To create a list

93¢



6. What is the output of given C program?

void main(){

7.

char strl[] = "FIRST"; char str2[20]; strcpy(str2,strl);
printf(*'%s %s " strl,str2); printf(*'%d", (strll=str2));
printf(**%d", strcmp(strl,str2)); }

A) FIRSTFIRSTO0O0 B) FIRSTFIRST 11
C)FIRSTFIRST 10 D) FIRST FIRST 01
Where is a class derived in inheritance?

A) Superclass B) Subclass C) Subsetclass
Which of these is the correct order of the SDLC?

A) Analysis, Design, Coding, Testing, Implementation

B) Analysis, Design, Testing, Implementation, Ceding

C) Implementation, Coding, Analysis, Design, Testing

D) Design, Testing, Implementation, Coding, Analysis
Why is cloud computing popular nowadays?

A) Cost-sharing and easily accessible

B) As modern technology.and costly

C) Accessible and freely-available

D) Affordable to all

3=

D).Relativeclass



Model Question
School Leaving Certificate Examination

Grade: Grade XIlI Subject: Computze?7§cience (Th) Subject code: 232
Full Marks: 50 (9 marks Obj + 41 Marks Sub) Time: 2 Hours
Group B: Short Answer Questions (5 x 5=25)
1.  Explain 2NF and 3NF with examples.
OR
Demonstrate the basic DML statement with an example.
2. Write a function to add any two numbers in Javascript.
OR
Demonstrate the external CSS implemented in the web page.
3. Describe any five features of OOPs.
4.  What are the different stages of software planning? Describe.
5. Define the concept of Al and I10T. (2+3)
Group C: Long Answer Questions (2 x 8=16)
6. How do you implement the Class C IP.address'in the local area network? Describe.
7. Write a program to enter ten integer numbers into an array, sort and display them in

ascending order.

OR
Write a program to read the marks of any 5 students in a subject and count how many
students are pass and-fail.
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Appendix
Test Matrix

Competency level

Remembering Understanding Applying Higher Ability o
O O O O s
o - so |So|so|o| Jo|so|foylo | so| o Jo | =
< 2 =
Z I g | ¢ 2 2 2 2 2 2 2 2 2 2 8=
3 g |S sl olgl gl |8 B\ 2| | S slo1gl |8 5=
(5]
2121212212222 =€ 22222122222 =2|E
o o o o o o o o o o o (@)
S S S S S S S S S S S o
z z pd pd = pd z pd pd pd pd
1 | Database Management System
(DBMS) 12 1 |1 1|1 1|1 |1 |5 8
2 | Data communication and
Networking 15 Lt 18 ;
3 | Web Technology Il 12 1 |1 111 |1]5 8
4 | Programming in C 12 1|1 1] 8 8
5 | Object-oriented Programming
(OOP) 10 1] 5 111 6
6 | Software Process Model
(SPM) 10 1 |1 1 (5
7 | Recent Trends in Technology 9 115 5
Total Marks 80 8 12 15 15 50

Note: This is the test matrix prepared for this set only but for other sets of questions test matrix may be varied.
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R%. Fregear [Beh. 432))

Greadebell HET 93
T ATSTAT AT ASHFAR faawo
THTS THTS & TETATR A arer TANT I=d TEIql Erpkite) STERT
97
¢ g qgT HeThel
Rretrerr afema Y
2 YR AATIITF 3T Berg S
9 9 9 9 2 9 ¥
3 |FAX GaaTehl YR q0
Y BT 1A T BTl YR Y
9 9 9 9 R 9 9 ¥
S | tfera 10
€ . 94
RSN 9 9 q 9 R q 9 ¥
4
O | v T
¢ | e ¢
Q FATAAT TTTTF T TSHT TART %
9 9 9 9 B R ¥
STHAT g0 ¥ ¥ R 9 R 9 9 9 2 4 kS 9%

T . AT BT TIF  ASHH &7 G ¥ AHATH o ThTg GHIAT T & T & B |
o TIAT T ¥ ASHH & Tl T THaH o UGS FATaed g1 T % T & G A % g5 9o faspeq fad afer @
o OHI WIT & HGHH & T T R TIH Ted B AT % Uk YAHT facked fad At 3 |
e FTH TAEHT R0 IATHT TAGH, TN, = &7 TeHT R0 YIALTHT e T T AT TeHT ATATRATTAR T & B |
o T TEHT fATUHI Wl T AALTHATTAR AT FeT, FIaT T ATHT YIF & S | T TEHT T GIAh FI7 I ATarddr gae | =
TEHAT <A [T, HATGHA T [qoIcHsd qedhl T99 B S |

1%¥9



di=dt qar wen (Beautician and Hair Dressing [Beh. 432])
e (Grade): Xl
=wr(Time) : 2 Hrs. quitgss (Full Marks): 5
TS FHERT TR STEAT Aifdd IO G B | FFARTT fESuaH dgwe quieddTs e,
| (The candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.)

e % (Group A)

afq agiya Saaes wweew (Very Short Answer Questions)
I3 yyeEd S fer (Attempt All Questions.) (9x1=9)
Araderarel aR=rg fae |
Sfuere o amavas g7 &7 33 PR fEEE |
gfes®r AT ATaegw AARATH =1 TATS T84 |
ETGECTRT RN ATNT ATAITF o AR ATHUTR] A ACTE |
STSATIRHAT 9T Fagehl % 2 Hewd Ioci@ TR |
oY TEITATAR ST RER T % g5 fafd aeterd |
HIETd T (S ATeT TSI & &% &l 7
TUTE IERERT ISIREBT ATNT JUIAHT [ATTHT TS FET TS, 7
FITAAT IR ¥ AT HId oY NG, 7

S e M 0 X W v

¥ @ (Group B)
T Saens qeaeE (Short Answer Questions)
a9 yyeEd SO¥ e | (Attempt All Questions) (5x5=25)

%0, qUTES THTETE, THIYH! TITTHT Avadehel] qdT HTHAT TAREB! HAIT FTCHT
STFAT ST, FET T |
T
Hewl, FATST ARl Iwol@ el | TJ9qells [dadwaehl ®IHT H& FAN T4
qichres, 7
29, BTagael IRIRTS T [dfg & & g 7 SIahH delald |
9. AT BIATH! HIFGIA T AT IAT I&€ Tl |
3. T T HATS IRTATHT HETAH! ATHT ATRAT TRl |
e
e TPl & &1 7 ATl TR |
9. FATAHT IATAF AT TZeT FANT & &% & HITHAT & (98, ? Fud THer |

¥R



¥ 7 (Group C)
N SRS weAes (Long Answer Questions)

I Fre I R | (Attempt All Questions) (2 X 8 = 16)

Y. BT FHIES TAT BT YSAREN IR (G | TIHT FERT T TAAT ATAR BT
R T fafy Iooi@ T4 |
EREN
uftera ¥ Sfrera fafaer FeTdr SETSHE | S Ed! IREAATATaR ATGTHIHT

JYUEE HI (MR Mg ?

98, SR PT YhRE® U THed | TRFRTTT SR T AGH TSMTh] TATTHE
[T TR |

*khkkk
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30. qTEIfEs (Lin 218)

fawa : wrefas (Lin 218)

fafiredepzor anferert

FHET 1R

T T a1

AaETE fad

Eitnl

il 9o

feqaet e

~ =

B:E

~ = S

g3

=~

g3

AL

93

ERICEID]

TS gfeeaq

AT faTetor

“

HITATIT T agHTH

faret

STHT

19

90

¥

£

R

L2

geed ¢ Y9d F. IRl ufed A BRELIST 9T q afg 99 T, Zrer 97 999 R 3@ 9% I 3
ATHT T ST YT F. 0 3@ R.FATH FAH T B | el IAR ATIT TIAHA % 3 T9H
FAT ATHT IAL ATSH FF Ueh JIAHAT faehed faqaet 3 |
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THAT GEATT  R005

Model Question 2078

F&T- IR (Grade 12)

fawa : wrfas (Linguistics) fa9q FS (Subject Code) : Lin 218

qHT © 3 "9
forardier v e fastvore T FiferepareT smaman e g |

(Students should answer on the basis of creativity and originality.)
W {$J
. AAHT JAHT AT BN SR TR

Give a very short answer to the following question:

() ITARIEH F AR AGTIH ATH AR |
Write the names of any four articulatory organs.

(@) TEREATTH AU & fa=R TATIAIT F B A TR AT |
Write any three bases to consider while describing a vowel sound.
(3T) FAURT IETEX0 Gl |
Give an example of the allophone.

(F) FATITT AT & v, 7
What is meant by stress?

(3) AP qR=T a8 |

Introduce the sentence.

(3) TS TR BT g5 IaTeR fageR |
Give any two examples of amhbiguous words.
(@) eAfTaricas® qRadd bl & al ?
What is the phonetic change?
(&) Afe faeeior A= ®r & 2, 7
What is error-analysis?
() SreAfurer AT TR F A
What is ' meant by pedagogical grammar?

(3T) HTIHTIHT RIeAT e smaeae g 7
Why-is-education in mother tongue necessary?

(@) faTaeT T AAAT RIEAT TR FH AR AR AW IoA@ TR |

Name any four languages taught as subject in Nepal.

3. TAHT JART Gral I a8 : 4 X & = %0
Give a short answer to the following questions:

(F) TS ATl aHII T SATARH == THR |
Discuss the basis for classifying consonant sounds
~REI
&t [Tl JRTER0HiEd deTary |

¥4
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Write about phonetics with examples.

@) AU T FAuiiaeedl AT IRTeREEd darS el |
Show the difference between phoneme and allophone with examples.

[ RS ¥ ®AEAEGES] (A=Al S@T8Te M |
Differentiate derivation and inflection.

() ATRIR ATIRAA FLAATHT SCAT AT Tl |
Explain the basic structure of the sentence.

(®  Tarend, Wfeard, wammd, faodary ¥ FRTEemgE 35 qRAel IMER0 SR |
Give two examples of each of contradictions, implications, synonyms, antonyms and
hypernyms.

(=) w7 afeEde @rafas gtear & | Seeruraea qfte e |
Language change is a natural process. Confirm it with examples.

@) el Feervued e Tl |
Explain the contrastive analysis.

EDEI]
AT AT TRl detard |
Write about the language testing procedure.
(ST) SgATe e AwTel & iR ? == TRl |

What is meant by multilingual education? Discuss:

3 AP FEAR! AT IR R : 3 X 5 =¥

Give a long answer to the following questions:

()

@)

FeaRifeed eafaaifead auraTarer af=a o8 a9 qeaar == T |

Introduce the International Phonetic Alphabets and discuss its significance.

wfrHe g €8 qEas, FerasT ¥ Wil SAERvEEd SATed THE |

Introduce the morpheme and explain the prefix, infix and suffix with examples.
ERCH

9Teg TATIT YiRaTeRl. IRMEXU™ied ATl e |

Explain the word formation process with examples.

Afc FIeUTR =RUE ITERUEET AT TR |

Explain-the steps of error analysis with examples.

%k %k k ko
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3. T A9 (Nep 332)

faoar: T A9reir  (Nep 332)

faRTsTeRor arferet

HET QR

GE]

ferem

9 T 9

EaMERAE]
pRaERll

afq | g
gl

EIC

RIEREES
o
e

FqT

9

R0

FAT qTSH TShdh 9T fa8 Hama, 9,
gfeaer, faemaer, Seed, amE, sTeaeti,
¥, gftafarg, ofrde ardean, wfvs
TIEAHE AT B g5 T Gled ¥ Gl
BIET IO AGT A3 |

FHadT TSP Tghad A fag  qATME,
FAfqUT, STeR9TloRT, STeATaeT, T, AAGHR
T BrEHH A1 F g5 T AleT T AR
I S AET TS |

fereg qroet agdas #fer fag Ieed, 9
fo=me, afeaeraer, ofrie ardean, gafa T
ATTFIATTEAHET AT B g5 FIH AleT T
D GEl I A TS |

ATCHSITEAT AT Tgabdd 9T fag
fauaaeq, I F=<H, ANTEM, SEqarar
Q=T A B §% WOH Wied T TFHRT
JAX A& TS |

9%\




afecar | Faitea 1% (%) AT AT [T A, 7 9 ¥
gfaera | faarer geay
FTAFRH, (@) ATl FlAATHT faebTaena, q9 99 ¥
A A T il
gfetta (T AITAT JUATHHT (qbTEehH, HA T
T T T
(1) Oredr W Aol fahEeRH, HA
A 7 g
() TUTAT ATTRbT fTpTasm A
(=) AT e fasmams
(@) WOTeHl FHTAT=ATE! fahrame
(ST) TAT GUghTeAH! afe=y, fasprasma,
Yughlegehl dcd, ‘QUSOI')IO?-M:I d*ﬁdﬂ(”l
(IHT faanerd Al HTawA T [q7e 79
ygfa qar fasraraer are & A T
famreer gfatfy asemmer e g T
TRATET T Al T B ATbT 3% fae
IMS)
UGS | HAT, (e, q0 FHIT, FHiaar, fHeea, Ares, Iu=ra fagrare
et/ | AT, QST & A I (45 B 75 I
qTataEq | Hiaar T YT AT /AT faed® T awms
R GUgHT
JRAGT | FIT, AT, g FAT, AEF, (M= T GUSHTAHL F 5
/ gl | GueHTe faeme! AR <@d, g&1 g "edT faure,
fadte TCHSITaT FHIET T TaATRH HATTHATE FT T8
7 fqerey I W F Th FITH IR ACT
SR

%5




U | H9T ¥ 3 ¥ FHIT, Fiaqrfqewa ATed T gugsred
e i, faremwey ate, fammas, aw<eT, qrareao,
e, afeqeT, ¥, AASHR, Tr=, Mo,
AEF T qITeTtT, gvg, ofiie areferan, gftafamg,
GUSFHTA AATLTTHE AT B AR I AT BT
AT e FHIETHE IR fad avms
ST v i3 oy

%9




THAT GATT 005

AT (U
FET 93 qUITSE 94
qET 3 U
faramdier Fba e T SO fe e @
TR P’

qAAHT TP Gel o R : ¥ X 4 =30
q. TP FA T AITHT TIAPT I SR
T TTHT AT THARTEE HE FRebT JiTer 87 | W@TedTe W@Teiged! ATare e v & ge T
T TART ATHT TEAHT AT AT I ATGTHT TF ITAT T “HATS TIT Il Iwileh A1”
A STl P! BITHT T[T BT | IHH! HASTH @6 I | ATH Tl =T T&T 9 ANTLRT
AT afes &TRT FEAT | ATETS AT SIS, T @ SIEAT, T F AT AT THATTET
3Iq 2 |
(%) TABT Tl Yiehl AT HATGLTR! (AT TRUHT 7 7
(@) YA FATTHT HEAT TAATT ad TUH G 7
R, AP HAATT TEr AIATHT FEAPT IO GRI
el
giear efear qerse wivan
AleTeh T AR
e, =, ¥ =T T
feaTere @Y @Te THA T,
T Siq arer U ufq T #T <97
qd TR AT
AT AT debebl e |
(%) AT FITATTAT FRITATS FHT HIAATRII T SETSUR G 7
(@) HTTRT HAAIAHAT F AAGHRBT AT ATHT 3, 7
3. quet e adr AT TeAH Gt SaY e
HETRY FEL FALA 7 A a% 9 ASAl, ¥ F q99eT gal a8l d AGHd Hae qersiae
| S5 AR aedls dgid 9¢ 99, ddie R TS&ar ggiid 9U 9iq Fie Sudls Jered |
MG AFhT RS FATAE FIA aSfadl AR (b AfeRg ? TFA 7 AT HT @l 2l
AR HHH & & G IT & b |
(F) TS TGS HeTqed AT Ak AR & & B 7
(@) XA [adieTdT &l a1 Afaedad quHl g 7
¥, APl ACHAEATD! Y TE AR TR Gl I (8 -
AT F AT el AEALITHT ATorhl TR ATIAE AT | FATE AN, B o avepl JERafg
TR TET AATAE SFileeheT TATSHT ST FLEHT AT | AAGF, MERF g9 ®THAT T

>

FRATIRY FCEHT EEE ATl g, T el q=hl Sae Tl FiaeTd® Sirarepl TeATdT 2v |

(%) JEIA HHT | YT aTeehl SRl HEAN AT FHT AUH G ?
(@) HITRT ATSHT TIET I [T AT TR |

40




W‘@"
TART B AT JEABT I FR 3 X ¥ = Y

. ATYfAF TATAT FHATHT AATIATET IRTHT THE@ (F90dT Iood THR |

3. ARARTH ATl Hiacre Hed faevdr Sei@ TR |

3. WOTAl FHAT= TR HET Hed Rl (=arl [THe |

¥ ATY(AE TITAT ITATHH] ARG TATIATAT IRTHT IATTT FE2THT ARHAT ATl |

W{"Tl
AT H 3 T 9T IR TR R X X =90

q. AT AT IS TR SHATSHT T T AT
BTl & o Vha g ¥ ABT (ASTaral w7
985 T B, g€l T gERY gl ge AR
338 Bl TGl A9 H ATCHT TTHT &7 |
R TETRR Afafez AaHds ffaver wiiHeRr SEyeaEaHT qEAEtEd U | g
AT AT b AIAER! AT [HIGUT ThThR qUHT 3T |
3. HETdT X Ar=dr S(aded g5 Siaqagid g |

e o
ANHT FH TF T IOk fafe . 9 X & = &
ﬂwmmﬂﬁaﬁﬁqﬁ?mﬁﬂﬁ@ﬁfaﬁwnﬁm|
R. W WW CMJICM 'Old"II%HC'HS W o IThl ATLUTTHT %qmw
- qmmwmmwmmmwww
- F UTH FTRAT ATHH TR FRATG B AT AR S A av@y TRReehl
- faameufs 7 9T SHH TERT @cue g qUs
- ¥ 9T 9 ATRATs gled S afders ane e T
- | U AT T °Y BeY S
T ¥
qAFT FR AT TEAHT FHETAS IR e : 3 X 5= ¥

. ‘e FHATR] HAATT &I T |

3. ‘HATHER QUSHEIHT g7 T HAH! Frgells Hadl Y&qd TRUH @, [qa=mr T |

3. e AT SfEadH TSHTAAT fHam® T e STaneT TeAdr, HeTdr T fedrers e
TETTHT B 7 T I |

¥, TSH SEE® FHATHT HEAT ARTAdTal Siad ghe e IU g, [ga=r THe |

%k k k%
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R, AHTAR (Mcs. 442)

fafrsEresor aferent
fasa © HESEAR (Mcs. 442) 8T R
JYAH dE T YR
] E ™ h I e AR SR AR E E
@@ | % | e [T | | aa ao | ¥ e | | Mg |
e T
Q| FEEE )5 ! ) -] A T 119 - - - R 1 1 R £l c | ¥ | 94
e o= Y -
R | YTEER 2% I E N I B A I T O O O - S A
PEUESS
3 AT Y ) ) 1 h q q 9q 3 q ¥ ¥ 9%
¥ | gAIRar ¥ 1 - - q q - 9 3 R 3 q0 y |93
I qEIT
\)? - _ _
TR L el s | Y| ™
y | "fear ¥
9
gw 20 't 9 - ¥ 3 9 R q q 99 c 3 9 %o 2 | 7|
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YT AT, ASHFAR T THT AHABT

FU. | AR TER | T4 e | T T8 AEPIR | ST HSHAR T ()
9 R Brar 19 q 19 %
9
R Bar 994 G Y ¥ 0 2%
3. TAT G 3 S ¥ s
STEAT R 9y, 950 e (3 Tuam)
[N
o FoFA fHATT T AFFUFT THZEEH ATHARHAT FXF FY7 T G947 FleA 3 |

o  JTHTITAT HTH TEhl YIH 0 FIqeTd, aT TEhT Y97 30 YiaeTd, WIART daahl 99+ W Ffaerd T I=a-Qeqam deel 997
Y, gl |l B

o ITH THATIIT [aeavv, TeATgsh T fasir T T e fasior e g |
o TUHRE 3T ¥ ATC A TZACN AARE Blel TeAa® TaH UHls 3 T L d1¢ TIeT T ol Afaiad qee dreqaq & |
gedees  IEHT Ifdua! a8 ¥ TRE! &9 & |
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wreatae frew wlem

A=A
THAT JIAIT
P 4R
TS © 9
THT: 3 "l
TE &
Group A
JAHT TLAEEH! Al TSI IR & | 99X9 =19

Give very short answers to these questions.

Q. FFTEHS T TRAET HUEE & & B 7

What are any two functions of an editor?

R AFEIEHIIHT FHHE! TR ATTTFT ATH §7, 7
Whose opinions are incorporated in editorial?
3.fFeR EAHT gETer f9var IwE TR

Write down any two characteristics of feature writing.
¥, =R foem afas 7

Why do we write feature?

Y. fth=rR oIeaT a1g U &Y BT Jocae® & & g !
Write down any two elements of feature.

& J9T SfATASTTehT TITIAT Fleel TUehT Bl ?
When was Nepal Television established?

O ATRGTIAHT Tieedl FRIaT B FeMTd AUH 99T, ?
When was the first photo publishedin Gorkhapatra ?
o arzugar (1ISO) IwmT depr =it i 7
what is 1SO used for?
Q. oIV SHN & &l 7
What is lens ?
Q0. U FIIAA TITCAD] TATHT Fleel HUHT &l ?
When was press council established?
9. F=ARHT FFAlgd, TR ATAT TIATET FIAAD ATH ACTRT 7
Write down any two communication related law of Nepal.
TET
Group B
JAH FIABEH Fei< IR &8 | aX¥{ =¥o0
Write short answers to these questions.
IR, GHIAR & AIGTSHF FAATATS AT Jooi@ TRl |
Explain the structure of newsroom with illustrations.
BRI

AfFHT (9= I35 [ ATaeas B 7
Why is the op-ed page important in a newspaper?

93, FeRTE FH ATFTF TATIH Al 7

Q¥



How do we present feature creatively?

Q¥ Yegdr FRitR afewg &3 ager faugeasqar 7 e |
Introduce radio magazine and explain its subject matter.
JI4qr

oo} ATAHHAT &THT [ FH=R Fqefad Tey 7
Why do we present news bulletin from media?

qy. fafsrsra aaefearer AT 9 fHer e afeg, 7
How can we make suitable language for TV journalism?

%, ISATHT AR FATSH =MeHl F FECHTF [Ghe TR TR |
Prepare a radio script of a program you like to broadcast.

9. ®IET TAHRATH Heed SR |

Clarify the importance of photo journalism.

15. TSl RIEATs HA Trag T AHUF qNHA fge] Alhes; ?
How can we capture an attractive photo?

4R IABIATRT ATAREEAT AAH & &l ?
What are the codes of conduct in journalism?
qHE T

Group C
TR JLAEEH ATHT IaX e | 3X5 =]¥
Write long answers to these questions.
R0 . THFIRATHT TG Hewed T3S HAL] TFIahel GHIEARATS HTFTF aATgE, (aa=rT Tem |
Evaluate the importance of editing in journalism and how an editor shows his or her skill
while editing.
JI4T
BIAT T YO HIAHHT TART & HISJHT S<AT == THer |
Discuss the language we use for print and electronic medium.
Q. JUTEHATE ST AN FA Teh TATHR! AT FaR TUER TR IR |
Write about feature news in your intrest area.
IR, AITAHAT T AT TAHT ATIT H&dl G, 7
Trace out the condition of press freedom in Nepal.
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“H{AT 997 99

S IYAEEH! JuR e |
e 9%
ENUEEREEY
JET: 3 °udl
TR &
Ffa et weees (Very short answer question) 191x3 =9

Q. AT B gfqerd STHar TRETR @A TEd G 7

How many people are living under the poverty line in Nepal?

R STSTIEHT e U 6% ETerd |

Write any one effect of unemployment.

3. AXFHRATE ATHTTSE AT 9T I T THEE® & & g 7

Which groups receive the social security allowances from the government?

¥ YT faest Fiaes & & 8 ?

What are the sources of rural finance?

Y AT FaHHAT TR h{wad FREHIUH Tk ITATNAT Il e €|

Mention any one implication of relevancy of market centered approach in Nepal?
& e Feqor T & AR 7

What do we mean by economic survey?

S T TEhT AT TTEHT AT TETST Hl Th T Fod@ TR |

Mention any one suggestion to improve the-internal revenue sources at local level.
& AT AP (&1 (qeprept qede® T T faq T F U I AT ?

Mention any one policy to be followed by Nepal for fulfillment of the goals of
sustainable development.

2 IJTHI faspTrept £ Ueh IUMITT AR |

Write any one strategy of rural development.

QO JIETRAT ¥l UTHIT {HehTIHT qTeehIehl Fr Ueh FATE TfE=T TR |

Identify any one impact of the literacy rate in ruler development.

9. TATEHEHT & 7 T2 GIAee b & & 7

What are the any two-sources of data?

¥ @ a1 wwqew (Short answer question) &Xy = ¥0
93 TIRET T FAFAAASAB] ARAFIATs T& Tl |
Clarify the interrelationship between poverty and inequality.
o

AT TR FTTH TEAH FRUEE Feold THEI |
Mention the causes of existing unemployment in Nepal.
93 BISTST TAT STk HTHTISTE HET BT TH HATGAT ATHAT [o=R TETEH |
Give your opinion regarding ‘Chhaupadi Pratha’ as a social issue of Nepal.
Q¥ FTHIOT IIHIHT [TUerdes == THa |
Mention the features rural developmnet.
. AT faFE SREHITH ATTENF T&86E Jooid e |

Mention the practical aspects of human development approach.
9. 9397 T AT TeHl AMEF T8 T e |

R0%



Clarify the economic relation between provincial and local level

Qo fa faepraert deg T FEarT e IUHITaees Joi@ TR |

Mention strategies that help to achieve sustainable development goals.

5. ITHIT faepre O TAT FRAGRHATRIT HTH] aTHT AT GIRH ITTE® Iootd TR |
Mention the ways to improve the current state of agriculture under the strategy and
programs of rural development.

1%, ATHT AT % g 7 THbl Agced a0 TR |

What is meant by research? Explain its importance

Hear

FAGT FAT fqdadsdl =0 Jooi@ TR 7
Mention the steps to be followed in research report.

@rAT ge=e® (Long answer question) &x3 = ¥

0. QIEFREAT T & Fohg ! TITAHT @IAGLETH] TATT TAT ATIAH! Faed. Fooi@ T4 |

What is meant by food security? Mention the status of quantity and measurement of food
security in Nepal.

Y. FATART AT ASTCH FEITT ATEATER [Ta=T T |

Interpret the implementation status of current budget of Nepal.

AT
T SAfaes fafaear ¥ ardrerr GReredr it quaT yaEeE Seod THE |

Mention the efforts made for the protection of bio-diversity and environment in Nepal.

RR.AITETRT ITHIOT faeraaadl & Ueh S Hl AwaT Ffqaaerl THAT Gl TR I T |
Prepare a model outline of researchreport in any one topic regarding rural development
of Nepal.
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¥&. Fashion Designing (Fad. 326)
Specification Grid- 2077

Class: 12 Subject: Fashion Designing (Fad. 326) _~Time: 2 Hours
Knowledge / . s Higher Total Item Item wise total
Remembering Under(slja)\ndlng Appé/lac\;;\tlon Ability number marks %
Unit Scope ? K/R) (HA) ;—';
x | K=
§ : VS | S L VS S|L|VS |S|L|VS §SL |[VS]|S L VS S L %)
1L Intrc_)ductlon to Fashion | 10 | o1 | ) | ) 1 1 - 1 5 ) 6
Design-ll
2 | Garment Studies-II 5 1 - - |1 - - 1 |- |- - - | - 3 - - 3 - - 3
3 | Fashion Illustration-II 20| 2 -l - - 1] - - 1] - - - 2 2 - 2 10 12
4 | Textile of Nepal 25 | 2 -l - - - |1 1 - | - - 1 - 3 1 1 3 5 8 16
Fashion Marketing 20 - 11 13
5 " -] - - S e - I T N I - | 5| 8
and Merchandising
Total 80 5 1 2 1 |1 2 111 - 2 9 5 2 9 25 16 50
Question and Mark Distribution
SN | Types of questions Number of questions Marks per question Full Marks Time in minutes
1 | Very Short Questions (VSQ) 9 1 9 22
2 | Short Questions (SQ) 5 5 25 60
3 | Long Questions (LQ) 2 8 16 38
Total 16 50 120 minutes (2
hrs)
Remarks:

e A balance between the working:hour and the weightage must be met for each unit.

e 1 extra short question for each question no 11 and 13 and 1 extra long question for question number 15 should be asked.

e  Questions should be formulated in such a way that analysis, evaluation and creation can be done under high efficiency.

e  Generally, 20 percent questions of knowledge level, 30 percent questions of comprehension level, 25 percent questions of experiment level and 25 percent
questions of higher ability level should be asked.
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Fashion Design
Class-XII
Model Question

Time: 1hr 30 min Total Marks: 50

Attempt all the questions.

Section-A

Write very short answers to these questions. (9*1=9)

9.

O NOUAEWDNPRE

What is fashion forecasting?

Write names of traditional fabric made in Nepal.
Discuss the uses of Dhaka and Allo fabric.

What is Textile?

Define the term draft.

Write the measuring points to make a blouse.
What do you understand by the termgrain line?
Write the name of tools used in Photoshop.
Write the source of inspiration.

Section-B

Write short answers to these questions. (5*5=25)

10. Describe the fashion cycle process in details.
11. What are basic components of hand loom? Describe with neat sketch with their

key uses.

Or

Write a.sample of formal mail to introduce your product to potential clients.

12.Define the term inspiration board and mood board.
13.Sketch male % bodice block with labelled diagram.

Or

How is computerized technology helpful in fashion field? Explain

14. Write the flow-chart of concept to consumer in RMG sector.
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Section-C
Write long answers to these questions. (2*8=16)

III

15. Explain in detail present scenario of “textile of Nepal” and its challenge in coming

future.
Or
Make a brief business plan of a boutique/show room/textile industry.

16. Prepare the neat and labelled flat sketch of a man costume and-a woman
costume.

o
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Y. @A TAT MRARE e (Hpe. 112)

faftrdreeor aferar 095
&I : 9 forsar © TareR qur WA RrEw (Hpe:-112)
J9TH q8 T YFR T
N N STHT HEFATR
\ E Bl E1E] TR = e S * semr | e
ZE] N
/ / / / / / / Vi Vi / Vi A /1 / EES m
s sHER B E| SRB EERR FRBNEEER|FERE|E
q. faarera 7 HHETEHT @R | 9%
s T I T I e I T e e e e e I e I - [ IR I T I I B . [0
R %:41«:4 T qegEER AT | 9% g S -1 e - nras Sl e P I i e |3 40
3 Y ATATERY T ST WA | 9% - - 1- - - |- = - - |- |- |- q0 | - 3 0
2 T TR 1% - -l e - - e e - sy e
%, AR e 1% - -1 - - TR (YR s |3 q0
% EIRIECACEC I ' - - - - - - - q |- |- - - - q |- |- Y - 9 Y
°. T A=A Fefee R0 Ik L e - - - - R - ]r o ¥ |9
c. LREIECE] 10 - |- 9 £
. e . g [ P I T I T I I T I I - |3 - |y s
STERT HgHAY 30 ¥ |3 ¥ 13 (9 [R[99 (99| |=s [3]19 [¥o [R¥ |R | =
9T &1, ASHAR T FHT ATAH
FHH | YITHl TBR 99T qgEl, | Uid 99T ASFIR STFT ASHAR T ()
9 AT gler weT | 19 9 19 3%
R BraT g9d s Y ¥0 2%
3 T g9 3 s ¥ Yz
Sikaill R Y 950 =T (3 uaT)

o JIAYH [HHIT T FAFUHT THTZEEH AGTHARHAT H¥F I T FIT FreAdq 3 |
o  ITHTATAT T Tehl TIH 0 YiTeTa, A qeehT T99 30 FIqeTd, TANT qeehT FoF Y FIqeTd ¥ 3= I&TdT qeehl T9° Y Fiaerd &g & |
o I TEHATIAC [FIT0, HATEHA T [T @ T g AT T 3 |
o THE 93 T O AT W TGN AARFT ST FIHEw TaH THTg ,¥ T Y a1 TGl T ATHT AfdREd 99 Ileqae S | O Y96 gH dMpues! I8 T THehl

IS |
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Areathe e e
Ufeaw @y 3 waR® Rren
AT TS
e : IR
Uit :
THY @ 3 O
wE® (Group A)
JAET TLAEED! Al TSI TR fEord I XN9=19
Answer the following questions in very short.
q. TR T AT FHEIeId Fl TLATT TR TGEEAH] ATATHEEET ATH ACTE I |
Write any two dimensions of physical fitness related to health and sports.
. AT @R T AEEIET AMARE (HATHaATT qoT S ATl &4 U Hewd Seod e 4, Mention any
one importance of physical activities and practice in health and physical fitness of human.
3. BT ATeRe HgLl F9 I (eSS 7 F b ST ARl |
How does our behavior help to communicate non communicable disease? Write in any one point.
¥ A IRTETE T FA UF ST Fodd T |
Mention any one preventive measures of sexual disease.
Y. TRIFY I ATERHT AN ATAFIT T I B Teh I ACTRI |
Write any one way to be applied for a safe sexual behavior:.
% FAGS! WAH] HTE FeAHl &l 7
What is cant in Kabaddi Game?
9. AR, AiAae T FAd YAH & THHl T3 ATIRYT, (99 Ieo@ e |
Explain any two basic skills of any one game-of Basketball, Volleyball or Football game?
o IS TATHHT AESTE Hia (HITH &7 7
What is the breadth of Track in running? Mention in meter scale.
R. WA HANAATAH T3l Heced JETald |
Write one importance of sport psycholgy.

Q0. TIRTT YeATSIEwHT AT el FATbcam ¥ qTIufer=rl & Tl AATHAT TSI |
Mention any one scope of spert-medicine and nutrition regarding professional players.
9. AT HTeaT FART g4 F4.35 [q0e® Jeferd |

What are any two skills.used while throwing Javelin?

T® @ Group B
AAH] T eed qeieed SR [ a1 | Yy X &g ="yo
Givesshort answers to the following questions:
93, TR GadF (qareasl g qieed e |
Give.ashort introduction to School Health Promotion.
93, AR HET IHRMIF AT THEEE e T glel == THad |
Identify and explain the community Health Problems of Nepal in short.
Q¥ 9T STETRR fafy Ieer@ TR BT TERT SICHAAT AU T |
Enlist the methods of purification of water and describe any two of them.

Or
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STerary ARAdHHT F I TP AT = T |

Mention any five effects of climate change in brief.

. TEFS AMHG T TAATT GRATA HIF TATE T FTATERITHT Y 997 9T6e, A= =T g§algs af
foreTor gt Faar e fa fad a=eer gy afeesl § | TUEH fauRAT a9 giew FRUEE T
THTTET SUTEE & &l ¢ BIHA] T IHa |

Despite having awareness of Global warming and climate change may affect adverse effectson

human health and environment, it is increasing rather better to control. Clarify the statement

behind its reasons and ways of solutions in short.

& qUTE WTafAe® ITAR aTde! M FEd g ¢ GgETH Jelad |

How do you prepare first aid box; Write in short.

19, FASE! AP A [FIE% FEHIHAT qUH THaE |

Describe the basic skills of Kabaddi game in short.

5. ATEhIad, Aiaad ¥ RETH T THHl 40 AT (MIHe® defery |

Write any 10 rules of any one game of Basketball, VVolleyball or Football game.

Or

TEhIad, AT ¥ RETTHE i Thehl T I (TUewehl Flal == eI |
Mention in brief any five major skills of any one game among Basketball, VVolleyball or Football
game.

9%. IS AT AT TATH T Fhegdl HHT THa
Prepare a track and field of Shot put field.
g .. (Group C)
JAH TYAEEH ATAT IO TR | 3 X5 =R¥
Give long answers to the following questions:
0. M fRarehdrd qar AR, ARATGaTE YATAYLard, THRAa=aR qoa7 T Aigael T dr3+
qieaqaare faa=HT T |
Analyze the changes outcome after the practice and doing physical activities in respiration,
circulation and muculo nervous system.
Q. AT qUTE F TG AT AT gERS | AHT AR SaH Tecdeedl dfewd TR ¥ e
famRuTeRT AN qUTE & T ST a1 YATHe® AdaHd g ¢ gahd Tl |
Suppose you are suffering from any type of non-communicable disease. Identify and discuss the
possible hazards-and mention with preventive ways in order to remove them.

R AT FAT IS ATTFRATE eI AT TUHT HEA JoAFHT STHT [AUH G | T TeaoHT 22
AT AEATEEHAT AT TAT JAA AT ATBTIBT T ATLIT Bl o 7 IJATERIHIE [ear=rmT
THETH |

Rights of Sex and reproductive health is the indicator of health improvement. Clarify it with

examples. What is the present condition of Nepalese women regarding sex and reproductive

health in the context of Nepal?

Or
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fepaTefraTereeadr e fraRfmedr & A qor gorvy w@areey Jarh! Afacd Targs TAHA ATTHAT ISR
I TEH T JaTars 19 HTAadT THH AT ToATcHE Goh1a 99 THe |

Clarify the singnificance of adloscent friendly sexual and reproductive health services for
adloscents and sbmit any five corrective suggestions for effective implemntaion of this service in
your local body.

fodo
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TETH! T8 I TR
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FI. | T THR | T GG | TG T AEPAR | ST AEHHAR T ()
9. R Brar 19 q 19 K
g4
R. BIeT 99T S Y %0 2%
ES ATHT 9949 3 g Y 'S
STHAT R 9y, 950 9T (3 =Een

AT (AT &7 PR ThIEewman] ASHARAT FIEb A9 T J9F A9 5 |

ATATATAT AH qeehT TIT 0 TITTe, avel T&ehl FH 30 U, TANT Teeht T Y FfAerd ¥ = q&Tar deehr e ¥ gfaerd gk & 1

I TAAAT (AT, HATEHA ¥ (A1 T8 TR J97 (A T B |

THE 3 ¥ ¥ ATC A qEaATel AfARET ST IEw TAW THTE 9,2 ¥ Y 91 TSIl ¥ ATHT AT, T AIeTq @ | O JeFew  IeH difhusl 98 T TRl gInE,

219



AT T GHHICAT

THAT J¢ATA
BT 4R
FUIEEZRAC
qHYT: 3 "UaT
TE &
Group A
JAH TYEEH Ad qHA<T IR & el |

. qHTEHA TIA AT HUEE & & B 7

What are any two functions of an editor?

R qEAGHITAT FHEH PV ATTHT TUHN B 7

Whose opinions are incorporated in editorial?

3 fFeR e gEier faevar SwE T

Write down any two characteristics of feature writing.
¥, fE=r foem afews 7

Why do we write feature?

Y. fth=rR <%t a1g U & qEHTeT Jocae® & & g !

Write down any two elements of feature.

. uTer afAfASTeehr TATIAT Hfeet TUHT 8 ?
When was Nepal Television established?

O ATRGTITHT Tieedl HRIET Bl FehMTd AURT 42T ?
When did the Gorkhapatra publish photo-for the first time?
s arguaar (1ISO) I &epr & Tiveg 7 ¥
What is ISO used for?
R. oI WHH & &l 7
What is lens ?
90. Jg HIIA TUTAD] TITYAT Hleelh TTH! &l
When was Press Council established?
9. AT FEAfead TATARNATHIT TIHATET FIATH ATH ACTR 7
Write down any two communication related law of Nepal.
e g
Group B

JAH TYEHT, el IR &8 |

Give short answers to these questions.

9R. THIAR HETh! ASSF FXAATATE i I TR |
Explain.the structure of newsroom with figure.

ean
afsremT o= 9 T amEeas g 7

Why is the op ed page important in newspaper?

3. fReRATE FEU ATHTF FTAST (S, 7

How do we present feature creatively?

Q¥ Iear FRR gfema 63 a9t fauaeqar y=e aeEe |
Introduce radio magazine and explain with its subject matter.

220



ERE

oo AR &TH fbe THT=R Fefed Tegy 7

Why do we present news bulletin from media?

9. AT THFIRATHT ATUTHT FE HER AT Al 7

How do we make suitable language for T.V journalism?
9%, ST AR TATST =MEHT FT FIAHHAPT (G TAR I |
Prepare a radio program's script, you like to broadcast.
9. ®IET TAFRATH Hed TSR |

Clarify the importance of photo journalism.

15. TSl hIEMATE HA TR T AHUF qANH fge] dAlhes, ?
How do we capture a attractive photo?

4R GABIATEHT ATAREEAT AAH & &l ?
What do you understand about journalistic code of conduct?
e T

Group C
JHT LAEEH! ATHT I R |
Give long answers to these questions.
R0 . TAFIRATHT TEITEH Heced 39TSs Ha<T TFIEehed THTARATE SFTF TATE, (ae=vT T |
Evaluate the importance of editing in journalism and-how-an editor shows his or her skill
while editing.

ERE|
BT ¥ FMRIT HIAFHT FANT g ATHTHT FTCHT == a0

Discuss the language we use for print and electronic medium.

Q. B T AGARHT TR T SUFT & [hag, TGl THAT TAR TR |

Prepare a feature news about any subject for newspaper.

R, TUTAHT T TATAATHT AT AL FEAT & 7 ATEeAHT FIATIT TAAT TS IS ACTEl |
Trace out the condition of press freedom in Nepal. Evaluate with present law and Explain
with example.

L X
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o  ITHTHAAT ATH TEHT YT 0 GIaeTd, S Tgehl Y 30 Yiderd, YIRT qeehl Y99 W TaTd T I=F &7l deehl J9= U qiqera aifad & |
o T TLATHAIG (IR, HeAlehd T TSl W& T 99a (a0 9+ 3 |
o THE 33T ¥ AT AT Al ANRET BIeT Yee® UaH UHE Y& T © I Tl T ATH AfdRad T qeqad 3 |

223



go.

2.

gR.

StreeaT forerr

THAT T

qUTEe Y THT: 3 "

g F: AT BN ITUHS TIE= (2x2=29)

Group A: Very Short-answer Questions (11x1=11)

(anN hd [enN (o) o o
SIACg el AnH D[ [dglrds L ANl {4134 Higell [dalq &7 gl?
Who was the first scholar to contribute for the development of demographic transition theory?

AT TgE® Hed qaveal ®F A0d 1 AUHT Y T gl

Among the SAARC countries, which country has the least life expectancy?

FH IHAT fFaTE TET g4 32ael AREAREE Soid Ta 1 |
Mention any two disadvantages of early marriage.

TRrSr Fegaeant qF Ioora T |

Write down the formula for infant mortality rate.

AHTAHT SAHT SHL dgdenl HeH @ PTUTEE ddISHal |
Mention the major two causes for the increase of life expectancy in Nepal.

T TETLHIS TTHT ATIA M1 TART g4 T 39419 Targ |

State the formula to calculate the gross migration rate.

AT ST I & | TERTATRNG ) G5 H LT Teqd T |

“Abortion is risky.” Mention any two causes.to justify this statement.

qE T I TCATT R
Define correlation coefficient.

TS U] YTHTSHH! HETH )Mean [T 4|
ATETSH: R0, R4, T, 3K, ¥R, WY, T4, 90, Lo

(Calculate mean from the following data):
Marks: 20, 25 30, 35, 45, 55,65,70,80
ATELTT AAD! & 3I?

What is research?

SHASEAT TLATTHT AT TTTAGTHAT TTZEHT GISIT YFindingsT e TGg (72
What do you write after ‘Findings’ in a research report of population studies?

TIE @: BT STUHT TIZE )Y (¥ o=

Group B: Short-answer Questions (8x5=40)

rest SrErgEaTERT gt wfver 2 aeeht v 9 T Seee TR |

Introduce optimum population theory and mention any three of its features.

OR
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Ro.

g3,

%.

g4

8.

0.

8¢,

g%,

AT TAIGRATIF I g T AaIgieds TgehAv [Fgrdia qi=ael f{M=idl gearserd
|
Make any five differences between population theory of Malthus and population transition theory.

o ¥ AR E Tgeeal aauTd STl AT HIeTaHT =1 g |

Discuss the current population situation of developed and developing countries.

TITAHT TAEAT TSTATHT T eh! (AT SATEAT T |

Explain the role of education in fertility differentials in Nepal.

OR

T Tieeel STRTUTHTS et TS 3¢ Hea a3HT Tl Q@0 & | SuTelsh qradqT
T gATHT T FHTLUEE o h g1 (=T T{a e |

Latest census of Nepal shows that the reproductive rate of Nepal is in decreasing rate. Interpret the major

causes that lead such cases in context of Nepal.

Tl MSTIRTAT fAR 0 € H . AT 9,0 0 TALERT ST TAUHT 2T | Frgt a9 TH a9
T g g TALRT TS=AT Yo Tl TT 9 3Th MSATIorhTeh! fAS] =T Fld
forrT 2

There were the 1800 births in a village in 2068 BS. If 50 infants died, find the infant mortality rate of that
village.

ThTEaT AHE® % & g2 Tl Uaheh [ 2ATEAT e |

What are indicators of the development? Explain any one of them.

AUATAR] T AT [ARHH AT EHAT HEAT A IR HIUEE & 6 g ?
HETHT ATEAT T |

What are causes of regional inequality in development of Nepal? Explain briefly.

A ferfera aearsare qitasT Mareae ™

NIRIEED Yo030-| 30%o- XoL\o- Logo-| K08o-| Yolo-| oo~
ERIRIKEUR o 2% 2% & 4 ¥
Find the median from the following table:
Marks 20-30 | 30-40 | 40-50 50-60 | 60-70 | 70-80 | 80-90
No. of Students | 5 7 14 16 13 5 5

SHHSEAT SAEATTHT TATS TANT T ATHETT TTTAGAR] Z(AT )Format AT HETTHT (
=] 1|'_'j % | Tl
Briefly mention about the format you use while preparing research report in population studies.
g T THT S<ITHS TIgE 3)}(6(?\(:
Group C: Long Answer-questions (3x8=24)

TOTAHT TGRS T T T a1 F=1 T |
Discuss the level and trend of urbanization in Nepal.
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2. “AUTAHT ATSTRATHT LT ZET T THEATHI FGAT fergegy | T 12T Tl

TE FHTTEHRT SUTTZEAT T4 TR |
“Gender based violence is taken as a problem in Nepal.” Justify this statement and suggest some measures

to solve this problem.
R FHISHT ATTHETAT I AELgh! A1 TAAZ e ATs HH 1 qUTed (Hd1g I9 deh
Tl ATLACT YHFEEH! F4T g |

Discuss about the roles that you can play to reduce the sexual abuse prevailing in the society.

OR
AT TAT I WA TEATATHE AFTLRIT &7 | ATl TAT T SATEAR] TG TEhehT
TIHT ARTHAT T AMAebaT GFavdl & R AT T qrTTd TeaHTaaresehl dfear T
Rl AT faseraor THEE |

Sexual and reproductive health is multidimensional concept. Identify any four-familial and social

values regarding sexuality and gender as major elements of sexual and.reproductive health and

analysis it in brief.

Fohh
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JYAE® AIeaT AT AMFUH THEEEEHT Tedhl THEATE TETHAR T ATHARE! Tdad Hed T T899 Feqa 3 |

TUEP! TEHAT AGHAT F¥F I T GUETTAFT THIGHT £3 Heeh T JoF Q07 T Ifehet g aX Y Uehlgare Foa Al T fauaaedet Juar sy
T |

JTATITAT 9 T T9F 0 FIATd, aTe TEhT YT 30 T, TANT TEhT FIT W T T oo IeTaT gl J9T RY AT e 3 |

T FATACC (AT, FATGHA I (ST T8 T G AT T 3 |

99T 7 99 T R AT TEATAT ATARET BT e TaH 99 7 94 AT USAT T ATH Afqad T97 Aeqa.a |

JfFUFT THe O I F THEATE ATH TIT GIITHT TT THEATEHEH THEATE Afd GaT ¥ GleT Jedae Qedud @ | arHl JITa Tl ad STIee
af @reT |ferT @ )
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1 fwr Afssw)

qHAT 9979
HET R qUITEs: 4O

THE F : qABI TIEHH T qIRAT I Aea ] (]RX9=R)
Group A: Write the answers to the following questions in one sentence. (9 x 1 =9)

Q. WIES AfdTEars Hid FRTET fqars Teer g 2 Inhow many types is human personality
divided?

. UAHEH [Iew (Faar a1 ygefd el gdsiesd RRdTs avqad T4 [Erdy deadrs #amae ¢ What
should athletes do to the center of gravity to balance the body while learning or

performing sports skills?
3. GATEIEEdTs TAREdl THIHT gTa HACTdhels FH TP AN ATAST Ga B0 IUT TSR, |

Write any one preventive measure that players should take: to reduce injuries during
sports.

¥ qUTAT HifeTeh TeAehaepl TYETV JT Yaew T+ ggater aikares & & z+.7 What are the two techniques
to preserve and promote traditional Nepali games and sports?

Y. GAREHT ATF eI FAL T Alebeg ? b T aearl wetera | How can financial

management be done in sports? Write any one way.

& WEWRT 93 FHEdTs AHAT3C JUTHdre argrde aqrsal #iq eHd ars ass ¢ How many teams will
get a bye from the knockout system for.making 12 teams of participants?

S, F¥eh AT AUH fqerdie v qur 9| T waew & & g4 ¢ What are the games and sports
that can be practiced and performed by differently able students? 1

<. AP HIAHETE FHHA qRE JAT AAGHF @9ar 917 T Fisbwsg » HOw can we achieve physical
and mental well-being.through yoga?

Q. =TEHweA W AgRAd fquss & @ g4 ¢ What are the basic skills of badminton games?

THE @ : BT TIEHD! @el, I AR (LXY=3Y)

Group B: Write short.answers to the following questions. (5x5= 25)

Q0. WAHE TTTTH TAT YRTET TG JUTATHT T AFeeal g1 qar e | List down the effects
of sports-training on circulatory system.

9. TAREH FIATAAHT HFTIRI J& UQ TG Hecaew a0 aqerg | Explain the importance and
concept of good governance in sports.

Fgar Or
gd fafrcard aewdrs arevded avE e | Describe the areas of sports medicine with

examples.
IR, qUE qare e Hooed g0 Wdds FAFmHAS F9 AraeId e ¢ How do you manage
sports programme in your school.

e Or
GAEs TIRTE A H & Bl 7 WARs JRrevEl Aecdew raag Terd | What is sports training? List
the importance of sports training.
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3. qurEH! fqemergar fqendiars qeqesr faves Fa3 fa@red g, @ee™ | How do you teach shot
put skills to students in your school? Write down.
¥, TS Tad AdTd (aues & & g ¢ aar e | What are the basic skills of badminton?

Explain.

THE T : TAH TYIEEH ATH IR AGaId : RXE=91%)

Group C: Write long answers to the following questions. (2x8=16)

. GAERIHT ST ATTAHR TN FFA T Alhes, ? GARIH AT begells  TART Tl BRI [adgid |
How do we use biomechanics in sports? Give reasons for using the center.of gravity
in sports.

et Or
YARIH AIAHATE AT THAT T AT HaAT HA0 [qebrd T afbes, o= Terd. | How can national
unity and brotherhood be developed through sports? Explain.
9%, wiferare gfaaiiTarT Teanil 4 THEH THaATse Junarane arefae 9ar T4er | Prepare a tie-sit from
knockout system of 11 teams in the volleyball competition.

o
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